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Analogy means 'similanity. The gues-
tions related to analogy test consider the rela-
tion of ebjects, words, numbers, events and ac-
tions. The analogy test evaluates the reasoning
and correct concepts ol the students. In the
analogy teat, two items, words or digits swhich
are related in some way, are given, in addifion
to this any ather third ohject . word or number
are given and four or five alternative answers
are given. Candidates have to choose an an-
awer from those alternative arawers which is
related to the third or fourth object / word
number, in the same way aa the first abjest Is
related to the sscondd object,

To aolve the quedtions of analogy, 11 1 very
important to have knowledge of the items nsod
in daily e and the work area related 1o them.

twprem ot B wegrem s @ s
v ® wogss, yed, W, W ww farmed W el W
foepr Far e ) mpwm e welt w1 it s o
e 1 Fredo wrw b wpre vt & 2 wepd, e W
wW W sm = Tt gem wetee o £, fon e £ o
sty Wt s A eI st fow e e ow
ot frefsaw s fon it 8 ofvefiid o o wfeos oaif &
ww W T gEe o b faee wsea wen ow o
TR TR AW W W TV W, W e ey e e
an

sopran e # vl ® e wrt o o Hew e §

W A el avged e e asiean el dta W e

T w1

Directions (Q. 1-50): n the [wilowing questions,

select the related waord from the given aiternatlves;

Al (% 1-50) 1 Preafirbrn vl & fro nr fveedt %o

wyfim w1 i
1. BEH:KNQ:FIL:?
{a} ONM ®) NLJ
(c) ORU i) OMK
2 50.65:122:7
&) 157 B 145
(e 147 ) 155
3. CAE:XZV ::JHL: 7
R) QS0 b 16K
(c] PRU )y GEI
4 JPC:OMZ o PUV P
la) MRS by MSR
lc) MOR )y RMS
5. EHJ:KNP:SVX:?
o) X2z b)) YBD
{cl BDF iy ZBD

6. Cottent ; While ! Coal ;2
R TR P
s} Fire/#W (o} Mine/SA
(of Wood/™e® () Black/wew
7.  Alive: Dead 1 Question 1?9
W AW 2
(a) Options;Fw=
bl Answer /7
e Right/ s
il Ask/Te
& CAFD:IGLS . OMRP.?
{a) Z¥YXW (ty LSXV
{¢] UTSR ' ,[d’ PONM
9. GHJM:QRTW ! CDFI:?
fa) NOPFR (b} MNPS
o) XYZQ ) GHU
10, 4:200:6:7
la) 36 by 12
e} 8 (dy 42

Acciogy Test | WEPIm WOws
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I, 8:64:27:7
) 64 ® 81
(e 212 (@) 125
12, Pesticide : Crop = Antiseptic = 7
whroyne ; wawm e P P
(a) Wound/5= ) Clothing/%v
{¢i Bandage/%e% () Bleeding/Twssm
13, Y422

(u) 9 ® 25
| 49 d) 16
14. JaF ¢ 13;::45'0_;?
) 12 W 22
o 21 (dy 24
15, B:16:D:?
{a) 256 iB) &
(e} 120 ) 128
16, AR " M: DD Lo adh =7
1 ® N
e @ d) X
17, DxH:4xBaM=2Q:?
8 14x18 ) 12x17
o) 2= 16 i)y 1317

15, Eyve: Ophthatmologist = Musice < 7

(&) Player e
{h) Conductor/wEmw
o) Pianist/frafe
i) Composes |/ siimee
19, CAT; 3120 :: MAT - ?
(ay 1312 M) 10120
fe} Jammuand Kashmir / 5 sbt wwdn
(@l Rajasthan / 73895
30, Whale : Mammal :: Turtle: ?
W T W 2
(4) Ansphibian | Toge
(bl Reptile / ™= wE=n
{o) Fish / W
) Molluse /s
21, Cataract: Eve:: Pneumonia : ?
wifenfo - ot o Sfm ;2
{n) Brain [ fosm
(by- Ear /%
{cl Lungs [ v
) Nerves and limbs / 35 @ o

Anciogy Tedt | WgTIE vhuw
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International Literacy Day © Seprember 8
= Internetional Women's Day - 7

sl w8 fena st s
fomer - 2

ia) March &
{cl Apsil 22

b June 26
|}y Novemhber 4

- Heart : Cardiologist :: Kidney : ?

sttt - g 2

{a) Endeerinologist [ wgifw=rfam=
{b) Orthodantist / st
{e] Nephrologist / FwT=Tee
i) Neurologist | ==
Germany: Mark = Moroces : 2
A L TR W 2

(/) Daollar / w7

b Fira [/

fel Dirham / fom

fdl Take / TWT

Play + Actar  Concert + 9

C TR TR T P

(&) Percussion /e
{b] Symphony [ SRR
6] Musician / SR
) Pano / R

“Sheap | Muttan: Deer: ?

oE - wew s fem 2

() Niegal )WY

{b) Flesh / wn

{c] Venisan / fere =0 oim
K6l Veal / ¥8¢ w1 =@
Chisel : Seulpior = Hamrow: 2
E R oo BRI o
(&) Gardener /T

b Mason /Sl

fc] Blacksmith /=T

i) Farmer /'

Moon - Sstellite & Earthe 2
TS ;TR e

{a) Sun / g8

fb] Planet / W

{0l Solar system [ W Wi
il Round / Wt



al.

42,

43,

45

BDAC ; FHEG :: NPFMQ : 7

la) RTQS ) TRGS
el ROTS (dy QTRS
AZBZ: CYDY ) EXFX . ?

{a} FWFV b) GWHW
(L LT dy HWIW
SHOE : NCJZ :; REWA :?

18) MZRV B CAAR
(ol WJRF dy CITY
CHAIR - RIAHC :; TABLE : ?
(3} UBCMEF ) ELTAB
(o] ELBAT W) SJIBIR
XXIV 48 o Xiv:?

(@) 28 ) 24

{c) 14 iy 30
49343 64, 7

{2y 6512 ® 412
lcl 416 ) 30
6:29::24:7

(&) 10@ & 129
{c] 119 iy 9%

Teacher ; Student i Pontiflf -~ 2
ot ; fowdl - ywives - 7

(8} Disciple / frsy

{b) Follower / srywd

(e Priest / Y99

i Diety / tvn

| = SAFALTA CLASS
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47, Tnangie : Hexagon: 7

49,

foqu; wegn - 2
{a) Cone: Sphere
i - e

(b Rectangle: Getagon

A A

el Pimmgon * Heptagon

THAGH  HFAYF

M Angde | Quadrilateral

i ; g

TEKCAR | RACKET : TCEJBO : 7

{a) TCEOBJ
b ORIECT
{c) CEJBQT
il RESECT

BIMY  CKPR - CURD 7

{a) DWUH
b WUNC

ol UHDW

& HUVN

NUMERAL : UEALRMN 1: ALGEBRA : ?

{8} LRBAGEA
(b BARIAGE
{ol LERAGBA
i) LERABGA

JIHIT IR0

Acclogy Test | WgPm WOws
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Under 'Classification’, words / letters or
abjects are separoted by sorting the words or ob.
feets in & group category, class or classea hased
on cosnmon properties . The guestions asked in
the clasaification ore generally based on the
English alphabets, the properties of objects and
numberes with elmilar properties, In this type of
examination, four words are given in such a way
that three of them are similar in some way or
have eame relation among them, whercas only
one word /[ letter is different, The candidate has
to find that different word [/ letier. To solve
classification questinns, the candidate should
haye a good understuanding of ehjecis, colors, fruils,
efc. used In daily life. ‘Classification’ &= an inte-
gral part of the reasoning of modern competitive
examinations. '

‘witern' & w=rin fasd vy W, v w ot & R
T8 Rl W IWE W WEES TR % W W w NS W
£0 T I sl WS 9 s e W
¥ wiwm £ g8 w3 W W W ST sy,
WAl % T A P U Seah W AT g
™ T ¥ v A wn ne W v vt A £ i v
[ #y v fest ywn @ o s @ B ow ol sy 4
e goeg @ ¥, T P ow vesaw e dm
it w1 S AT W T e b e
* arE W g W ¥ o e W s W | e
ot g, ol woll e W wt sk weE AR
e Cwlwn' ayfew ubvieh ofasll 5% asvier

(Reusoning) % 5= 5m 1

Directions {Q. 1-50): [n the following questions,
three of the following foxir are alike ina certain
way end o form a group, Which s thoope that
does not belong to that group?
frdn (v 1-30): Frofefan wee oy o ¥ W oA
et ot wwr o e £ e on s 8 o g W
fruiy wrh #1 Wt 0 gy § whoe 9@ g )
L (a) Apple /W ) Mange / W

(¢} Orange / ¥Wy0  (d) Almond / W
2. (a8 Book / 7%

by Tyre [ T8

el Bangle / w0

{dl Compact disk / *¥w fras
3. {(a) Mansion /] ¥9 (&) Lodge / &%

fcl Tent / * ) Inn / s
4. (a) Sphere ] "EN (b)) Circle / §9

(| Square / %t  {d) Triangle / Ty
5 (&) MOUTH ) ff (o) NOSE /9%

(e} HAND /W9 @) EYES /309

Classticaton | wilwiy

6 (o) PORTRAIT | 3 by DRAW / e

(el PAINT ;T2 id) SKETCH / =3

7. (u) SWING / 5" [} SWEATER /

UMu ui,\/m fd} GLOVES } Tt

"f‘l

&, M Pcn

ibi Brush - Palnr/wl T
{cl Crayen — Chart / Thym - =2
) Pencil —Lend | Tiwd - A7

9. |a) Sparrow / Bm

bl Kingfisher / S5l THE2 W& 9&0)

{cI Crane / W%

idl Humming bird / *fsm a5
10. {a) Hill Myna / fim foy

(b House Sparraw [/ Wm

(c] Emerald Dove / 5=t IR0

i) Tmperial Engle / Y10 Wz
11, (a) Appreciate / TFEA

b Admonish / foweren

(el Applaud / W

] Admire / T



12

|

13

1,
17

18,

28,

27,

(8}
]
|
(d)

Thick / ==&
Fathom / Wi ==
Plump / wg
Solid [ W

Find the odd one out.
o g wf

@)
(bl
(e
i
fa)
{b)
(el
i
(@)

1By
fc)
el

ta)
o
{a)
fel
(i)
]
(a)
o)
(a)
{ci

o fa) -

lel
{a)
{ci
{a)
(c)
|a
tel
(&)
)

{el
ia)
icl

January, May | #9%8 o§
Aptil, June / wim o
July, August / 708, s

January, December / w1l Swew

Varanas| /
Agra / s
Haridwar / %720
Allahabad / Teevme
Psychology : Algue
Hwe T . P
Ornithology : Birds
ol vl
Myeolagy : Fungi
Fuaw faae w5
Rinlogy : Botony
@ A e fean

56 by 25

36 @ 33
222 ¥ 10

(& (d.’ -125.
101 W 212
326 dy 111

16 ) 30
41,4 ™ 83,6
74, 7 dy 97,9
24 ) 28

42 ) 56

63 ) 69

65 @ 66
104 ®) <1

144 ) 225
1-% B 4-20
5«65 K 7-3s
46 - 10 b} #2-32
20 - 38 ) o1 - 12
12, 8) idy (4, 27)
196, 24) ) {39, ]8]
(81, 54) () (22, 64)

=

A

32

&

as.

a7,

g

Al

4%,

43,

95.

16,

18,

9.

. n)

4 SAFALTA.COM

A rrenes b MW TN

| = SAFALTA CLASS

(=) 543,453 b} 243, 432
fci 234,342 [d) 354, 542
{a) 74,7 b 79,9
o) 41,4 () 63,6
{n) 248 - 231 ) 347 - 563
&) 71-55 jdp 317 -523
A (25, 49) b (121, 169)
{e (71-855) id) |9, 23]
{a) (40, 70) i (27, 10)
el (16, 13) K (32, 33)
@ (17,71 ) {23, 32)
fcl (19, 20) (@ (46, 64)
fa) 14-133 b 18-171
o 22-211 (d 34 -323
) POSU by BCON
it} ABDP {d} MNPR
(=) PRSU b) SUWY
e} HJALN ) CEGl
&) CAFD h TSWV
(o) FGla [y OMRP
ia) DHLE ) TXBF
el JINRY |y YBEH
fa) HQ b AU
) €n Wy kB
el TSVU (d) ZABY
{a) ACH M GiH
fe] MON (d) PR
{2) A b O
o) [ @ N
L =1 B N
m"g‘ a2
{8) D M E
{c) F [y G
{a) ZKXJ by CMAL
el TGRF [y FRTK
(a8} ABJRM Iy QRTUZ
(€] IXYOQ () WFGOP
{a) RNMP t JFEH
¢l RPOQ {d) HDCF

EPH b 7O
el HSK {d} KWO
{a) BDGK B PRUY
e] FGJIK i) Kagr
) EGKQ hy CEIO
ol LNOW () PRVE
{a} EDHO b LEON
(€] UVWX )y Qrrs

Clotetcation | wies
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At present, as per the changing pattern of com -
petitive examinations, Number Series Test' iz o
fundamental part of these examinations. In these
type of examinations, & series of numbers is given,
whoee numbers are changed in a particular or-
der, One of More terms are missing in the cat-

i | gt TS ¥ W O el ® e,
‘R e Wi whared s rw St wr ¥ e
wien o) and] 8 ol ol o Aol o) mit dl & Pk sl
s frmsndem t add s wos 2 s m aw
v # ot ) I S W W e wTE S W e

egory. The examinee has to study that particular
order and ll the missing place in the category R et s e in
with the given options. wem wfws % ywn
Types of Number Serine (i) arvm v epe
(i} Prime Number Scries T s
4} Multiplication Serses i
3 2 - {iil) @ oo
(i) Addition Series (i) o
fiv) Division Seres 220
v} Subtraction Seriex ¥ > ;
fvil n? Series 1v4) e ..’“I
(viil) (A2 - 1) Series 1o} b - | 55 )
fix| n! Seres L0s) (! rgem )
(x1 {r® = 1} Series ix) o+ | W)
(xi) {*~ t} Series (3 ' = 1o
AR AR
Directions (Q. 1 - §0): Find the missing number 3. 4,8 12.24,36,?
from the.given responses. 8y 12 b} as
it (9 1-50): Fra m und o sy sfem om W €] 60 () 144
1. 2,59, 19,372 6 2,7 27,107,?
(a) 73 ) 75 {a) 327 by 427
) 76 )y 78 fc) 227 dy 127
2. 12,21,33,32,34,? 7. 255, 366, ATY, b4, P
lg) 43 ) 41 sy 849l L 125
{e] 2% iy 35 fc)] 216 () 243
3 3,10,101,72 & 0,4, 1R, 48,2 180
{ar 1CG10) ) 1102 {a) 58 b 65
{c] 10202 iy 1201 fc] B84 I} LoD
4. 110, 132, 156, ?, 210 @ 0,4, 8, 24,64, 176, 2
la) 162 & 172 &) 180 by 480
o) 82 ) 192 {c) 280 fd} 300

Sofies Tosd | st wiwe



10, 57,2, 105, 129, 15,3, 17.7

) 7 ) 9.3

e} 8.1 @ &9
Lho 1230, 6+3, 1343, 22+, 7

{a) 33+4 ®) 333

el 3443 id) 4342
12 1,9, 25 2 81

{a} 36 ity 49

el 6% () 28
13, 5,16, 51, 158, 7

(8) 1454 ) 1452

{c] 483 i) 481
14. 6,7, 15,46, 185, ?

() 926 & 1851

el 271 iy 230
15 1438, 1420, 1417, 1402, ?

() 137R ®) 1384

le) 1387 dy 1302
16, 17,43, 81, 131,2

la) 300 ) 193

{c} 375 d) 268
17, 14, 28, 20, 40, 32, 64, 7

ja) 52 ) 34

fc) 128 d) 45
18, 1,6, 15,2, 45, 66, 91

fa) 25 ) 26

el 27 id) 2%
19, 2,3.5,6,7.9,10, 11, 13, %

w12 ) 15

(el 14 d) 16
20, 7:’,—.5%.9%—. u‘-f-. 15%'.__

3 kS

W 357 ) 167

] %‘3 ity 15%
21. <7.5, 15, -36, 60, ?, 240

(m) 120 &) -240

) -120 id) 250
22 1,025, 1/27, 1/64, 2,1/216

(a) D.025 My 1/8

o] 1/128 ) 0.008

23.

31

36,

. 0
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-1, 0, 2,8, 15., 54
(a) 4 ty 2
fal 2 1
0.6, 24, 60,2, 210
) 117 by 119
{e) 120 d) 153

3 .9 _15

.5.'3.'5..?.'5'

6 1)

8 3 ™ 3
) & Iy %
-1,2,7, 7,23, 34,47
fa) 13 M 14
{e) 12 W 15
0.01, 0,04, 0,09, ?

la) 0.016 y 16
o) &ld [} 0106
6,28, 12,7, 18,8, 24,0
Au) T4 fty 18
el 16 iy 20
375,14, 11/5,7,19/5, 46
() 14/5 My 32
{el 16/5 ey 2
0.15, 0.3, 7, 1.2, 2.4

o) 0.6 by 09
(o] 0.06 @ 4.3
3,8, 18, 35, 7, 98

ey ST ) 71
fc} 41 ) 5t
39, 169, 299, ?

{s) 339 hy 420
e] 519 [y 609
2960, 3570, 4680, 7

la) BE4U by 5670
c) 5970 [y 5790
321,301, 2, 181,21

{a) 281 by 161
el 241 [d) 261
4,52 64 7, 88

&) 7 iy 8
e 7.6 iy 825
49,64, 2,100, 121

&) 74 by &0
c] 78 [y #1

Sofies Tod | Y Wiwe
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41,

a2,

a3,

121, 253, 374, 495, 2
lie) 565 )
e S116 Id)
2.8, 40, 7, 1680, 13440
{3 8O )
{e) 160 iy
1.5,9/4,3,7,4.5,21/4
&) 15/4 )
vl 8 fcty
21, 26, 33,42,53. 7

la) 56 (]
e 66 o
6, 7,15,27, 51,99

(w 10 %)
(@ 11 fd)
5, 13,29, 61, 125, 7

&) 253 )
o) 245 id)
243, 393, 4164, 7

(a) 5525 (b)
le] 5235 i)

523
S102

7)2

¢

35,

46,

47

4,

5.

W

4 SAFALTA.COM
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3,5,8; 13; 21, 34, 85, 2,
in)y 34 by 55
¢ 31 d 89
313, 623, 935, 1243, ?
fay 1863 y 2173
fc) 1553 [} 2483
1,2,4,3.9,8,16,5.2,2
{a) 6,22 4 21,9
el 25,6 (@ 20,8
1357, 3085, 5282, 8026, ?
{8} 9961 y 10441
fel 11321 [y 11401
6, 18, 53,7, 486, 14958
{a) 164 by 160
{e] 168 [y 162
4,7, 14,24, 41,2
{=y. 71 iy &8
£ 72 (d 51
4,3,2.5, 225, 7
{a) 1 By 1.125
) 2 {d) 2.125

IR IR0

Sofies Tod | Y Wiwe
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Code or sign language i3 o Tanguage through
which we communicate cur thoughts to s

particular person by presenting pur words in
another word or meaning, In other words, we
can say that under ‘dgign language’, a mathad le
used hy which two people interact in a code
Janguage. This sign language s made according
to certnin rulea. In these types of questions,
some words [/ letters / marks are given which
display fictitious values Instead of their actusl
value. Examiners have to atudy its rules and
convert the sign language [nte Lhe correct
Innguage and the correct Iangnage into sian
language,

In all competitive examinations, questions re
Jated to sign language are asked, These quess
tions are asked in different woys in competitive
exams,

In order 10 solve queations related 1o gign lan
guage, the candidate should bave kmawledge af
the place of each letter of the Enplish nlphaber
The mumber of letters in the English alphabet
is 26- If we count the Jetters {rom the lefl-side,
then we should start with A and (f the letters
are counted from the nght sude, we stact with %,

Types of Coding-Decoding

Type-1 : Common Code

Type-Z? : Code based on numeric pasition in
wlphabet

Type-3 : Total Sum Based Letter Cade

Type-4 | Subtraction or differential based
character code

Type-5 | Swn and inter-based character code

Type-6 | Logo or symbol based code

Type-7 ¢ Code based on comparison of letters

Type-8 ! Code based on reverse order

Type-@ : Code based on serinl transfer

Type- 10 : Ficutious langusge based on
sentences

Type-11 : Code based on Imaginative language

Type-12 ¢ Code basd on bet

Type-13 ¢ Code based on matrix

W7 W W W T T oy &, few w8 o
TR W W IR W e G gy W e e e e
o e T ST R U S W U § e
ve'e aemmish e ymSnam e e on
Y T O WY W ey wrh § oy wrefey
W e fpiw T & sy v wm B g ven o sl 8
o e S e red Bl vt wedee s A it
w0 g et wred ) vaffie w0k § ) oS 9 e
FoTa] O T W TR R T S S S
T WA TR W W e e

TR U WO o R I S W S At

W TR E 7 W St g € fus. fe i

Sy wm

RPTw w2 vt st W e Wk o e vl
A ot eettaen S el R sy I a1ty s B
il wasen # aaf ¥ woan 26 %4 B ool o wefi ¥

it won ant 7t w1 AN 7w wi € A it s o

mv.w"m}x,t‘{?(.twmmh
Hifen-diwifen & yen

TR | W

w2 e w1 ataren & s feafn we amanfte w2

-3, W st secwz

-4, YT @ e wrafa s R

W5, i s s S w2

wER-G: e w viw sl w2

wRT-7; sl & e sl w2

TER -5 MTHA 5 W 0TE S 52

AW W TarArr o sty w2

TER-10; WRH W ST R

TR 11 FECTETE VN W SaE T

SRR 12 WA S a2

YRR~ 13; S WM W S e

Cocdng Oacading | Wl v
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If A =1, CAT = 24, then POLICE = 7

A= 1, CAT-24%. ™  POLICE =7
) S7 ) 6
{o1 62 id) 59

I B =2, MAT = 34, then JOGLEX = 2
TEE - 2, MAT = 39% 7 JOGLEX =

fa) 70 ) 71

{1 72 iy 73

If 'GIVE' is coded as 5137 and 'BAT' is coded
as 924, how Iy 'GATE coded 7

1f 'GIVE ¥ 529 5137 88 BAT &1 §2%w 924
£ ot GATE % 52 ww w &9

{a) 5427 ® 5724

e 5247 () 2547

Ifd = 10, JASMINE = 71, then ESTIMATE = 2
o = 10, JASMINE = 71,79 ESTIMATE = %
W 71 b) 42

c) 92 )y @1 p
If LOSE is coded as 1357 and GAIN s coded
as 2468, what do the figurce 24615 stand lor?
uft LOSE W1 WwZwmw 8 1357 AW GAIN ¥
2468t £, M 34615 F T 9T W wTem/
(a) NAILS (b) SNAIL

{c} LANES (d) SLAIN

If CAT i8 coded as 3120, what code numbc_tr
cin be given 1o NAVIN 2

iR CAT ¥ %zwm « 3120 fesa £, & ey
NAVIN W7 wEn w9 7

(a) 14122914

(b 49274653

lo] 73957614

il None of these /| ¥ & 578 =

If DANGER is coded as 11-8-21-14-12-25,
then how will be voded the word MACHINE 2
M DANGER 91 11-8-21-14-12-25 gt £ 0
¥ MACHINE w1 &9 femn?

{a) 20-10-8-12-15-16-7

i) 20-8-10-15-16-21-12

e 10-21-15-14-2-17-18

Wl 20-8-10-16-17-22-13

Codng-Docodng | Wien Wi
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12.

I o certain code language, "BAD® 18 wiitten
as "7 andd “SAF s written as "9" How is "BAN'
written (n the code languuwge?
wie fer fafrwn w= ww & 'BaD" w7 W
"SAP* %1 9" fiyep o #1 @ TR wrw A CBANT W
fos yew fenm W)
(a8 (b) 3
fc] 4 di &
in u certain code language, "PEN - TAN' is
writien us 07, How is 'DEN - COB" written
in that cods language?
ot fedt Bfow w2 W o, CPEN -TAN" %1 0"
fisen o &) w v w2 ww € CDEN - COB® W
fwu wwm fep wigm?
{m) B by 3
el 9 o 7
In a certain code janguage, 'MASTER is
Cwritten as ‘GA2 143" and "STAMP' is written
as 2169, Howis "PASTE" written in that
code langange?
o bl v w2 wmm 4 "MASTER' #'682145*
ma CSTAMP 121860 fm W &) o ael
wre € "PASTE  S&w ywm fyon smem)
fa) 845 by 28219
‘C%I%ﬁ}?li'!i [} 95184
In a certain code "MOUSE" 1§ written as
“PRUQC". How is "SHIFT written in that code?
o ffr=m s2wm 8 MOUSE" ¥ “PRUQC!
fmA £, ¥ "SHIFT ¥ 1% #0 o)
{s) VKIDR b VJIIDR
{c] VIKRD [y RKIVD
If in a code language RUSTUM iz written in
INWANZ and RASTOGE is written is INWVLIK,
how would RUSEIA be written in that code 2
uft oy owram F RUSTUM W INWANZ w1
RASTOGI ¥1  IXWVJRwt # @ RUSSH

w4 e 7 60 e 2
fa) INNWKJ (b} INNWKT
{e] INWWEX () INNWNX
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15,

16,

17,

18,

149,

If SPARK i& coded as TOBSL, what will be
the code for FLAME 2

uft SPARK ¥ wosom TOBSL £, w1 FLAME ¥
2N W T
{a) GMBNF
{e| GMCND

(&) GNBNF
) GMBMF

- If HONESTY is written ns ABCXZDQ, how con

TONY be written In that code ?

it HONESTY %1 woaw # ABCXZDQ fm A
TONY #9 fersin?

() DBCQ ) QDCX

(el CBXZ ) ©CQDHC

If in'& certain code HYDROGEN s writen as
JCJZYSSD, then how can ANTIMONY be
written in that code 7

e W@ ww 4 HYDROGEN W
JCJIZYSSD Fimn £ 57 ANTIMONY w1 % oo
i wm e

{a)} CPVEOQPA ®B) CRIGWABRD

lo] ERXMQSRC () GTZOBUTE

U MERCURY' is written as FGIECAB Ina
code, how can 'CURE' be written in that code?
W MERCURY %1 w2wm & FGIECAR foat £,
" CCURE' %) we P

@) GCFI (b)  BCAB
6] ECAG {d) FAGE

If KEDGY is coded as EKOVG then how will
LIGHT be coded ?

7T KEDOY %1 EKDYG i & # LIGHT &)
=y femie?

() ILHTG B ILGHT

fc) ILGTH i) THGIL

If MADRAS |3 written as DAMSAR, how can
MUMBAI be written in that code ?

T MADRAS %1 DAMSAR e # & MUMBAI
w Tt ywn &ty )

) [ABMUM () MBIAUM

(el BARIMM d) MUMIAB

I DEAN is written as NOKX, how NEED be
written m that vode 7

aft DEAN %1 NOKX fvmt £ 9 NEED %1 w5t
wovm o ¥8 et

n

21,
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{m) NOOX b NONO
{c) ONQX i) XOON

If BLUE is written as EUBL, then BULR is
writien as

nfz BLUE & BURL &=t # ox GULR % 50 B
{a) BL_UB by BRUL

{e) BBLU _ )y BLBU

If SMART 15 coded as UKCPY, then WONDER
in coded as

uft SMART ®1 UKCPV s € 38 WONDER W1
w0 Prg et ¥

{a) YMPPRT B} YMPBGP

{c)] YMPBFP d) YMBPPG

If in & certain code PSYCHOLOGY s written
as BMENQDJDFK, then how can
GEOGRAPHY be written i that code ?

W T S wmww 3, PSYCHOLOGY 1
BMENQDIDFK frgt # 9% GEOGRAPHY %1 90
e

(8) QKFXZTQET M FDXZTQBKF

(¢ FXOFZIBOK  (d) FOXZTBOKL

I MOBILE s written os ZAMSUM, how
TUMOR can be written in that code ?

T MOBILE 1 2ZAMSUM frt #, 31 TUMOR
a1-a5 vy

{n) HGYAD B GGRYA

L AQUEE (d) BRAIN

In a certain code language “NIGHT' Ia
written us 'ODDGM" and "DARK” ts wrilten
as ‘GOVC'. How is "GREEN" written in that
code langange?

faelt fifras 52 Sw ANIGHT" %1 "ODDGIM
"DARK"® %1 "GOVC' from wré, o ot wmp &

"GREEN" 1 fwy wwon fovn wwam )
{s) IABPF by MCBNB
fe] OGHVL [d} FPBAI

If HEROISM 15 coded as SVILRHN, then how
will ALP be coded as?

nfe HEROISM %1 WS SVILRHNE @ AEpw:

= wi?
{m) LTV by Zsx
{c] 56D [} ZoK

Cocdng Oacading | Wl v
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(B)

In & certamn code language Sue Re Nik means
She is brave, Pi Sor Re Nik means She is adways
smifing ur Ser Re Zhi means Is always cheerful.
What is the code used for the word ‘nmiling ?
v = §209mM ¥ Sur Re Nik ®1 #13 She is
brave, Pi Sor Re Nik #1 9M She s always
smiling #7  Sor Re ZWF s
*. @ T amiling ® 0 fEn w2 W owm w00
{a) Nik &) Re

(c] Pi (1) Sor

In a certain code, ‘253 means books are ofd';
346' means ‘oun i old and '378 means buy
geod buoks.” What stands for “ure” in that code?
oW TR W 9 H 253 % 3¢ hooks are old';
546 %1 99 san is old T 378 9 huy good
books' B, ¥ "are’ w1 Wi wm §

=y 6 m) 2

el 4 )y =

In a certain code lnngung: 481 meaens
sxy is blue', '29& meanz 'sea (& deep’ and
694" meann ‘sea looks blue'. What number in
the code for biue

o Bl s WSS W gky i blue, 2487

w7 ool 'sen is desp W '6OE #l son lonks
bluc' &, | blue' = wE W 77

(ay 8 M) &

fcl 3 ) 4

If 'air in called ‘greea', ‘grenn 1y onlled "Hlae,
‘bDlue’ is called ‘sky', sky" = called ‘yvellow’,

yellow (& called ‘water’ and ‘water is called
‘pink’ then what is the colodr of clear sky’ ?

w e e e W e = e,
Ctmmr o i wt wl o R e
wo% ¥ WY SRS W T s0 om?
{a) Sky/arasm ) Water/8
(c) Hiue /o ) Yellaw,/ ¥
If Blue means Pink, Pink means Green, Green

means Yellow, Yellow means Red and Red means
White, then what b5 the colour of turmeric?

it ‘s W s e, e W sl v, e
1 i i e e e et e
‘et # o el o A S v
(a) Red /709 ) fireen/TN
{cl  Pink/yem {d) Yellow, M=

in u certain code language "who are you" is
written as 4327 and “they ts you' is written

Coding-Uocodng | liien W

15 always cheerful

as ‘445", and “they are dangerous’ is written
as '295" How Is "dangerous” written in that
cnde Ianyuuge?

vy fonlt Pty g e o Cwho are you' W U432
Whr “they iv you! w1 G385 9 Cthey are
dangerous” %1 “205° frep W, W e e W
“dangeroua® W few st Sy oA

(o) 2 i 4

el 5 [ 9

In & certain code lee ra de means what was i,
ma il IeANs Yo goy il oM ¥a means you like
itand tok lee to menns she was sick. How will
vou wiite what you like i that code?

o5 e %2 9 Jee va de” %1 3 ® fwhar was
it mo mil" 51 W ¥ ‘You go', nil pom ' ad
¥ ou like it ok foe to’ W1 908 § She was
alek ' T w2 W 8 ‘whar you liko' ¥ 8 et
e

{8) pom oil ra

{b] pom Ta les

(el Datainadequate / T 09eE

ki Nome of these [ o8 ¥ sl oft

in a certmin cade "m'kma‘dn' means “he has
cowme®, "de Ht pa means “come here fast”,

and “ma la 50" meana *she has gane™. What ia
the cude for “he*?

we ewonrt ¥ “nik ma de® %t ad § “be has
come ‘el il pa® w i b “come here fast”
™ “ma la se” % o # “she has gone”! *he”
w1 wT e B2

{a) mife

(b) ma

c) e

il None of these / v o o =it

In a certain code, ‘pick and choose' Is written as
ko ha pa’ and mkupanduwnc'wwrmenub
no ko po. How s ‘pick’ written in that code?

T% WE W A pick and choose” 91 Ao ho po’
ma ‘pick up and come’ ¥ 20 no ke po’ T
wn &1 55wtz v € ‘pick’ ¥ feen oom #2
(s) ko

bl po

{c] Either koarpa /W M ka W po

id) Nane of these /) ¥ @ 51 90



10 In a certamn code language ‘nik ka pa' means
Wiho are you’; 'Ka na & da’ means ‘you may
come here' and 'ho ta s8” means ‘come and go';
what docs ‘nik’ mesn in that code language?
o wn i # ik ka pa' 98§ who are you';
%a ik ta da’ % wd £ you may come here!
" ho ta sa’ W @ § ‘come and gol e WS
we # ik’ W e oand 87
{a8) who
(bj are
el wheor are / who are
&l Noneof these | P & Wi 3

Directions {Q. 11-15): Study the following

information carelully and answer the questions

given below. The digite from O to @ are coded as
shown below with the exceptions that follow:

fadm (9. 1115 ) Seedefion gas w0 srepie s Wt
e i fon e gl T R 00 ¢ e it W )
P o & oo fix g o et ot o o e PR
m b

Digityw&] 3 | <o |7 ) s)e)ol2]s]!
aﬁﬁ Iu strlalmls] o ]e]as.
Exception-1/ 3¥r.1

If a number begins and ends with & non-xern odd
digit, the ficst and lugt digits are to be coded aq'Y
and # respeetively.
o s ow fee (v ) e e e
B vb vt v siem st o o Y et 2wl ey O wIva
fom b
Exception-II J sreas.11
I & number beging and ends with an even digit
{inctuding zore), the firat and laat digits are to be
coded as |} end X respectively.
o T WO OF T A% (7 W e e g o
e ey ot R o ween o st sfe W s X R
wug fww am b
11, What does RELAKD' represent?
RULAKS' w0 woim &2
{a) 069751 ®) 064721
(el 647210 id) 069721
12, Which of the following numbers. can
represent the code 'YHSMEY?
fiafifin o % Wi e mE YHSMER %) 9t
vt weft B2
(1) 138450

(2) 338457 (3) 533459

4 SAFALTA.COM

A rrenes b MW TN

| = SAFALTA CLASS

e b WL

{a) Oaly (3 by Only (1) and (3)

fel Only (2} and {3) (di Only [3)
13, Whar will be the code for “173548%

173548 =1 w2 = g

la) AAHEM$ by SAIIMES

el SBAREMS 1) GAHEKS
14, What will be the code for 2781307

278140 W) Wz wn ww)

(a) BASSMR b} PASOMX

c] KASSMR [dy Yassmax
15, What will be the cade for 3891672

ARG 6T W WT e e

(w) HSL&%A b #SLE%A

(v] YHESMA [} Y3L&%#
Directions (Q.16:20): In cach of the questinns
below, u group of letters followed by four
combinations of digt and spmbols numbered (a), (b],
{et and (d) awee given, You have o find out which of the
combinations cartectly represents the group of
fetters based on the digat/ svmbol code of each lettar
given below and the conditions thar follow and mark

‘the nwnber of that combination as your answer, If

nene of these combinations correctly represents the
group ol letters, give (¢), i None of these, as the
ANAWeEr.

el (9. 16 20) : 0 vRw W S Ser w o e of
TR W A TR R W WA (a), (b)), (¢) ™ {d)
S o B et oot & o ey i feu e o
e ¥ v rEw v mg e we G ot oo woseed W
i w0 S e wem # abr ve st W i
1 e T Sl o)l wiE ot wares e F Ty
w1 fawm =) wom & ot T (e) Frm oy v
i et

Lotter®Wt:P KARET I MNUJFV
Code/®ig:6 | © $ B 0O J s &7 509

Conditions /ol ;

(1) [f both the first and the last letters in the
group are vowels both are 10 be coded as 2"
it wpe A qew shv st OFf e ok m oo W
2% ¥ d wrw) femown b

(31) I the first letter isa vowel and the Jost leties
15 8 consonant, the codes for these two letters
sre 1 be reversed.
it qeee styr v € s s s s & % v o
el = w3 W e fomowes )

Codng Oacoding | Wl v
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16. TMAPKI

o) 328610 B C2%613

(6 32613 fd) Cac613
|7, IJFRVE

fa) 375498 b) 875493

o) PTH5498° i) 775199
18, UATEMK

ta) 1WCR@H ) WL

(c) PRCHRA? i) s:8C@l
19 MUEVTR

(a) MEsuLs ) $¥BICGE
o) @e89ed (d) w@a8aE0
20, VNTRK!

(a) 49813 &) 340519

6} 956813 (d) 94c$13
21 A word is represented by only one set of mam-

bers & given in any one of the alternatives.

The sets of pumber given in the alternatives

are represented by two classes of alphabets as
shawn in the given two matrices, The ool

winns and rows of Matebel doe sumber fem

0 to 4 nnd that of Matrix {1 nre numbered from
5109, Alolter from these matrices, K <an be
represented by 01, 34 etg,, and 'P can be rep:
resented by 65, 99, et Similarly. you have 1o
wentify the sel for the word "BLAND”

TR W SR TR TO5R-NEE O e e T e e

v o @ fe o = fow o & sl o s o ey

oy w0 ¥ 9 o gu e e § ww s agows
@ syl o ) e 1 ¥ w0 & fR O uer oF 4

dn s W 5% 9l b SE 4 T At

w1 WS TR T A 9 N A wee g e W

wvm

suero o By oy | 4 o e el e o0 cvbe

wem b am K %101, 34 w9 g0 wofe W o §

Wt 65 9 09 wift g wite W www & gl

W VR BLAND' W1 f¥% oW Tvrm )

Matrix-1/ sepe-1 Matrix-11/ s - 11
B LIENEIEIL S EIED
BIAIR[BIT FBHAdE R
NENEEN I IEIEEIE
Z|LIC[KIB[A AEEEIEE
ZCIB[LIN® BREEREE
RN EE BISIN|D|0]| P

fa) 10, 14, 00, 68, 79
{bl 31,41.33,96, 56
(] 44, 20, 42, 88, 50
i@ 23, 32, 24, 35, 66

Codng-Uocodng | liien W
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A word is reprexented by anly one set of
numbers s given in any one of the
alternadives. The acta of numbers given In the
alternnlives are represented by twa classes of
alphabets as in two matrices given below, The
columns and rows of Matrix | are numbered
from O to 4 and that of Matrix 11 are numberced
from 5 to 9. A lettar from 5 to' 9 A letter from
these matrices can be represented first by e
row and next by its column, €.2. "7 can be
represented by 32, 44 etc.; and 'U can bhe
represented by 76, 85 ete. Identify the set for
the word PALE

o e B U e agn @n ot e k84 fy
freed § A fesd ow £ fow aw ) g d femy
Wwu W RaR] % 0 W gn v o €, W o
foq e @ et 9 ) e | W sl e T
0B s e nF5H 9N v b33 w9
ou M W) wed seed Wi oy on e Hem oo
iw W == ke

SURTY & o AeE 1 R 4w w1 it pn ol
= v # w71 32, 44 wft g0 ol = e

C ke U oW 76 e S8 At o et wouwm #)

8 yaE e CPALE W fEn g qwin amy

Matrix-1/ we=s -1 Matrix-I1/ speqe - 11
ali1273 BEGOEHER
DIRIPISITIA T G
TN RIETS GlJILIELD)
SPS|TTA TIEJUIGIJIL
SIJICIEIOIG

& GIUIGTITCTE]

{e) 43,23, 55, 56
(bl 33,30, 67,75
(&) 11,32, 86, 68
Wl 20,04, 79, 87

oA word le represented by only ane set of

numbhers Rz given in any one of the
alternatives, The setz of aumbers given in the
alternatives are represented by two clagses of
aiphabats nn shown in the given twa matrices,
The columns and rows of Matrix-l are
snbered Lo O w4 aod tat of Mateix-IT ase
numbered fram 5 to 9. A letter from theae
matrics can be represented firse by sts row and
next by itz coluwmn, for example 'K' can be
represented by 20, 34 ete and Z' can be
yepreaented by 67, 83 ete. Similarly, you have
10 identily the set for the word "PURE".

W e S Ow sew-wRp oo i e &4 iy



24,

fow=x ® 7 f5w o= o fow e 1 Fewesl o fog
dunr s sl & el o) wede) e F RS T
o @ st o §) S 1 T s 9 S
DRA M WeE 1T 5T 9N &) @ W W
u Wyt w1 sed Taw s i we A s ey po
v m =

OO W B oWEE | 94 A% W Wit gu e W
qwn ¥ e KW 20, 34wt gu onie w wew
dn 'z W 67 st g8 @ T wrw W wem § o
¥WIT we PURE' %1 59 %W wniw )

Matrix-1/3P9F-1  Matrix-11/ 358 -11
o1 12[3T= aIn[775[%

olalkin|nlal [Flo|T[vIu[r

I[A[IIF|Eld] [BRIU[Z{Y[T

2IK[F[A[F[A] [TIVIY[XIQN

FlDjGIM|CIK] [SIYIR[XIZ[P

JlelLla|Jin] [SIN(U[YIU[O

{4) BY, 96, 86, 13

(b 34. 34, 36,79

] 41,44, 67, 95

i 01,10, 79, 57

A word |y represented by goly osue get of

numbers. as given in any one af the

alternatives: The sets of nuntbers given m the
alternatives are represented by 1wo classes of
alphabets a8 shown in tho gven twa matrces,

‘The columns and rows af Mutrixd are:

numbered from 0 to & and that of Mateix- 1§ mee
numbered fram S to Y, A letter from theas
matcices can e represenied first by 38 0w
and next by its column, for example ‘K’ can be
repeesented by 10, 31 ete and ‘M’ ean be
represented by 76, 8T ete. Simitarly, you have
o idontily the sof for the word ‘SCAM'.

% VT S aF Wy gm teiw a4 e
Py o 3 fesht o o fem om &) fewwsy of foy e
W WEE S % 0 Wi gn e om0 e
fou o & wrepl § §) s | ¥ e ol S W W
ORa b W W 58 00 o By gt |
W AW W A e e o R W e e gn
i @ we i

SUTTY % W e 1 W4 o W |t e T
wwEm b KW L0, 3105 o ol n e
£ s '\ W 7o s 86 st Tm e m W
TN VI VN 'SCAM’ W TWR SR I W

1s

25:
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Mateix-1/ W¥[T-1 Matrix-11/ @=E-11
iz 5[e[718]3
ME RIS S| T|RATIM
LK]|S|C{PIN 6lA[J]T|M|R
2PN B[ 1IN RIA[T
I|NR|SIC]F S[R[A[MIT]J
F|CIN|PIK|S aiM] TIJIR[A

{8) 00, 13,57, 76
Ml 11, 04, 86, 59
{c] 23, 22,99, 05
@ 32,40, 66, 68

& Word is represented by anly one set of
numbers as given in any one of the
alternaitves. The sets of numbers given in the
are represented by two clusees of alphnbets ods
in two mattioea gleen below, The columns and
rows of Matrix [ are numbered from O to 5 and
that of Matris [ are rumbered from 3 10 9, A
ietter from these matrices can be represented
first by iy o and next by its column, e.g. 7
can be repreganted by 33, 22, etc. and ‘N can
Be trpresented by 95, B8, ete, Similarly, you
lave 10 deatily the set for the given werd,
"DARU" '
T e R e wew - oo e v b 38
e & 0 e e o fem o By P 4 Teo, ooy
wy wuT § U ot gm vt §, 38 v 9 foom
W 18| o 1 W T A W W e 07 3§
b A L AS 90l by m ! A ue o
me st 9 F o Pen g e W
T E B SV 1 H 4 0% %) S o0 oyie
WM TN P W 34, 22 Wit gm mw W wew #
W ON W 90 s 48 i pu weiw W e it
YT Ve 'DAKU 3 e wwn snbw ande

Matrix-1/ 5P E-1 Matrix-TLf S -11
BUBEED 516]718]10]
OlA|FIKIP|U G TIN|O]X
TIF[R[AIU[P, BIX|S{T|PIN
ZPUFKQ 7N5§ND

K[P]UTA[F a?nx_rg__l_
AU[A[PIF[K [O[TIN|DIX]S

{a) 95,40, 04, 42
b 24, 95,2027
el 79,12, %43, 21
€ 57,13,23, 21

Coding-Oncading | Rl v
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A syatematic sequence of worda that conforms
fo the asccepted beliefls and rules of law and
principles is called logical order of words. These
words are based on reality and truth,

Under this, generally four / five / 2ix words
are given, which all are related m some way or
other, there g sume idenbfiestion smong them.
On the basis of these relations or identification,
the words given have to be arrang=d in a logical
arder,

You are advised to consider the mcreasing
order of the given words. If there 5 no such oplion
in any of the given optiona, conaider the
decreasing order in that case.

TG T U SONTSE FR H W0 WERRSE T i
o Sy va fpnd @ apes @ o) e Wy wiew wn weh
£ % vz b vd s e srudm e §)

TR srerdy s e e fen ow o § o
W a8 5. et wen 0wt we fow e
w4 v e v ¥ TN e W e W
ST Y TR TR TN WE WTWE N W Wi W o B

o n TRt FE R m s e e
o 1 | i hon v e € A el @ O T ow fvees
i &, Wn oty o e T faw w T )

Which of the four optiens given below repee-
sents the meaningfal order of the words given
below?

o v e fopwel 8 9 w9 T Fywees e fow e

w1 AE wR w0
g/ Milk 2. %9 ) Grass
3, W / Yoghurt 4. "9/ Oow
5. I/ Curd
1A) 3,5,2, 1,4 ) 41,5392
€} 2,4,1,5,3 ) 3,2,4,1.5

%.  Which of the four options given below repre-
sents the logical order of the words given
below?
femaimiam vedl w1 v s ww 9 fpome feet @ 01
v
1. WWTi) Apply 2. R/ Selection
3, Wit/ Exam 4. wmET ) Interview
5 Pt / Advertisement
(A) 1,2.3,5,4 B 51.3.4.2
{€) 531,42 ) 4,5°1,2 3

3. Which of the four options given below repre-
sents the iogical order of the wards given
bilow?
Freafafae v v e we TR o e E
-

Logicol Sogeence of Words | T Wi aife an

L =pwaw [ Hall vearly 2.=f=% ) Monthly
3. wits / Yearly 4. 5% ¢ Daily

5 Trtey | Weekly

4 4,5, 1,3,2 | 2 1,3,14.5

i) 5,4,2,2,1 ™ 3, 1,25 4
Whish of the four options given below repre-
sents the chiropological order of the words
given below?d

freaforfue yoll e 0 fey v Pl € R
- )

1. wwem & |/ Independence Day

2. wwes B [ Republic Day

3. iR FT (W) /Birthday of Gandhi ji
A, TR TEEEE (W) ) Birthday of Netaiji
iA) 1,2,3,4 my 4, 1,2, 3

(€] 4.2,1,3 D} 3;2.4, 1

Which of the four options given helow ropre-
aenta the dictionary arder of the words given
petow?

FrTefoes vied e st v ¥ wsae R #E R
el 2 R E.m )

51

1. Umbry 2, Umber

3, Umisnut 4. Umbrage
A) 4,2, 1,3 m 2,1.4,3
(€] 2,3, 1,4 my 1,2,3,1

18
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Which of the four options given below repre-
senty the mesningiul order of the words gives
below?
frn v W fywed 4 & w9 s I fm e
w1 Apiw wE R

TN/ Police 2. TV ) Punishment
3, WM / Crime 4, =i/ Judpe
5, i / Judgement
A 31.2,.4,.3,5 By 5,4,3.2, 1
{C) 3,1,4,5,2 D 3,1,2,4.5
Which of the four options given below repre-

simis the dictionary order of the words given
balow?

Pzt v wy sty rerwier o s s i fey

e & & i ?

1. Forge 2. Forget

3. Forgo 4. Forglve

5. Format

(A) 5,2,4,3,1 B 1.4,328
€] 3.%,5, 2.1 o 1, )4.3‘5

Which of the four options given below repre
senits the meaningful order of the words yiw-n
below?

fer vy ag T 8 3 e an fowy 400 Tow o vr)

At wuanint)

1. WA [/ Wrist 2. ¥®W / Anu
3, w9/ Shoulder 4. 7w / Finger
5. e/ Palm 6w/ Naily,

{A} 5,4.6,1,2,3 (B) 3,2:1,5 4.6

(C] 6.4,5,2,1,3 D) 225140
Which of the four options given below repre-
sents the dictionsry order of the words given
below?

favafefors wet w1 sroret TS T ® AT W T o

m e S A - m )

1. Agqueous 2. Aquarium
3. Aguiline 4. Agualic

A} 4,3.2,1 B 1,234
C] 2,4, 1,3 by 3,1, 4.2

Which of the four options given below repre.
sents the meaningful order of the words given
below?

fou v fewes & @ whm fewe 9 fog o ot
I A IR T R

1. = %/ Typing

2, Mz wrw / Priting

3, 3@ W/ To open

7

1L

13

14.

1. W/ Countey
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4. T s/ To aave

5. ¥R w [ Toclose

A) 3,4,1,2,5 M 3,54 2.1

i€ 3, 1,4,2,5 M) 3,2, 1,4, 5
Which of the four options given below repre-
sents the dictionary arder of the words given
Delow?

Ffmirs el w7 STA WA E S N TN 1

o freed Al

1. Fenestration 2. TFeather

1 Feed head 4, Feature

5. Feminine

{A) 4.2,3.1, 5 B 2.4.1,5, 3
€) 2,4,8,5,1 D} 4,2,3.6, 1

Which of the four options given below repre-
sents the meaningful order of the waords given
below?

fem nu Wttt & & wim-wm v Wi frg vy et
wrams wreren bl

2, Twm / District

C3 T Saie 4. WW | Village
5 =g/ Istand

A) 5,4.3,2,1 | 1,326 4
i€ 4,2,3,1,5 O 2, 1,3:5.4

Which of the four options given below repre-
sents the meanmgful ocder of the words given
below?

Frm e wrt fowedt 6 & ol fewon it oo e et
woarx soven t)

1. e ( Key 2. =zowmm / Door
. W/ Lack 4, w90 / Roum
3 ot [ Switch on

A) 1.8, 288 B 32,4, 6.1
IC) 5.4.3,1,2 D) 2,3,1,4,5

Which of the four options given below repre-

sents the meanmgful order of the words given
below?

fry e frwedt 4 & W fvwers g fem v el

w7 S W e &2
1. W/ Home 2. T [ Street
3. wW ! Room 4, v/ City
5. oW ) Districl
(A) 3,2, 1,45 le3 325
i€) 3,1,2;4, 8 ) 3,1,2,54

Loghcol Soqeence of Warck | e wi mfie wn
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15, Which of the four options given below repre-
zents the meaningful order of the words given
below?
forw v e e @ @ - fowes @9 o om et
b s ool

1. vt [ Woad
2. fvma f Book
3. W | Workshop
4. WI=d | Paper
5. WINW / Printing
(A) 1, 3.4, 5,2 m 251,34
(€] 3,1,4,5,2 (D) 4,23 L5
L. Which of the four options given helow repre-
sents the meaningful order of the words given
below?
Py to v Pl 8 8 - xyr vy W T o wredd
wOE FEamm b
1. %793 / Storm 2. W% / Ranfull
4 W/ Flead 4, WEE  Moenseon
5. WM/ Loss
A} 4,3, 1,2, 5 B 54,321
IC) 4,5,2,3,1 Dy 4, 1,2,3, 5
17, Whach of the four options given below repre-
sents the meaningful order of the words gived
below?
frw o ww fesest 8 9 W Ty 9% fow o v
W W R e B
1. %t/ Fomily 2. #8997 [ Commuinity
3 W) Member 4. 71 [ Area
3. W/ Country
(A} 3,1,4,2,5 M 31,245
ICj 3,1,2,5.4 D) 3,1,4,52
16 Which of the four options given below repre-
stnts the meaningful order of the words given
below?
fom v Pyl 2 w9 fewes W fom T v
- aw wn T R
1. 9/ Square 2. o f Line
3, % / Angle 4. faqw / Triangle
s, fwg / Point
(A} 1,3,4,5,2 (B 52.3.4,1
) 3,1,4,5,2 D) 4,2 3, 1.5
19. Which of the four uplions giver below represents

the meaningfud order of the words given below?
fon v P 1w e SR o et
w1 s wvdm k)

Logicol Sogeence of Words | ] Wi afWe an 18

21

22,

23
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1. ™0/ Stem 2, W%/ Roat
i w=/ hpil 4. W} Flower
5, W [ Branch  (6) 7 / Leaf
i) 2,156,493 (B) 4,5.6,1,3.2

{C) 1,2,4,3.5.6 D) 6,4.5,3,2,1
Which of the four options given below repre-
sents the meaningful order of the words given
below?

fry o wir fewet § f wom -3 fewes Y fog o e
W W Wh I &

1, foxfwdl / Windows 2. 97 / Walls

3. wwi/ Floor 4, 9 / Foundation
5. ¥/ Roof H. WHT / Room

A $,5.3,2,1,6 8 4 21,5306

€) 4.1,5,6,2,3 (D) 4,3,5,6,2,1
Which of the four optinns given below represents
the meaniogtol order of the words given below?
fog o wr fwest 6 A W e e fog o st
Wil we gyda )

1. ==/ Birth 2, ¥ / Death

A A [ Cremation 4. ™) Marriage
5. W [/ Education

A} 1.8, 4,5,2 & 4,53 1.2

i) 1,5, 4,28 D) 2,3, 4,61
Which of the four options given below
represents the meaningful order of the words
pven below?

o frwed 4 8w s T W few v el
R o 42

|, ST/ Sea
3. WM [ Cioud

3. W) Moosoon
{A) 3.2,1,5,9 M) 5,3,2,4,1

{€) 1,3,2,5,4 0 5,2 3,41

Which of the four options given below repre
sents the meantngfol ovder of the words given
below?

fan W frees | B W W frees 9 o o
w1 Hw W g k7

1. T97 / Accident 2. TWUNT / Judge

3. ¥/ Doctor 4. e ) Advocate
5 ™"/ Police

{A) 1,3.4,2, 8 B 1,3.54.2
€) 1,2,3,4,5 o 1,2.5,4,3

2. "¢/ Rain
4. @/ River



24, Whach of the four options given below repre-
zents the meaningful order of the words given
brlow?

fon mo s fyws 8 | e e T fom g ol
AT wR T

1. w9l / Never

2, waowH [/ Actimes
A R Generally
4. Fn-sT [ Infréquent
5 dw; Always
1A)
€

om
(h)
[
»
—
g
wem
o

)
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25, Which of the four optins given below repre-

zents the meaningful ordor of the words given
below?

fow T 3w Pl & @ WA e 7 ooy el
RABILES s il

I, W/ Thread 2, %ww [ Cotton

3. ™ED ¢ Seil 4. Wvm [ Cloth

5 fawgl / Rag 6. 9 / Flant

iA) 3,2.1,4,65 (B 3,621,4,5

i€ 2,6,3:. 1,54 (D) 1,23465,4

IR IR0

Loghcol Soqeence of Warck | e wi mfie wn
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Questions based on 'glphabel test are
compulrorily asked in all competitive exams
today. With the alphabet test, the candidate’s
alphabet related knowledge is checicod. Tt is very
mmportant tu know the pasition of the alphabet fo
solve these types of questions, We know that the
English alphabet has 26 characters. Arrange the
Euglish alphabet from left to right as follows:

ABCD EFG 11 )
A 1 TORN T S R | T |
1234 S$%1 sow
KEMN OFPQ &S

Ld k& 4k &

N K 5% |’

TUV W X ¥ Z

dodeds d L4 4

NNV B MBI »

In the English slphabet, the sequence of [eftere

from A to M is called the first half of the alphabedt.
A M
(First half]

The arder of letters from N to Z in the English

slphabet iz called the secend hadf of the alphabet.
N — s 2
(Second half)

The following types ol questions based on
Engliafy alphabet are asked in various competilve
exXams,

(i} Based on the word / numeral structunes

|ii) Dased on eqqual distance of alphabet between
every two letters of the word

[iti) Baard on the meaningful words

jiw] Alphabetical order

Ivf Boased on the acrics

Aphobal Tost | Wi sew

" wiam R aatty W s Wt e shven
et 4 st w0 T wa § ) when witaw & spendt
® et Wl g w wtu ot b #) o ven ®
WA W ¥ v W feai e e i
sovrew by § S sl wbaon 8 ool o show 26
St b f o 8 o] s St danon o P gt st
Lol =

ABC D E F G H1
+ L4 - I &4 ¥ 34
130 4 S .6 71 =9 n
KLMN OPOQ RS

Jdé 4 LI g, 4

IR K BHBIT BN

Ty W X ¥z

sdd & ¢+ 43

NNTN USNH

mmi.;thlw sl & wm W) W

RS T8

N——a M
(%9= awim)
TR TR N B Z AW N0 ¥ I W TNE
w frdw swin w7 &)
N ———— 2
( frft e )
P gy ofwnoft & sl ey we smefon ey
¥ TR e - fe
() TS/WE TR W WA W STty
() e R vt §) wewnd & e b o)
T W aafE
(i) JoP v W I
vy el ® W W s
v e we savarfoy
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EXERCISE

Directions (Q.1~15): Thess questions are
based on the following alphabet series.

Falan (W 1-15): % w3 Syerif wimmeame ur et §)
ABCDEFOHIJKLMNOPQRSTUVWXYZ

lI

30

Which letteris 8th 1o the right of seventh
letier from the lefi?

o W 7E oA ¥ e g W e §7

{a) O ) A fe) L ) K
Which letter is 4th to the left of seventh
letter from the left?

W W 7R W W W W weom e #7

la) W B X ) € D
Which letter i 14th to the left of 7th letter
from the right?

o R 7 R % w14 st i 2

(W) F Wy u ) & v

How many letters are in cidway betwesa beh
lecrer from the left and 13 Jetter from the
right?

o # W S v W o 59 o W e P
wmt #)

&) 15 w16 (c) 17 {eh) 18
Which Ietter is between midway af ) dth letter
from the left and 41h letter from the right?.
wrf W v e me w134 et F e ol
e #7

o) R _ b L ey J Hl E]

If the firat 6 letters are written in reversed
arder, then the next 6 letters are written in
reversed order and so on, and st the end Y is
interebanged by Z, then which is fourth letter
1o the right of 13th letter from the len?

wit w6 s W) vk we € Sens e £ By some
& s w1 392w A femy o £ o amd @ o
o v & ov afn o Y Wt 2 gro wen fem owm #
W o @ 134 s ¥ wm v e o )
wJ b} H (e | € Q

if the firat 5 Jetters are written in revorsed
order, then the next five letters are written in

reversed order and so on, which is 7th letter
wo the right of 9th letter from the left?

2

8.

1.

nfe wpe 5 avers vt o St ot £ et 5 e
wor2 wn # St @ v st R ol wr e L R
w9 o s ¥ o 7w e v b

T by 5 e} P @ Q

If the first five letters of English alphabet are
reversed, o aro the next 5ix, 5o are the next
seven and so are the next ¢ight then which

letters will be 11ith to the right of 7th letter

fram the left?

e st} erhenen o v AT s esee fear o
bemtow it dmd et 4 s 7 w2 @ A
oW £ g s 3 #) o A @ el € o e W
74 s % o 11w W s o)

@ J by K fe) L M

If the first fve letters of English alphaber are
reversed, next six letters are ledt unchanged

again next seven letters are changed and

remaining sight Jetters are left unchanged

“then what will be 7th letter-to the left of 15th
' letter form che left?

ufy o wvham W pug N Sl W oz foy
wnn & st 6 w) st e £ o3 s
7 e w! w2 fem ww & oww v 8w wh
syt wtn e e o8 Wl 9 1S9 v o W
7 FT e e

) G 'b) H ) 1 h K

11 3hel firstfive lotters of Englizsh alphabet are
reversed, $0 are the next five and g0 on and
last letrer is left unchanged then what will be
2nd letter to the left of 17th letrer from the
right?

ufe st weiamen ¥ oum e s W e fem o
£ w5 8 ot dm ) W £ ww wft o wm ot
ot wa stfew e v st TR e e €
ot # ) 7TH A F o gEn e oY@ rim)
{m) & by G ey H i R
Which letter shotld be ninth letter to the left
of ninth letter from the right, if the firat half
of given alphabet 15 reversed?

wfe ey qu sfeol wefin W g ae wept Wi e
fem wom £, o Wit B OF Wt ¥ wm Ow Wi
FuT g wien?
ta) D 0 E

[c} F o 1

Aloratet Test | st WO
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12, If A and € interchange their places, B and

15.

16,

interchange their places, K and G interchange
their places. F and H interchange thelr places
and su en, which Jetter will be third to the left
of Q?

wit A C e aren vy woedt BB e D e
W v woet § B 0 G TTPR e ne aeey
f.F wa Hosron sern vam eont # mea oot we
WM, B Q ¥ W e wwe W om?
@My ™M @U  @T

1M the given alphabet is arranged in reverse
arder, which letter will be in the midway
between 190h letter from the feft and the 18th
lerter feom the right?

wfe & ¢f wvinen fauftn w5 & sovfeam fem e
IR R UEBTULRS ELE BV LIRS & ol
ELUN o

la) Il J fc) M s

Write the above English alphabet in reverse
order. At firar cancel every second lester and
then select that Jetter which divides the
remaining letters of the alphabet m two cqual
parta, This letter is

wrgen ol wedgen o Sosfn we ol el stae
WEE T R WOEE T NI e W
Wty ¥ ¥ spued W) o s el o e
#) wy s # _ } )

la) L (IR ©) o )N

If cvery altérnate letter of the given alphabet
starting from A indicates the every next 3rd
month of the year, A indicate the March 2019
thess which fetter indicates the last month of
the year 20142

uft A 5 9w T e 6 gf whpey ¥ aw Ui
s wd F waw et i) ol of wom & A e
2019 w1 ¢ = & @ i 2019 & s @
wi W am s o owon #2

(ay H (bl K fe) G ) ¥

How many pairs of letters are there in the
word EXCLUSIVE which have as many letters:
bretween them as in the alphabet?

e EXCLUSIVE # siwd % 77 ferd gm gamsw
# Poast iy ot o srm ¥ et fe sfiod anvigen
LR

(&} 2 (bl 3 (S Idj 0

Mehobal Tost | e s

17

18,

19

21,
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How many pairs of letters ave there in the
word EXPLOSION which have as many letters
between them as in the English alphabet?
e EXPLOSION # st # 9 fvd o # Pt
e ® o W smw # P fe o vt W B2

fal 1 M2 et 3 id) 4

How many pairs of letters are there in the
word CRYSTALLIZE, which have as many
lettess between them as in the alphabet?
v CRYSTALLIZE % 568 % i f0rd o # fagw
e & ot ot # et e st woieom o £)

fal 1 B2 )3 i 4

How many pairs of letters are there in the
worcd NURSING which have os many fetlers
between ther as in the alphabet?

e NURSING o sl & 73 feom g # Pl i
o wrt 9 ewr 2 Part B el b of #7
{n} 1 bl 2 lc} S i &

In the word 'PRESENCE’, how many such
pairsg ol lefrérs dgre there ag have as many
letters Letween itg units in the word as there
are in the English alphaber?

" PRESENCE # swd & 2 feml 5 § Dot
o o vk # vt ¥ Fard st et of #)

fol 1 (b2 (¢} 3 A

Fi W lutters in the word EXTRA which
bﬁ. s i laﬁ? etters between them in the
ward as (n the alphabet. [f these two Jeltern
are arranged in alphabetical order which
letter will come sccond?

Wt EXTRA o % % sewe ae wifan ey e mm
ot s # Sk s vee We wod i
A B wfe oo o wr vt wiaen o ww o iy
fem o ot gut vy wr wie-Ie st s

fa) E e X fe) T fd R

Haw many such paim of Ietters are there in
the word ORIENTAL each of which has as
many letters between them in the word as in
the English alphabet?

e ORIENTAL ® st % &3t ford g # forsw
e o Tt s # Pert fe st b o €9
@mo  m1 fer 2 )3



23. How many such pairs of letters are there in

the word STREAM, each of which has ag many
letters between them in the word asin the
English alphaber?

e STREAM o 39v W 00 Syort s # Pgewt e
o ot A s # Port b seh wetame o )

() O b 1 () 2 K 3

. How many such pairs of letters are there in
thie word EXPERIMENT each of which have as
many letfers between them in the word s

they have in the English alphaket?

25,
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W EXPERIMENT @ siutt % 70 firor s # B
e 8 mr s @ Pk P st weteen o 47
&0 b 1 ey 2 W 2

How many such pairs of letters nre there in
the word TERMINATE each of which has ue
many letlers between them in the word as in
the English alphabet?

e TERMINATE & sl # 94 foerdt g # foraw
o e F Pt e st wteen of #7

{2l 0 fb) 1 ch2 )3

JIHIT IR0

Aloratet Test | st WO
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Dirﬁiﬁq&fens_‘"ﬁr

Direotion is an imagination that can bo
predictod with the help of the sun i the day and
the pole star at night, We know thot the direction
in which the sun rises is east and the direction
in which the sun sets is called west. We caneasily
understand the direction knowledge teat. If we
stand [acing the sun-al sunrise, then that duec-
tion is east, backwnrds weat, left side north and
night xide is called south.

Today, in the competition of increasing com-
petitive exams, direction test quesbons are com-
pulsorily asked In alinost all competitive exams
The main purpose of this type of examination in

to check the knowledge related to the dicection of

the candidawe / candidate,
Generally, there are four types of directiong,
but in addition te thege directions in direction

reinted quostions, It is necesanry to have

knowledge of four other directions g9 well,
DIRECTIONS ACCORDING TO THE FIGURE

™l

NN
oo . 3 -
[l T

Accarding to the dipgram, the direstion berween north
ard east is” urtlecast !, e directon between south vod cast
v’ sawth-cnst’, the divection berween south and west &' ponsth-
west' und between nestl snd west s called Notth-West'.

Toar types of questions refited wo Disha knowbodge 1est
are piten ssked in competitive exams:

(1) Questeons based on directions

(it} Distance based questions

(ini) Shape based questions

Ciroction Sonsa Tost - MO i wiww

Fovp O W e f TN = 8 a6 oW ow | e
40 o st g s P o s 8w o 8 gl ey
T wrs &y o aw oo T e faw s e
o & ww fom ofrom wesmt B s fom o9 ofte &) W
T A BT SN S R B N ¥ 3 e
wE @, b w fow gd B W S v wd Snowh o
W w3 T wiew et

S i g W s W sty & feew soww
£ wer e ol utrd® el F aferd wu G 9wk
£1 = T SO WS e e g o
werad g 2 oy xva

sy frvod aw owE R O ¥, 55 o ool

gy e Spvoat R arinfrer wir s vt we ot o S

myew b
o W fafin Frosyw

TRINERAE  n fari Tt Fwd

S A 3 kP W ot A e e
it o o o o flove o et o ) el ot e
W ¥ W 7w whem . givam ' o 3w ol v W W
o) fowrr o e ufves weh §)

fovn i & stesriagn § g & wew w wfiief
gftud 4 g oA ¥ .

(1) Fevmall o7 sty wve

(i) gt W safzr gve

(11 09 T ST W
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EXERCISE

Mohan travelled westward 5 kms., tumed left
and travelled 3 kme., turned right and
travelled 9 kms. Then he travelled north 3
kmé. How far he is from the starting point ?
uws tiras &1 & 5 e, ww s § 3 owd
grer 3wl W wrw wm £ si for o sTer 9
fd ¥ ww s ¥ g TR o 3 fel W
wrm ¥ s9 W sifaw a8 fea ol o fraw $2
(&) 5 kms./fed) %) 3 kms, /it

€ Gkms /Sl (d) 14 kms el

A man started walking  lowards West. He
rurned right, then right again snd finally
turned left. Towards which direction was he
wallking now »

uw wfn ofiren oY st s seta wom &, od
s ¢ st e @ od e £ o o o o e
) wq wy fwwm o o = T W

{#) Nocth/7Fw (&) Souh TV

lc] West/ufram (d) East/¥w

Abhinay travels 10km north then turns left,
then he travels 6kin and turns right dand

cover another 7km. He finally turss to right

and traveis ansther 6km, How far {in kmj ia
he from the point of starting his lourpey?
s o foom w1 v 0 P s R fe e
gy o & foowe o SR won Fomp ol
grw 7 fe i amm &) 0 a0 ol o e
Wit o fesh e B weh e F s s
o fed 52 (fed 0) w )

) 14 ) 16

fo) 1S dy 17

Priyacycles S ki Northy, then turns ast and
cyeles 4 km, then turng South and cycles 5
Km, then Luens to her right and cycles 6 k.
Wiiere is she now with reference (o her
starting position?

fow 5 feslt. 5 ) 20 wifew sa @ T @ Y
s 3pg w £ st 4 Teol e aftes o £ e
wm w1 e = F sl s e we owdifew
woult £ v e of ste gz ol ol g P ow
i A £ ST WWE e 8 e R
{8) 2Kkm Base /2 fami

) 2 km West / 2 fem wiess

{c) 10km West / 10 st s

Kl 10 ki East / 10 St i

‘A’ starts walking towards North, turns left,
apain turns left, turns right, again turns
right, [n which direction 15 'A’ walking now?
‘A TR S S ¢ o g f oW o
e @ vmow ol g # s A o
oy were fv st A vm e A v o )

{a) North /1w (b} Svuth T

o] West/Wras {d) South-East /tm.pf
A man atarted to walk towards East. After
moving & distance he turned to his oght.
After moving a distance he turned to his
right again After moving a little he turmed
in the end to his ieft, In which dircction was
he polng now?

ax cufwy gl ¥ s wrn e wow £ we off
¥ O 1w oA o qem fosow o d X8

g e ol qem #, ok ge o wE W

W 5% A W 49 A gem € s ooy A fom A

won &
{a) Nocth/Tw by South /xfim
{c] East)y (d) West /v

Fwent 15 1o Lo the north, then T turmed west

and rovered 10 m, then | turned south and

coversd 5 m and then turred cast and
vered 10/, In which ditection | am from

the srarting point ?

w3 ot 15 A wo, fer sfren w3 ol o ol

10 WL 70 " %, Fp i 7 s gy sl S| g

m shrqupt s s g ol oA Wigh

W1 s & svitw S A fen fow 7 0

{a) East/y () West/wr=m

(o] Narth/F=v {d) Souh /alm

A nuan goes S5 km East, then he turens rght

and goes < X, then e turns left and goes 5

R, Which direction s he Tacing now ?

ww s @ w1 an S fah e #, e ww o

qowr 4 fesft sew &, o o wd o § b s e,

o &1 we T gy e fom ® 22

{a) North/7 (b South /M

(¢l Eost/ M () West v

Diraction Some et | SM e Wiew
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13,

A man walks 4 ki 1o the cast turns left walks
% kamn and turas left and walks 4 km, Which
direction is he facing ?

e wiwm 9f ¥ =i 4 feht s 2, o g
4 fasft = # o foer o gea 4 i @
== Towt qF tem fom W @2

{2) South /v (&) East/99

fc] West/weem (d) North; T

If Ram's house is located 1o the aguth of
Krinhna's-house nnd Gevindo's house ia o
the east of Krishna's house, in what direction
Is Ram’s house situated with respect to
Gavinda's house ?

Rz Um W W, P w8 zewm d § e e
WO, w WA A wfen W ow o
w1 W fem fom 2 £

(&) North-East/7wr

bl North-West /557 w5=m

fe) South-East /e gd

i South-West /<m-rs

Radhika went 50 metres wouth from her
houge then tarned Ief and went 20 metres

then turning, to north she went 30 metres.
In whitch direction is her home from (this point?
e et w8 ovm F 5o ol o wd
TEET 209 of, T4 AR TH 4 S5 30 W ep
TR W TR R o fen fom v )

{a) Northfow

b South West/¥=1-fram

(e East)7

1 North-West /597 sy

X ia in the Eaat of Y' which is in the North
of ‘2 K '¥ |13 the Eaat of 'Z' then In which
direction of 'X, s P

K,YepEr Azt mAbiwp, 2
vgidta Xaphwmtond b

(a) South-West/cfaw-vivas

bt South-East/ e g

(e “Soeuth /e

i West) fram

A is Jocated to the West of B. C s Jecated st
North in between A and B. D is exacliy w
the South of B and alyoe in line with B.-In
which direction of Cis D located?

A, B¥ viram fom A fees 1) C, AT B W weT
A fom D, 8% dym s fom s B
w1 T w i cF 39y D S b {0

Ciroction Sonsa Tost - MO i wiww

16.
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{8) South/ e

) South-East /xfem 59
el West /<7

i) South-West ) <fem. wiyes

. Ram walks 10m South from his house, furns

Jent and walks 25 m, again turns left und
walks 40 m, then turns right and walks 5 m
to reach the school. In which direction in
the school from his bouse?

Tm o WA e 10 # R g el
a5 w f, oWl g £ v 40 @ wem £,
fort W WA & fo, od e # i 5 A =
£ vt w2 o few fom o £

{a) North/%w

bl South-West /. sfras

{c) Narth-Esst/ 73191

i Exst)9

Reut e Sanita started fom a pice X Rarn
went West and Sarita went North, bath

“trpveliing with the same speerd. After

somelimes, both turned their left and walked
o few steps, IF they ngain turned to their Jeft,
in which directions’ the fuoss of Rani and
Sarita are going respecrively.

st uftm e X R ween awta wrd ¥ o o
vy wey sftw o A g, O R R W g
S0 € We wee e, 4 el s e e W
TRl T e ol g §, 0 o o
uftm frn = w

{s) Narth and Egsty T @ 7

{b) North and West)/ 790 st shrem

{c) West and Northtfren & T

i Bastand South 4 bt wfim

Ragjat moves from his office Lo the canteen
straight at a distance of 12 metres. Then
he turned left and walked for 2 metres, Then
he turns lell again and walks straight for
12 metres, How far is he from his office?
T W e | W e W e oI
frawt ot 123 &t oy wf gywr 29, Y
£, e s v e 129R ot e #) o e
viem A e ol v s

{a) 10 metees/® b} 12 metres/Hl

{c) 8 metres/®. (@) 2 metres/®L
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19.

21

A man walks 6 kma South, rurns left and

walks 4 fems, again left and walks 5 lams.

Which direction ia he [acing now ?

ww s i fom & 6 it A #, W wre #

¥it.a faft o &, o2 wf Sef # ol 5 e o

timmafmdam )

(8) South /xR &) North/Tm

el East/qt id) West/Sivws

A mun drives hax car 6 ki towards West. then

turns left and doves 3 km and again turns

A e e o o

ectlon ol the my o :

;3 Ces il s s sm iy ‘: =
. T wd s 3 faw, W £ A o e oEa

¢ a3 k:‘:m £ s W wreatw T

ey & w17

(a) South-West/sfam. vfreg

fb) Rorth-West /77 ¥ireg

le) North-East/ 409

idl South-East/<wm.gi

A postmisn starts delivering fetters 3 km

southwards and then turns nght, He covers

4 ki on this road and aguin turas right. He

dellvers letters for 3 km snd completes his

daily beat. Then, he turns left for Tunch at

home, which is 5 km away. How far has he

to travel 1 reach the post offioe after lunch?!

wE wiew W fom o T WA U 3 e W
¥ e od v & e wgsm W 4 S S0 T om
wm & 3w ol e #ow 3 e o e
£ st cm wew TEw w0 e B E Y o
ST W T et Tt o P Wl s o St
o ) W rR e et o Wi T o i A

fom el (it w0 s wits
(8) 18 ke /sl ) 10 km /o,
(e 9 demn/Toe1 fd) # lem /e

A cyclist rides 40 kens (o the easl, taros north
and rides 20 kma, ngain turns left and rides
20 kmes. How far is he from the starting point?
uw unfen e g o) s 40 v e F, ey
T RTWE 20 St som £, v wd on ¢ st
20 it o #) e fem & famft th w80
{a) O xm /N &) 10 kma/ e

el 2 kms/fw=1 fd) 30 kma /S

A man s facing South, He turns 135" in the
anticlockwise direction and then 180" in the
clockwise direction. Which direction la he
facing now ?

oW srch w1 e dum o £ w135 = Yo
o qrm § 8w f5 w1800 vhyowd fon € 5w
W T e few Bom 9 27
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o) South-East)eem-m

b Seurh-West/Tfsm - sfray

{c] North-Eust/7m- 3%

idl North-West /& wiy=s

Laxmi wont 10 km to the Wesat from my
house, then turned left and wailced 20 lems.
She then turned East and waliced 25 kms
and finally turning left covered 20 kms. How
far was she from my house ?

wd 4t wm @ 10 el ofvrs fon F am £, o
af sy & e 20 el vk B fer o ol o e
26 i # o of F W qrht # o 20 fash
=1 on wrm #) s w8t e W ferl) o8 s o
{a) 5 kma/fed) b 10 kms/ e

ol 15 kms/Sf () 40 kms/Fed
Rajan started from his house and went 2 km
enst, then he turned nght and went 2 km,
again turned right and went 3 kin, again he
turned right and coversd 1 km and finally
after turning right and going 1 km he:
renched point ‘K. In which direction was
Rajan walking when he renched?

T R T e e wn & el pl € 2 fed,

e we od g s 3 faoh e, g o s
A7 2 fmd wn, Fe W T wpn s | S ® g
W i v Aol g O am | el wee feg
K wen d e fww fom o we e W, we e

] e
{u) West)¥iren b East/mM
tof South/<Nm {d) North/7=

K & plnce Which (s located 2 km away In
the north-west direction from the capital P
R 18 another place that is located 2 km away
in the south-west direction from K, M s
another place and that is located 2 km away
in the north-west direction from R, T is yer
another place that Is located 2 km away in
the south-west direction from M. In which
direction is T located in relation to P?

UH W KW aeE pu 2 el v 51 oam
#ivw v R, W KA 2T vmodian 9 s
iemE M, W R B 2 fel seovieEn e ) v
T, ¥ R M A 2 vian-wiven 53 3w ) 1 95 p
= Wy ¥ 7% fom s

{a) South-West /Tl wfram

(b Narth-West /355795

(¢} Weat/9fan

@] Narth/39 0

Diraction Some et | SM e Wiew
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I)nily in the morning the abadow of Gol
Gumbaz falls on Bara Kaman and in the
evening the shadow of Bara Kaman falls on
Gol Cumbaz exactly. So in which direction
1% Gol Gumbnx to Bara Kaman ?

w3 er MR PR ¥ W, W SN F I\ S
il T W W) e T o ol #y
TR W R R e T e o fo e )
{n) Eastern side /9 7vn

b Western side/9vas frm

(e} Northern side /790 fom

i) Southern side/dwm fem

One morning after sunnse, Gangadhar was
walling facing a pole. The shadow of the pols
fell mctly to his right, which direction was
he facing >

TqEE W EiT ¥ IR
ufd o s 2w e
fom o Wi}

fu) South/wm

b West/$fws

(©) North/¥em

il East/TF

=/ F W S5 R
ot # e e tew

A person walks towards his house at 8. 001

am and observed his shsdow to his right, In
which direction he is walking 2

o ) St W W Al 8:00 am § e B ol
mmmdmh-mm:amt'
{a) North/¥w 17} Sout.h/INl
(ci East)§= () West/sfras

Sumi ran & distance of 40 m towards the
South. Then she tarned to the right and ran
for about 15m, turned right agaln and yan S0m1.

Ciroction Sonsa Tost - MO i wiww

Aol West /s :
. Ram ss facing North-West. He turns in

-4 SAFALTA.COM
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Tuming o right then ran for 15m. Finally she
tumned to the left an angie of 45" and ran. In
which direction was she running linglly 2

writ wiem fom w1 A 40 @, J9, o7 aw ol gaw
o 1SR G W o gt i 50 @, 9 e
of g8 s 15 fen s A we W a50 X9 b
Bt sty f wy fem fovn o ofix it W2

{n) South-East/<um.

b South-Weést/ wiam. v

{e] North-Esst/7m-gi

il North-West /79 vires

29 Keeping her back towsads the nsing sun,

Reshmu starts waltking, After a few minutes -
she turns lelt and keeps on walking, Then &
lttle later she turns right and then left, In
which direction is she going at the moment?

e W e e o) s v T e wen ey
woit &, 5@ we an, ww aE i w #) 58
o e, = v o fer il s tmituaw
fom fom 3 wr w2

(=) South/wm b} East/y3

[} North/o

clockwise direction by 90°, then 130" in the
anticlockwise direction and then another
S0 in the swme direction. Whieh directions
& he facing now?
e ymodfes | 9t o fon 4 90" S vl W
it & 1800, o il fom § 90  wyw R, W
w fawm fom ¥ Ap &2
!a Wl-mt/ﬂh sy

Weai s
ccj South/2fam
idl South-past /.l
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Generally, in blond related quesations, queations T TR ST wfyd * Ty
are 'asked“zn!)' under seven gexiefutio:;ns. While e W dzm * e

_sﬁlvingmtglc qx'l_csttwton.-you should Xeep ymu}?:lr_ln i i § ) ST e e W T e e s
the misidle of these scven rations, that is,
three generations wiil be o s you and three & vers i vy ity <t STt e vy i o o
gencrations will be below you The name of the AN I F s i W W e s
relationship between mdividuals according to the

generation is shown in the {able below. e & Twdm T -
L T (Male) e (Female)
{Generations)
A OF 3 {4 W (Great grand father) (1) T (Great grand motber)
T |y v (Great maternal grand father) | (1) W= {Great maternal grand mother)
(U N Eet i i (in) TOT e W
|Great grand. father-in-luw) (Great mand mother-in-law)
ER RSl = (Grand father) (1) T it roochen
Tt |y (Maternil grand father) (i) W9 (Maternal prand mother)
{iiipwmmare s (Grand father-in law) {il} o W (Grand mother-in-law)
U WP S {1 T (Fathen v ) T (Mothen
+ \L) =T, T (Uncle AL TR TS (Aunt)
fiil) W=, W (Maternal uncle) ' (ids) ==, 7 (Maternal aunt)
fivi T (Father-in-law} Aiv) S Motheg-in-law)
T W T 1) 7 (Husband] () =5 (Wifel
- (i) ot (Brothieq) (i) (st
(i) Wi, e, Wi, @am W (Cousin) (iif} =90, wwrr, wiw, dEn W {Cousin)
fiv) wrid, Tt ofe, s, R, (iv) it st s ot welt, e ot Rwed
¥3, PER (Brother.in-daw) {Sister-in-law)
wEwE Tt | {7 (Son) (1) 39 {Daughten)
& iy sl wtan (win) (Nephew) (i) Wit sl (i) [Niece)
iii) T (Son-in-law) (i3] T (Daghter-in-law)
@ Oy ™ (1) 0, W (Grand son| (i} =0 W |Grund daughter]
i {iiy R 8 Wiy W R T wn W
|Grand son-in-law) (Grand daughter-in-law)
ek [ifTTm. TR (Great grand son) (4} TrE, T (Great grand daughter|
Wi {1y W TR w5 (i) T W T W '
|Great grand son-in-law) (Great grand daughter-in-law)
T TN T BT T WET 59 Wﬁi’s There are two types-of questons baged on blood
relutiony
(i) e sty s (i) Questions hasod on language
{iiy WYS st sy {ily Questions based on code

23 tood Relctien | 181 Wew
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EXERCISE

|.  Pointing towards a man, o lady said "He is
the only son of my mother's mothet” then
how is lady related to that man?
W W W) S T W [, O giem § oww
ax it ot W ol el S Y @ om afem
o i A wmEua )
{#) Brother ) ot
) Maternal unds / =00
{6} Niece ) W=
idl Daughter / ¥4

2. Pointing towards a lady, Vuny gald "sheis the
daughter of my Grandfathera only son” then
how is Vijay related to that lady?
o =fgrn oY sl yorn W g e § o e 2
TR R R T Y S aen e e
otk
(a) Brother | v
{b] Sister | wr3
fe) Father [ Tom
id] Can't be dezermined / P ol fesyon e

3, Pointing towards a iady a man sd Her

mother |s the only daugliter of my mother in
juw” then how s man related Lo that lody?
oW afes W S T g U s e
of i w w1 yesta & Bl snd n sfpw 6 €0
oiifwa b 2
{9) Husbund /92
f) Father / fmm
(¢} Brosher | W%
idl Uncle / S

4, Pointing towards & marn a lady said "His wife

i3 the only daughter of my father” then how
is man related to that lady?

TE TEE w1 o e Wl g ow Sfem 2 et
o= 5t fom w1 e %0 #° 0w 5w = Wi
g¥auRiE )
(a) Husband / 7
(bl Hrother in Loy [ ®# 0
lc) Brother ) s
il Cousin / T Wi

5. Aisthe father of B, who is the sister of C. D
18 the mather of C, who is the husband of G
and father of H then how ix H related to B2
ABwmMmtdcsianti D cwEr mGcw
bt ywmtmt Ay gdfR st m)

Bload Amiztan | 4 HuN

{8) Seon /%=

bl Brother / W%

{c] Uncle ¢ w™

K Can't bedetermined; Fmmy i fvm = wem
6, Dis the brother of K. M is the sister of K, Tis

the father of R whois the brother of M. I is:

the mother of K then atleast how many sons

doea T and F have?

DEKTFHWIhHMKTIR T RENwE S

MWW FE KR AanaaTimFs

feri a2 €7

la) Three / W0

b Two /@

() Can't e determined ) sl v = zwm

K Nane of these /7398 2 wif i

Directiona (7-8): Read the passage and answer
m fallowing questions,

GO ( 7-8) o % 9 oft frefiafep arl # T

Ti5 the fathor of Q, who i5 the siater of R, S is the

wife of R who la the son of T.V is the brather of
W, who iz 1hwe wister of P, Z is the husband of Y and

father of T

pomime @RSt SRVt AT™
SERSRUAL\ BAR ) 4 oS h e AR AR L h
T % fom £
7. How s V related 10 Q7

V. QasE =)

Ja) Uncle / sr=

(b} Nephew / i

fc} Brother / =

|d) Cousin / T80 w3
& Hotw e S related to F?

S, PAd2 sl

[a] Sister in low / v

b} Daughter / 72

le) Mothier in faw / 58

ld} Dzughter in law / %
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@ A Family comsist of a Grandfather, 13. R and S are brothers, X is the sister of Y and

Grandmother, father, meother, daughter,
danghter in law, grandson, granddaughrer,
brother, sister and two sons then how many
members aye there in the family?

o ey @ gw e, o) P sl A, we dom, i,

Xis the mothér of R. Whatris Y ta § ?
R¥swit ymiwmxtftrmsixtyms.
gwmEIN el

la) Uncle [ w0

vty sy o §, 0 e et ween £ (b} Brother / %
fa) @ lc} Father / fom
M) 12 (d) Mother / =
e} 6 14. A and Bare young ones of C_ 1 C is the mother
of B, but A 13 not the daughter of C, then what
(d 8 is the relationship between C snd A7
10, Seven person PQ.R,5.T,U and V are ChwlAMatiwk g TR o EA A
members of u family conuisting 4 adults and wit & dhd M ‘
3 children tweo of whom sre girls, Pand S are MCHTA whm
brothers, T is mamed to one of the brothers ja) Nephew and Aunt / Sfrm o g
znd V is their child then how is R related to #7 (e} Mother snd S / o st &
um wifw P,QLR.S,T.U e v o wfvan o e idk. Nitos and Aunt./ seltok ¢ g
favd 4 woow o 3wk F faes = ) orefon £ x _

s BT W M) 3T 6 ew ot A 15, P and Q are hrmhc_n-. R-.andsa_mamcra. F3
P #s _ - ; son I3 8's brother. How is Qrelated toR 2
#3723 v 10, S8 Frwfis § sy e PHQuti g MmswItiPTES WM b0
T AR PO IR N b o 5 $irwahe §)

Ial&:_n/.!l |a| Uncle / "W
(b} Daughter / &4 (b} Brother / =i
fe} Brother / =% e} Father / Pen
[d) Can't be determised /Pt o foewwn e Id} Grandfather [ a9
[1. If Ass the miother of 1), B not the son o C, © 16 Q :& tbc sof of I, X ix the daughter of Q. R is
is the father of D, D is the sister of B, then ug)qixmw the son of R, then
how is A related 1o B 2 whhf
WS AL CMIT B DR fmCED waot'oﬁﬁxt'xﬁv'ﬂtﬁkwt
Wiwrr B YA B PR wdn ) L L s pRausfo k)
fal Mother / = fal Grandson / W B
M5 Brother / Vot i) Granddaughiar. / S
[¢] Step-son / Wi ::: :nughtefll'la
d] Sister:/ W 17. A and B ure brother and sister respectively.
12. M and F are & marvied couple. A and & are C is A's father. D ¢ C's sister and E is D's

sisters. Ainthe sister of F. Who is Blo M 2
M e Fowfonfpyftn 8o it g e By P o)
A B MA R TEE

(a) Sister J Wr

fo} Sister-in-law / 5=

{6} Niege / w0

[d} Daughter / &3

3

mother, How iz B related o E ?
Asmpwm: o imwR S AR ChicwE
DEsE D P EL B E RS mits )

(a) Granddaughter / W0

(b} Great granddaughter / wydft

[¢} Aunt / ¥

id) Daughter ; #8

Bood Reloton | 18 Wew
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15, Ajay says, ‘Ansnda’s mother is the only

daughter of my mother’. How le Ananda
related 10 Ajay P

s wgh B, amit 6 W G S 0 et @0 8
T SN R R e 8

|4) Brother / W%

b} Father [ fon

{¢| Nephew ( =fm

{dl Grandmother [ =%

Raju snd Cholu are twins, Chotu's sister is
Reena, Reena's husband is Rnnjan Raju's
maother i Lalita. Lalita’s husband is Rakesh.
How is Rakesh related (o Rangan 2

T A e e W e A T e
fimy i nim i arm¥ lmmw e W
T AW N ¥

() Fatherin-law / Wt

b} Cousin / i i

l¢] Uncle / ==

id) Son-in-law / T

. Manoj told ks friend Shyam, pointing to o
photograph, "Her father is the only son of iy
mother," The photograph is of whom ?

TATH R Y 5 YR BT OF WA N ST SR
woh gu oww, oyl fomy A o o pwofth 4r ¥
ity fwat £

[a) Manoj's niece / =R W1 WAl

B Manoj's mother / w0 %181

[e) Manojs daughter / &fs &1 48

(d) Maonoi's sister / ¥4 W1 %4

. Looking st a photograph a person said, "l
have no brother or sister bur that man's
father is= my father's son." At whossz

photograph was the person looking at?

TF TN W1 THRT % w3 W, 0w um m
wd i h A st e St s i b
wr =i e s dmorm o ¢

(A} His son's / 7% %2 7

b} His nephew / 3k vt =

[e] His father's ;70 fam

(d) His own / 5980 a5

Bload Amiztan | 4 HuN
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22, Suraj's father has a son Rehit who has an

gunt Laxmi whe has a husband Rao whose
father-in-law is Sohan, What is the relation
of Sohun to Surgj ?

e o P w ww o A B S ww e et 8,
Famre afn oo & e sy s §) s w A e
frrmd?

|al Nephew / v

b} Grandfather / T

¢} Son J ¥

id} Uncle / s

. Ramua's mother said to Ramu, "My mather has

& son whose son s Ashok'. How s Ashok
reiated to Ramu ?

et o dwn, w0 o wrow S b, feew d
e &1 vy ws R s

2] Uncle / W

- Cousin. / 967 w§

(¢} Brother / =%

_ i) Nephew [ W
24, A s the sou of B, while B and € are sieters o
~ one another. ¥ iz the motherof C. 1f D is the

son of B, whach of the following statements is -

coreeet 2

gamssAt g cwA I CWMAESN v

£ W &0 D ¥ = Freistmy w9 om v o e )

jul s the matermal uncle of A / AW =R D ¥
[ 15 the cousin of A / AW w0 vl D ¥

(qjk gru? 1 are brothers /BT pwE

{d} Nowe of thege [ 798 8 %% 7

. A is-B's brother, C i A'S mother, D'is Cs

father. B is D's grand-daughter. How is B
related to F whois &'s son?
pmwiAt Aavtdct cRfgmp ¥ el
dptigwmESmE WA P
fa] Aunt / §50

b} Cousin / Héw w

(¢} Niece / v

I} Grand-sunt / fem vt g
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Ranking means o person’s place in a group
of people. In this, some conditions nre given an
the hasis of which a person has ta find the top or
bottam and the nght or left position,

In some guestions, a-persan is ranked from
front and back and you Rave to find the total
number of peuple.

Sometimes the number of certain persons
is given and one of them Iz given the position
fram front or back, If the pesition is given from
the front, then its location has to be found feom
the brck or then it has 1o be placed from the bgck
and the pasition has to be obtained from the front

Many times one of the two persons is runked |

fram the front and one from the Sack and there

are some peaple among them, whose number |y,

given and you have 1o find the number of all (the
peopie.

Sometimes two peaple are pasitioned from
lefr and right If they change thelr place ameng
themselves, then they are placed (s thelr oppe-
site direction and you have to find 1he total
number of people.

The reasoning ability of the candidate in
tested through these types of questions

Linear or horizontal order arrangement

Questions asked within this are baged on the
perasohs or objects in The row, In which some pet-
sona or groups of objdcrs are glven snd thelr or-
der ig also given, You have to find the location of
one person of thung refative 1o anothier person or
thing.

CQuestions that nse the words 'row’, 'right-left,
‘middle’, 'end’, ete. should be arranged on the ba-
sis of the linear onder.

Vertical order

Undor it, comparative details related 1o age,

height, weight, intelligence, ability etc, of certain
PEFSONS or obgccu are generally given and on the
basis of the given details, you have to find the

age, helght, length, weight, intelligence, ability
eto. of o particular person or thing .
Queations which use the words long-ghort',

Ranking % mwe ¥ faed wgfes v o mferd & wgr @
B g 5w = N o § faes s o e mie o

FH AR TN T T AR S wEmEa b

w3 ovdl & Syl =i a0 o me 9 B ot fow o
oo & ol s g Pl W s Ty el e ¥

W N W S W W 3w ¢ v R Tw
soft wrofid & sxpee foworw o B sen anl A T e oo
won &, 1 i & v s e e g b e o o e
s P oy wb B o ok § e e wrn i by

W W 0 WS # | T W S0 T AR W e @
i fow oy e ) obr TR dve o otn 1 8 St s

ST Ry v sl o W e TR o

ko ) e v wl o ol 8 o fow w i

By wm A A T S DR WEE B W T T e o

o vy frw v v B S ey ST W1 WA S @
B e e et o g senell o) mfiew s oW T
Lok 2 1

tay m dfra v s

T i S T T e o e W
weyel i speafy @0 £, oo wu sfend) = gl @
oy Bz § vn v F= oF S om0 s e
TR W WV W R e 1R Wi o am ¥
I W v &y

o wvd & ‘sifen’ "o oad” et @ i et el
w1 T e v &, = i owm o sy emfes
T Wi

FTEE W & w e

TR s ww siferd mosspl W) oy,
syt Sl A, g e i @ e e
frvwm fory v & =i v e e i e femw
o, Wt svtand waw, sfzvm, Sieew safe § smafaee vy
o ki

i gefl € 'wemom’, few-w, o,

$anking Yest | Then da
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'l!ght-hcavy , amall-big, up-down’, 'hefare-after’
etc. should be arvanged in the vertical order |

The following two sequences are used to solve
these types of queations,

(i) Ascending order (ineressing ordes)
Lengths, hclght. waight ete, are increasing in se-
cending order.

{ii) Descending order {decreasing ardey) -
descending order, length, height, weight ete. arc
reduced.

Important points

1. When the pogition is to be determined in o
class, iF you are osked to find a position before
the given pasition then subtraction is done and i
vou are asked to determine a positian below the
given pasition then addition is done.
2. If the values of difterent positions sre given
from both (he directions und the value of the
middle porition of both of them is also given, then
the following two possibilities nre formed

(i) Maximum number = Sum of both numbers

t the number in the middie

(i) Minimum numbes = sum of both numbers -

the number in the middie + 2
3. If the values of different positlons ure given

fram both the directions and the value of the

middle position bérween them s not given, then

it 48 not possible to find the maximm pumber,

but the value of the mintmun number is equal
1o the maximu value of the given twe directions
4. Positlon from opposite direction = Total
number - position n perpendicular direction »1
5. If the poaition of a numher which 1= right or
below the position of the given number s to be
determined then addition 1z done ancd of the
position of a number which is above or on the left
of the given number is asked then substraction
is done.
6. [f the value of a position is given from two
different directions then the some of positions =
Sum of both the diwrections - |
7. If the question is asked in the order of
moevement, seating order or books on top of each
ather, it should be armanged in horizontal line or
xhcal liné or ascending order or descending
or
8. In solving the question, 'blgger than' 1s
denoted by ">" sign and ‘smaller than' is denoted
by “<" sign. For example; Vijay is short than
Shankar, "Vijay < Shankar’.
9. The worde young and ‘old’ are used for uge,
while the terms 'tall’ and ‘shorl’ are used for
height,
10. 'Not the biggest’ means big but not the biggest.
Never assume that its mexning is small.

Ronkieg Tast | Thew By
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‘sw- e afc i maTe e e B R, o
FOAE BN T ST S S 5 e

o we ol e wrh o fog fren ) el o wdn
oo = t-

() smarét ww (wgd wm) it wn d et S,
un st wi wh ¥
(i) sl won (vl wom) st w8 s i
sl el wm §
Herv fas

1. Pl o 6 wsive ) P won B & weres & Pt
PR W AT WA B W O # g, W o W fam e
i W e R W Sy W, 0 R ¥ rwowiwm b

2, TRIAI T AN SR RIS SR I
ol 3 wen o sarr ot off s fowm v ), A e S weerd
Wt

(a) wtowrs spr - TR I W - T W we
(b) e 2 = vl sl w W ey 9 dew - 2

'y, e el vl 0 Safiry vl ' sy fen T o e

T F g = A fom e A, e wa e
T R R T S W WO S A s &
- arfuong s W W o By

4, Fwiion @ mA =wa Ser - d wem - |

8, winies & Tmer et e wee B, 0w 3wyl 5

s TR I AR T W S S R R A W
fom ot O et 7 v @ ot g, @ s e
wrw

0. wiw i v W o ety fomst & fewovr
W, W ¥ v = Y e W am - |
7. s-wAw e, 89w wow gt ¥ e fed

TR W s v & g ow, ® A s oo oo
WS T STV W T SR ST W

8. e oh pee v 808 vey' gy 'S S A e ' !
w1 < forw & el S wm B A8 T, o A= B
— fram < oy

9. ‘v siv'wm' v W T W e v few oW R,
i v’ o e e o) e & S sdn fem ame b
10, 'wadyam 8w sl dwn ® AT ged an 99 pen
oo wpwd it y e e e
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Aatish i fourteenth from the rght end o 7. Vimit.Jalan finds that be iz 20th from the right

row of 40 boye, What is his position from the end in 2t row of bays and 6th from the Ieft end,

left end? then how many boys should be added to the row

B 30 et WY w0 o ol w9 shee v such that there are 36 boys in the row?

,,.‘mmmw,, fieft ey & om B e meed w) o ofen & e

(&) 261h () 2%th WA % 20 o skt ww W @ 6 % vy w §, 0 e A

@) 25th © 27k fert west Wi o S wifm v i § a6 o

Scema's rank is seventh from the top and " wi ¥

twenty sigth from the bottom in & ciass. How }:]’ ﬁ

:': '&';w::t:&:::;m: *": :l“:?' — c) c:n't be determined/ Prdfy vl farm o
o

st hwan o frort om 7 8  Inarowofboys, Alok is 7th from the start and

(83 30 ty N 11th from the end, In ancther row of boys,

) 35 & 32 Santosh is 10th from the stnrtapd_l?th&cm

1f you are the 12tk persan in the qurue start- the end. How many boys are there in both the

ing from either end, then the number of per- rows together?

sons in the queue is. : poped w0t e Wy 6 e g v 7 o abr ate @ 1

wfie v Ol wir o ype w1 el w13 o e ?W_W'l"ﬁﬂwﬁﬁimm

¢ % wm o wfers w1 v 4 10 abr 6 13 ¥ v v ) 5 oo F

(") 24 ) 29 gfem s &) _

Wl 22 © 15 {3) Can't be determined /Pty v few w wwy

in u class of 40 children, Sonam’s runk ig ?:} 37

elghth from the tap. Bina 15 five ranks helow ; priaa

Sonam. What is Bina's ranic from the bottom? N ﬁ? e r::\::;’;{;:‘:;:cﬁ :o:: fmu B

@ wodl ¥ ww ¥, o W Te o 6 "'_"’"’ 5 u;«;'h-normyam,-whbls’z'iat from the right

Laa R AL B RIE L R RS R E S8 end. 1§ Twinkle, who ks 17th from the left end,

() 26 by 28 () 29 s 4&%;&:;1{:: right of Tanu, how many gicls

| None of these /v & % o arc there In the row?

Inaclass of 36 students Vinit's rank from the m‘:*‘"ﬂd“ e 4wy frren

topis 12th. Kunal's rsnk is tiree places above % wf st oW R W wfed w0 A e

Vinit. What is Kunal's rank from the bottom? #ioufe fzmen, Mws et A 1y A o d

26 Wit W) w8 frofw o B wird @ 02 o #oogme o ot st 4 R o e ¥ fed et )

w1 T Fdty @ o wgE w oA @ ey e e ((;]3 3§mumdequme/MMQ

v ¢ :

4 ] 44

va:2v o '?8 .49 i) None of these/598 8 Wy 38

i) Rone of these /778 & ¥ 5 10, Inarow of 29 hays, Rathore is at seventeenth

Rupesh's renk is 16th from the top and 29th
from the bottem among those who passsed an
examination. Six boye did ot participate in
the competition and five failed in it. How
many boys were there in the class?

position from the leflt while Hasan 1s seven-
teenth from the right end. How many boys are-
there between Rathore and Hasan?

29 W o ow e ® gfs a0 ot e W
# o8 g oo vt S wwed vas e # wi ofie e

e et e o by e o s A % W frd w0

W 70 oy or wowt & sfecfm § wm wet foem e 2) &

gl steen oy W o P vt @) b 3

2y 38 o 42 ¢l & :

el 48 W 55 il Can'tbedetermined/ i = fFm = wwm

$anking Yest | Then da
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7l 1, In aqueve of girks, Deepa is eighteenth from

12,

13,

14.

the front while Nanda 3% sixteenth from the
back, If Kalika is twenty-ifth from the front
and is exactly in the middle of Deepn and
Nandn, then how many giris are there in the
quene? -
o v wmr o S et 4 s o F oty oy
16 o B s wfeeey e @ 23 o £ oF fes
op ol oty o e o ko o F Sl wrefed B2
a) 46
) S
ci 47 S
:tﬂ None of these /558 3 53 =
n a row of 21 boys, when Raman was shifted
bg four planes rowards the right, he becomes
12th from the left end, What was his carlier
position from the right end of the row?
21 W wf v vfer A1 ane o Wt o s e v
s upmiy fem g Nar e we g 2 F e
vy o o e oy 0 e ol s ey e
a) 13th
b 34th
¢l 12th
id) Nonc of these /1o & wif =
In a yow of children facirig North, Sonnm if
shifled 10 her right by four places Bevomes
sighteenth

of the row, is fifth to the left of Sonam. How
many children are there in the ow?
TR W WA wen o) uw sher F s
W wet @ epd o e ot ol fow ey o)
ofet o % 18 vl 0 s o vt ¥ e
LR RIS R S R e TR TR 2
o foel am §7
{a) 39

| 40
ol
il None of these /77 & wif =i »
Fiftesn students are siancing in horvizontal
row from left ta right. [f all the odd numbered
smdents in the row are shifted 10 successive
odd-numbered positions, what will be the po-
=ithors of Soaam wio wies 7th from the keft end

inthc-mlmuam

wire v ure e v F e o o g 2wl e
o et ey g ) ) W) e T s o
el o st W fom e o e o o o o
DR R R R e R R LR RS DR
&) Bth from the left end

T owm ool & g

{bj ?th from the right ¢ad

o
(ci  8th from the right end
m

fram the right =nd of the row.
Anjuman, who s fifteenth from the left end

15.

i6.

17.

18,

Jnw rew of girds, Priyankat and Deepa X
the ninth place from the right end and tenth
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In a raw at 5 bus stop, Amit 18 7th from the
et and Prakash is Mh from the right. Both
of them Intevchange their positions and thus
Amit Becomes |ith frem the left | How mony
people are there In that row?

UF am T wE Thw #, sfon o @ 7 0 e
o o % o9 o wps v ¥ 0d 3 a0 W
v w1 e few by ave sty on W 1y e
ot w3 o o Tl i &2

(®) 20 ) 14

{o] 21 i) 14

In & queue of children, lovely is Gtk from the
left and Riva 1s sixth from the right. When
they interchange their places among them.
selves, Lovely becomes tsirteenth from the
left, Then, what will be Riya's position from
the right? _ |

woed o wx wan o oredt wrf o sty ot fom
o wl f1owy % vk v ot ey o weerh £
ot W st ® oAl v ownd &) o o e @ fer
&1 v o)
{a) i5th

. (b} 14th
{¢) 9th

() Sth
Gecupy

place from the Jefl end respectively. [f they
mterchange thewr places, Privanka and Deepa
aceupy Seventesnth place from the right and
elghleenth place from the lelt respectively.
how many girls are there in the row? '

wefes oF v v 9, fuver ofr S e ofed
o 5 N sfy ey it W o e v 6 e 8 s
s it g o womt @ fa sl dre v

L wr aht wf i R veEred v W
R Wi i £

o) 27

b 25

{c) 26

Wl Data inadequate / W%t wvats #

Ing queue of girls, Lovely s 8th from the right
end und Khusbu is 12th from the Jeft. When
Lovely and Khuabu interchange their posi-
tions, then Khusbu becomes 218t from the
16l Which of the fallowing will be Lavely's po-
sition from the right?
eteal o v w o el wu wee o A ol e
we o6 8§ 12 W twpe v Ry we sevdt ol npry sewt
v 4 strw 6 o AR 8w gy g st o 20 o
v it &, Seeaferfen o v oS- od A e oW
o vy?

(o) st

bl 5th

{c] 17th

i@ Con't be determined ) fodfon o form w swn



19,

21

In aclass rear, Rupesh 1a 6th from the top and
Harish is 13" from the bottom. Manish is9
ranks below Rupesh and 18 ranks above
HL::m?h How many students are there in the
clogs

wE W ¥ 3 A et v 8 o v e # obi el
A 1398 w b wdn e A o te e f o
rim 8 18 % 3w fwe o fert wm )
(n) 45
(b 43
{cl 46
id) None of these/s78 @ %% 0
A nnd B study in & clnss. In o teat, A has
seoured more markn than B, B's rank is
cleventh from the top among all the atudents
m the class while rank of A is better than 24
students. Which of the following is definitely
true? '
A ¥ B uw wwr # oyt frow 2 A A 4B W e
% ey fest wdt wedt € B W e it w e
£ wafs A %Y ¥ 24wl § e &) St o 6
W m fafrey w7 8 = £
{8) A stood first in the test
A, T2 o e A
(bl There is atleast one student between A
and B Lo the rank bist
Yo o) et 9 A e B ey w3 0w
¢
{ci The total number of studeat cunnot
exceed by 34
wodl w7 wom 3490 whee o 1 ok
(€ The minimum number of ntudents & 28
il ) sper stom 25 8
Among Q, P, L, M and N, cach scores different
marka. P scares more than only L and N and
leas ﬂt(h:n M and Q. Who scores the highesr
marks

Q.8 L, M s o 0 wdw fass fa stwd w1 o
woh 1, e Lol N 0 sfew 3y are woow # ol
M s ¢ o wa S o won # wes o sre v
@ w7

(@) Q

b M

el N

{dl Noneof these /79 3 51

There ave five baoks.J, K, ¥, W and X pinced on
a table Y5 placed just beloav J, W is placed
just above X, and K 15 placed below Y and X.
Which of the following baoks touches the
surface of the table?

23.
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J, K, ¥, Wi X e vt e e 21y, 0 e
dohd W X Aot & g Yol X
W A vt &) ey gomed @ o Wi ol peerw R

=) s ogh 27
ay W m X
) K iy J

In a family of 6 members A, B, C, P, Qand R
R, father of B 15 clder than P, A is younger
than only three members of the family. Q,

wife of B is elder than €, who is not the young-
est, P is second eldest Who is third eldest
amaong them?

6wl A B, C, P, QiR % i §R W, BW
from & we Pt w0 A P e o oy el
wzhQwRs v b cdwd f o wd
al &1 P, W wx W oge ey w e W e e
PR R R N N

a) R 4 Q

icf B idy €

Among 6 peraons, Ravi is elder than Maokan bat
vounger than Kohit. Arpst is elder than only 1
persony, Sachin is yournger than Deepalk, who is

- thind eldest among them while Mohan is not the

yvoungest. I they are arvanged in deacending
arder of thew age then how many persony are
vetween Rohut and Sachin?

G b of 1ty st @ v & ofeer vifen @ o
1 wftm won ow sfey @ wo b s dvs q e
¥ om ot & v wd 0 R wey ar # weiE e me
i 8 ¥l o Tt wy ¥ R e we A
epifien few went @ ok afen sbe afen of oron fet

. L AUR )
{8) One [ u% &) Twe /9D
{c] Three / %3 {d} Pour/ W

In a row of people Virat's rank is th from the left
and Anushka's rank is 15th from the left. 1§ 4
boys are to the loft of Virat and 14 boys are to the
rlght of Virat, 7 gir¥s are 10 the keft of Anushka and
15 girls are to the right of Anushks then
wired Wt P of By e sare wrd e ol g o ot
sVl W o T owd sk w o o B ol g o
for w wf sm # i 14 e P ¥ o i ¥
7 vt sepsa % o sE € s s e ST
w of st
()  How many praple are theve in the row? (if
Virat is n boy and Anunhkaua&ﬂb

Wi o foowt v &7 (e e ow g
)
[a) 40 o) 3¢ (¢} 42

[d) None of these / 753 1 w3 =¥

$anking Yest | Then da
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i) How many boys and girls are there in be- iv) How many boys are to the left of
tween Virat and Anushka? Anusghka?
Pz alr s F ave fend mew s st W e e et g 7
wxfgal &) fa) 8 ®) 7
(a} < grrls and 2 boys [c) @ iy 6
4 ety ofr 2 mes v} When both of them interchange there po-
b 4 boysand 3 girls sition then what is the position of
4z o 3wt Anushia from the rght?
(3 A giclsnnd 3 boye w0 Y e o gead v ok e 04 ot arper
4*'!"‘*3"'!'* vwmimwm:
 Jgskision @ 36 g
3 wrfeni 3
iii) How many girla are o the right of Virnt?
e % o aw fawht oefedt #2
la} 20 & 19
(€ 2 fdy 13

JIHIT IR0

Ronkieg Tast | Thex 2y 36
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Sitting Arrangement J

The methed ef armanging disorgenized persons,

buginesamen, : sportamen, objects and information
in a certain order ina regular manner i called
‘meeting arrangement’. lo this type of questions
some individuals, groups of things are given and
their place is nlno given, You can find the location
ol'a person or object relative to another peron ar
object fram the right shd left.

Types of questions related to the meeting

ent

Type- 1 : Depending on the order of situng in

a vircular line or table

Type-2: Based on the order of sithing i a

straight line

Type-3: Based on the erder of autting in a

sgquare table,

Type-d: Bused on the seiting ordar in

parsllel rows:

uwETog S SaveTe, (R, weesd am
WEAET W AR AW W vw W # Y 6 e w1 9
fafy ¥ 'S wovem’ W o T T W T A A
wiiwr. wepsd ¥ Huw fn o 9@ § o e wem O
=0 ¥ ferd iy T wRy W T TR i W e Wy
wd sy v wf ol & ey owr wwR 1

¥7% wrem W WElEE SV W TR

YT 1 A T o 3 w331 @ ey oW

it

were ) oo vex € &3 € wy v arafta

¥ 1 WUwE W W AF ¥ BN W Wi

WHI- 4 1 vereen Nl F S 8 ww w wnafte

1. Five people are sitting in a row facing you, ¥
35 at the left of X, W is mitting at the right of
Z.V 18 sitting at the right of X and W j=z satting
atthe left of Y, If Zis sithing at otve cnd who
i5 in the middle?
5 ¥ o ot F e e s weow B F YLX
s wzs ISRV X SOV iAW
W,y % 90§ ol Z o Bt w3 0 v
LR R S 2

@V X (g Y Wz

2. Of the six members of a panel sitting 0 &
row. E is to the leit of B, But on the right of A
I 15 on the right of B but is on the left of G
who i3 to the left of C. Find the members
sitting right in the middle.
W mow R E B B WY
ttogawchd, Feidiurt ey Gu
Wt Ao hadsm b
{a) AE &) BF
el GC d) FG

3. Five students are sitting in a row. T Is on
the right of Z, M is on the left of Z but M ison
the rght of L, T is oo the left of Q who is
sitting fivet from the lefi?

fammw AR ATZEmM b 2%

ol s # e M, L= it s R0, Q & afar

s ety & e W €2

() Z Q

Chd I XN iy L

4 Al a cullege party five girls are siting in &
row. Pis to the left of Mand to right of O. R is
sitting to the right of N, but to tedt of O. Whn
iw sitring o the middle?
uw wivew wdf o iy =zfead ow e W @6
p, M % ot oir £ e O W o 3T bR, N o)
W #, fre O % St bower F W 4w b
sy O ) R
fe) P i M

5. Five birds are sitting ont a tree. The Pigeon
ig to the right of the Pacrot. The Sparrow is
above the Parrol. The Crow is next to the
Pigeon. The Crane is below the Crow. Which
bird is at the gentre?
ofa vt uw 9% o1 32 ) S A9 W 0 oaw
Tiw, 8 1w & W, wgm R s b, W
umtm‘nnww:ﬂih

(&) Crow /¥ M Plgeon /sy
(¢] Parros/#m dy Sparrow /™

g

Soing Arongement | Hae sw
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Six friends A, B, £, D, E and F are sitting in a
row foving East. 'C' is between ‘A’ and 'E'L B
18 just tothe rght of 'E' but leftof 'TF. 'F" 8 not
af the right end. Wha is between 'B' and 'C%
w-fig A, B, C, 0, Eaw ¢ ow e @ 5d 51 50
mEw EZAC ANET W £ B, Ew pa T
tiegpsw i F, s s @b
W B C % uex Ff vy £7

la) A iy D

el E d) F

Six friends A, B, ¢ |, Dand E are sitting in a
row facing Egst, C js belween A and E. 8 1s
Just to the right of E but left of D. F is not at
the right end. Who is at the left end?

w: A, B, C, D, v £ ow 3wy of 9 o) s
sEBHCAIET W B ER praTiw i
FRpsdihF e mewimta
o0 wn w wH =@

&) A m F

e € o)y @

Six frende A, B, C, D, Eand F ere sitturgs ln

-arow facing East, Cis between Aund E B is

just to the right of E but left of D, F is oot at
the right end, Who is at the right end?

8- 3 A B, C, D EAF ow ¥ 4 o 7 s

ey 82 0 ATE W Ao B B EW e
# ey D% W & E M o 0ty o o e b

W oo owr W s
{o) D ®) T
lel E dy <

Six frienda A, B, C, D, ¥ and P aee sitting in
a row facing Kast, Cis berween A'and K. B s
just to the right of E but left of 1L F 1= not at
the right end. Who is to the left of A?
WA B, C, 0, v foow s ® pf o am
o w32 0, ATEW 59 &1 0, E¥ = O
ifqur'ﬁ"fl F,oaan e smd a0 40t
AT WE A 8

o) E b C

o) D i) F

Six friends A, B, C, D, £ and F are sitting In
arow facing East, C (s between 'A'and 'K’ ‘B
is just to the right of 'E' but left of ‘D' 'F' is
not at the nght end. How many person are
1o the right ol 'E?

w2 A, B, C, D, En Faw viwn o pi Wt s
guw 22 C, AYET w= b B, E® wada
thpes s rdiord g 2 b
M E+ v faas wim 33 £

(&) 1 ) 2

o 3 ) 4

secting Arongamerr | J4w s
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Five friends are sitting in o row facing snuth.
Here Mohan ig between Balu and Raju and
Raju is to the immediate right of Fraveen
and Amith is to the right of Balu. Whao iz in
extreme right end?

¥ foy wivm Wi st e w2 R et TR, W
nmy o i ooy oy wie ¥ ow e & e
afm, s fihafimamdsa @b
{a) Amith/#Rm

(b) Balu /%

{c] Praveen /59

K Mohan/9ws

There are five buses M, N, O, P and £} in a row
on a ruad. Bus M is standing at the front and Q
is standing at the back end Bus N stands
between M and O. Bus P stands between 0O
and Q. Which bus i5 in the middle of the five,
ot Wl M, N, 0, P Q ow W o wow aroud
£ wm M am o # n g, Fees e we bW,

M e O % v wgt fowa P, Ow Qo W et £
w12 30 W wer 9 12

a) M ty ™

] N iy O

Sncpirts are standing In such a way that thoy
form a ciecle, fHeing the centre, Subbais to
the left of Pappu, Revathi is botween Subbu
and Nishua, Aruna is between Pappu and
Keerthano. Wha is to the left of Pappu

o vexfwd] ow ww o s o w # T g
S W e ) asy, vy b8 an # bl e
Foon & o A ) wwwn, W W Wi & ae R T
w W oem oW B

() | b f

bl Kecrthana /%@

el Risha/fFw

€] Aruna/ W

Five girls are sitling in o row. Sudha is
altting next to Padma but not next 1o Tgtj.
Krishna is sitting pext 1o Rana who ie sitring
an the extreme left, Tapti is sitting on the
extreme right. No body ix sitling between
Padmia and Krishna. Who s sitting in the

middle?

e mxfydl v w4 @ oge | wm e 1
farsg woft 9 stk wdt &) pen, e A ol @ 0 T
st W fa b v, 98 W w §) v A g
TS b eRE IR P

{") Krishng /g™

bl Padma/%en

(€] Sudha/ya

K Taptifae



15, Seven porsons-A; B, C, D, E, F and G are
standing 'in o straight line,
&m ™A A, B, C. D, B, F ™ G 7% i tan &
wE &
D (s to the right of G.
N, G % 9% s #
¢ in between A and B,
CATE v i
¥ 1= between F and D
E.FAD¥ gu i
There are three persons:between G and B.
GmBtdmimm
Whe is on the extreme [eft?

o et v whe e #)2
=) G w) A
c) B i) D

16, There are five girla R.S.T.Pand Q sitting in

row facing North, T is sitting exoctly in middie

of the row, Q is sitting to the immediate right
and immediste left of P and T respectively. 8
is not aitting at the extrome end, who is
sitting third to the Jedt of B 7

wa = - RS, T, PAw Q # w an up,

1% TW Ve W @ g T w s 0 gl
T QWM PF TR TH A0 TH gF wW &0
#1 5w sffs wty oA S0 2R W

Wt vy woww &H i
) P ) Q
e 8 ) T .

Directions [Q. 17-20): Kead the fallowing
information carefully and answer the Questions
given below!

fdn (%, 17-20) Seafefagn wessh o) veme o when
sor 4 foy o we ® T Sfaw

P, QR 8 7T Vand W ave sitting around &
circle facing the centre: R is third to the rlght of
V. who i8 second to the right of P. T is second 1o
the left af ), who s second to the left of W, Vi
sitting between S and W.

P, O, R, S, T, v sfn w s % s gy wow ow
meftdB R vemwidmot ®p e onw
st T O msemt Wy ar s me
V, S st W % wiw = ko
17, Who is on the immediate left of R?

R W uwey wn v whe #2

fa) Q

ol 7

ol P

il Nomeof these [ o @ w1 ot

41
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18, Whe is third o the left of T?

T % W vt dme Wiy B2

sy P ) 8

fc] V iy W

Whe i sitting between T and V7

Ty i ént)

(8) Nane

b R

el

i) Nosme of these / o8 @ wil 7

Whe is sitting between R and W?

R bt w % e Wi o B

@ OnlyQ /v Q

{b) Onlyp /% p

] OnlyT ) %wmT

W) Nane of these / v % w1 ¥
Directions {Q. 21-23): Study the follawing
information corefully and anawer the guestions
ghven below:

19.

.,m'(u 21-23); Peetimiien wererh w) sam & afipy v
AN frg e o e it

AR C DY, Gand H ave sitting around &
wircle facing  the centre. [ is secand tn the Ieft
of 1, who is third 1o the left of A. B is fourth to
the rlght of C, whe ta the immedlate neighbour

of H, G i not # nelghbour of B or C. F is not &

hd@'botm.oiﬁ.‘

AJBTCIDIEDF. G #ftt H %= %% she oy firy
wur B tiD HE v gk, W
Asesuwidmadi B, C® ol W & W H W
Pz b Q. BwCcw g Y R P, B W
et avt £

21, In which of the following peirs is the first
person sitting (o the immediate right of the
second person?
frmfefagn & @ fwm g o e wfsy ot ey
% ey oy % im )

&) DG iy BE
el HB Ky G H
22. Who is third to the left of B?
B % wt % dwn v £
s © B
e F ) A

Soxing Arongement | Tae s
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23, What 1s F's position with respect to G2

GeEmsndrwmemsnad)

{a) Second towards left [/ 9® ST gun

bl Second towards right / of # gom

(€1 Third towards lell ) W 3w Swn

id) Third towards right / =8 st frea
Directions (Q. 24-26): Theee questions are hased
on the following infermation:
ol (W 24-26) 1 3 o faedefay wered o smefor By

Eight persona L, M, N, P, Q, R, S'and T are
silting around & cureular table facing the centre.
€} 35 not the neightour of Por B M is second to
the Teft of T and third to the right of P. R is third

1o e left of N. who is o the tmmediate left of T
L is second to the right of P.

a3 e L M, N, P, Q, R, ST W ) ant
Ty w7% o poen gx % il &2 % Q, P W R w1 g
w6, T ¥ e W) gwr o P o o e bR
NEw s dmE N R o e st b, oW
LLB R coR 8
24. Which of the follewing |5 definitely true?
Fafeiae ¥ § W = [fwma e 8 o= B
fa) Qis 10 the mmediawe right of 5.
Q. 5% wwon od § #
(bl Ris o the immediate cabe of P,
R, P& wom i W #
(el M {2 between N and Q.
M, N d Ent
i) Risberween Pand S
R Ppsisw dut
25 Who ia 1o the immediate right of T2
T W Uwey w9 W 8
fa) R b S
el N d)y 9
26, Who = to the immediate lolt of P?
P ¥ TR oW W W b
st 8 ) R
fc1 Q iy L
Directions (Q. 27-30): Study the following
nformation carefully and wngwer the guestions
wven below:
e (V. 27-30) ; fetfefisn wwdt &) vepis v
w2 fa fy e o F o dfan-

secting Arongamerr | J4w s
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Eight family members Dhruv, Garima,
Avinash, Varsha, Aakash, Deepti, Charu and
Moksh are sitting around & square table in such
a way that two persons sit on each of the four sides
of the table facing the centre, Members sitting
on apposite sides are exactly opposite each other.

Ankash and Garims are exactly opposite each
other, Deeptl s immediately right to Garima.
Dhruv and Moksh are sitting on the same side
Moksh 12 exactly opposite Avinash, who is to the
unmediate left of Varsha, Dhruv i towards right
of Deeprl.

ow Wt W oams wees yw, it sPer, w,
weem, e ww b e v vive dem # ol i e
o6 v § 00 =i o 1 s de fem & §) s
s 2 g o ow g o ds e £

s s ofen vw-qut & G wel b oo,
niom F wrm o B0 e ol ot o w42 &) ww,
st e umd #, o vl F e w8 g iy

8 = &

27, Which of the following statements is.
© | definitely truc?
frnffers o @ whrm wa fefeey o 3 o B2
) Chiaru by opposite Varsha,
wr T w
W] Deeptiis o the left of Garima,
it e = Wy &
le] Avinash is towards the right of Aakush.
st aren w orf st &
4« " Makel i shtting opposite Dhruy.
st g o et i b
28, Who ia sitting opposite Dhruv?
1 % ek whe e #2
{a) Charu /W= () Deepti / 9
fe] Varsha /" ) Moksh / W
29, Who Is altting opposite Deepti?
dftn W et Wi b #2
{a) Moksh / v
fbj Charu / e
fel Vargha j i
id] Charuor Varsha / WE @ o
3. Who is next to Varsha in anti-clockwise
direction?
wroed fom o vl o femom o £7
{8) Gartma / W (b} Avinash / s
le] Dhruv /W4 () Deepti ) s
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Analytical reasoning & a complex statement
thart displays ambiguous meaning even after it is
true, but it gets a compleiely clear meaning when
it ia represented In o hierarchical tabular or
logical approach.

Analytical reasoning consists of a set of
questions based on & set of seversl complex
gttuations. They contsin many types of
information, which are identified, divided into
several parts, to explain the meaning, which is
called ‘Conclusion’,

In the guestions asked under analytical
reasoning, we first identify the statement that
contains the most infermation. Alver thas, they

harmonize from one statemeont 1o anather and

soive the information given under the puzzio
separately,

Questons based on analytical reasoning can be
divicked into four parts.
fif based oo arrangement
(1) based on comparniecn
(137) Based on relgtionship and buziness
fiv]  baxed on position

Directions (Q. I to 3): Read the ilowing
information carefully and give the answers of the
givens gquestiong.

9 (v 1 @ 3 7%): F9 0 W W W .
wrpls s wewk for mm el o e iR

T. V., W, X, Y and Z live on & scparate floor
of an & ficors budlding. Ground floor is numbered
1, firet floor ia numbered 2 and ao on until the
topmest floor is numbered 6,

T, V, W, X, Y T8 Z % ¥ 780w W aem- s
wiws wt A £ Fw T o @ AT @ wiae e §)
O e | e S oane 2 s aoew e o o e
mar wwd wol) dfew W w6 b

There are two floars above the floor on which
X hves: T lives on an even numbered floor, Only
two persons lve between the floors on which T
and Y lwve, V lives on the foor which is
immediate above the floor on which 2 Lives.

Prvigergs et Tw 0@ W e W o

o w2 o sy g o B, A o8 wensg mieews
W WeE (rEmm R R W3 W e e a w we
£

Predwewr avvie F sea vt atey ffd ¥ wnw
TS W ¥ e a2 8 el W e 9 s
okt ¥ Pl qeaprey, wy sl 8 feuan wr gl sl =
fom wmn & f= ' feat W
= WY e w § el wEd afae wrerh we i
TR TV T W TR wR f wrwon st e
;thmvﬁmiﬂm-mmwm

e A R W S A w1 | SR e
e -
fll,
iy W =
T I A R L R LR L
fiv) el Svafm

 EXERCISE]

fa ST e & ed o D el ¥ T an
TN W WA W T & T o Y fae wfee m o
TR AE R A w i A s f m e w2z
e 2 vV wek owrs wwt W St o oo by
1. Who amuong the following lives on ground

floor?

Pt 4 & g w Wi oom 8

(AW Y
c1 2 13} Can t be determined/
faime a7 fom W www

2. W lives on which flanr?
AW freefifepy 8 & fpxy e e ooom B2
(A) First/quil B} Filth /vt
(€] Sixti/ =t
(D) Can't be determined /vl 38 S5 W 3w

Fuztos Tout | W00l wdes



3. Who among the following lives on the floor
which in the middle of the floor on which X
and V live?

Tom wiam w X 7 V el §, 55 S s W wiaem W

Femmm TR s b2
(ALY ) Z
(WY D) Can't be determined/

fipsaifrns sl fvem e e

Directions (Q. 4 to 11): Read 1he following
intormation carefully and give the angwers of the

given questions,
fadw (U4 B 11 9%) e i ot T ey

HITET WTR HN NS T F TR~

Eight persons from difierent banks viz. UCO
Bani, Syndicate Banle, Cansra Banl, PNB, Dena
Bank, Orfental Bank of Commerce, Indian Bank
and Bank of Maharashtrs sre ditting in two
parallel rows containing four peogle ¢ach, in such
a way that there is-an equal disionce botween
adjacent persons.

fafe= Wt 3 UCO ¥, ez S S0 S pNE,
i sttt % E T T W ol S aits o
& s wf ot il el O s el H g a g
o 3pre - O seRE o W EE T R

Inrow-1: A, B, Cand D are seated and sl of

them are facing south,In row-2: P, Q, Rund S are
seated and all of them wre facing narth,
Therefore, in the givensenting arrangement
cach member seated in a row laces another
member-of the other row. |All the information
given above does not necessanly represent the
order of seating as In the finalarrangement).

et 24 B, C v D BT s w dy efe o ol
o298 p, Q RAISET I A mfrm W A
itrey 1 g S wrven % e P F e o e
o A 3w e W A R (e A e s n o an
arewrl) st sevem S S04 # g A feefer sl )

1i) C =its aecond o right of the person from
Bank of Maharashtra, Ris an anmediate
nelghbor of the person who faces the person
from Bank of Maharashrra,

ChsyrwminErdwmemrwiahr
 witE % # 8 b feow dy § ot T e
win &

Paazies Tact | W wllum
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iii} Only one person sits between R and the
person from PNB, immediate neighbour of the
person rom PNB fxces the person [rom Canara
Banlk.

R PNE W iy ¥ v by v mfe 4y B, PR ¥ Wy
& &% onfe w1 worn S o ol Y i by

liti) The perzon froms UCO bank fuces the
peraon from Oriental Bank of Commerce, R 15
not fram Qrintal Bank of Commercee. P is not
from PNE. P does not face the person from Bank
ofMaharaahtra. '

UCO Fw % = w1 v siftoves &% % v ¥
i it v R R sifrovns $w wtw wooi ®9 1 P, PNB
i, P oy S o oo F ouf o) ke s By

v} Q faces the person from Dena Bank, The
one who faces 5 sits to the mmeditate left of A,

QW dy 3 G F =iw wt Ak Tme oy Sw ek,
wr A ¥ el w8 R by

[} B does nat sit at any of the extreme ends

‘o the line. The person from Bank of

Mharashtra does not face the person from
Syndiacate Bank.
B i P sty iy e k@ oty w4
wifs W Sy e S ok wiffs W sl &y
4. Which of the following is true regarding A?
AT i tpref d e v mwe b
A ,;‘3{:-9 c5om from UCO Banik faces A
UCO % % wifE %1 48 A 1 AW B
18) The person from Bunk of Malurshsia iz an
immedaiate neighbour of A
fesmr g w et \VTomE k)
|C) A fisces the person who sits second to nghtof R
Amfmwww Rt aRF R w st
ID) A is from Oriental Bank of Commerce
A ditrores Gw ooy s A
5 Who s seated between R and the person from
PNB?

R pNB® oy § o g b

(A) The person from Orlental Bank of
Commerce

sfeoarsy S st wTes Wy el

(L5 I} Q@ s



6. Who amongat the following sit at extreme
ends of the row?
M is TR T ¥ i w i g
(Al D and the person from PNB
D it PNB W
(B} The person from Indian Benk snd
UCOBank
fewd W e uco S & s
{C) The person from Dena Bank and P
Ze Gy wrvfy B2 p
(D} The persons from Syadicate Bank and D
frewz s wiwis i D
7. Who amongst the following facex the person
from Bank of Maharashtm?
farfetean & % fon it v e S sy s = =i
et
(A} The person from Indian Dank
e $x Wy efy
B P
R
(8] The person from Syndicats Bank
o v Wyl
8. Pis redated to Dena Bank in the same way an
B 15 related to PNB based on the given
arrgngement. To who amengse the ollowing
i D related to following the same pottern?

v SR W AN T PR AR A e

B W1 PNB % & 7 9 %7 o v g D W e
1 Fyoafrioey & 4 fpd I k)
{A) Syndicate Bank/fises &=
(B} Canara Bank/%m &%
{C) Bank of Maharsshtra /9% 507 s
i) Indian Bank /1w §w

9. Four of the fallowing fivé are alike in a
certain way based on the given sealing
arrangement and thus form a group, Which 1s
the vne that does not belong to that group?
TOE TR © W 3 ¥ R ¥ e et
iy & 8w el wen s £ rEien e O wmE e
b owr s - b rn e ol s b
{A} Canara Bank/¥wm ¥
(B R
{C1 Syndicate Bank/ v &%
D Q
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10. Who amongs! the following is from
SyndicateBank?
frefurfups & & o fendiln dw 4 4
14) C 8; R
e DA

11. C is from which of the following banks?
Chedefm A dfentu i)

(4] Dena Bank
oo b

18] Ortental Bank of Com
whrrern S are e

(C) UCO Bank / UCO %

(B} Canara Bank / Wan &%

Directions {Q. 12 to 16}: Read the following
Information carefully and give the answers of the
given questions,

8w (W 128 16 W) ¢ 102w il wr v
s W Sy ol vl o iR~

Four players, Atay, Babu, Chandu and Devi are
camping n four separate campsite E, P, G and H
(ot neceszarily in the samne order), On theae
four campsites “four lakes I,J, K and L are also

\an:natcd (not necessarily in the same order),

ioh are Iocated in four diffrrent states MP,
Mgalnnd Odlishe and Punjab (not necessaly in
the sume order).

g Pt e, wy, v w O W g, SRR E,
P, Gun H i sporss S & f v wn i A ode s
THF T T A Y B 1L, K v LA fem § e
e T v omE W o o W s e e MP,
e syt £ 0 svares o fy m R AW

I} Babaicampingon Lake K

T AFHEK R T b

(11) Clmpmtc H situated pn Lake J and located in

utwmm J 30 By T E fam
{11} In Lake I, the piayer |8 from Punjab end
CRIDPE in same state,
= 1 A frgrmd Same w farad & o s ot o o ey
b
Iv) Devi e on campaite .
ot
(v Ayay is campeng in Ocisha,
g dfemdd=m e by
12. Whare {s Babu ¢camplng?
e mdm e
(4) On campsite F /oo § %
[B) In MP/MP
(C) On Lake L/sw L, w0
() In Nognlond /=T 9

Fuzitos Tog | Vol ules
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13, If you arrange the players in alphabetical
order of according to alphabets, then the
correct ovder of the statea relared to them will
B
W S TR W N IR W Y SR W T
& oyytiay i &, ST st el W e -
(A} MP, Nagaland, Ponjeb, Odisha
MP, vy T, st

(B) Odisha, MP, Nagaiand, Punjab
oy, MP, wepfs, sam

(C) Punjab, MP, Nagaland, Odisha
w9, MP, Fowdry, sifem

(D) Nagaland, MP, Odigha, Punjab
14, Whose site is Luke 17
wre | fe e
(A} Cunpsite F/Fomms ¢
(B} Camp of Ajay /#we w ¥
{C) Camp in Odisha/ sfzm & ¥r
(13 Camp of Chandw /95 5 $0
15. Which of the following statemernt {2 true about
lake 17
FELTW AR YR =
(A} Chandu ia camping there
et mwt

(B} Devi is camping thers
i dmyrT

{C) This s In MP
mNPEY

(D] Ajay is camping there
CLaRu ko k 2k s

16. Which of the following cannot be determined on
the basis of the given information’?

T A w Sy W it W s A e
waem
tA) Inwhich state 15 the lake K located?
famomE@mK fem i
(B Who's on the campsite E?
temmE ke
(€1 Which cunpsite is theee in Pungab?
EECR R R o o
(D) Who is camping in Nagaland”
e & oy s owy o 2

Paazies Tact | VB sllum
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Directions {Q. 17 to 21): Read the following
infermation carefully and give the anawers of the
given questions,

Fedm (9. 17 921 w0) 84S of vl w s
HOE wTe 70 9% W F R e —

Eight firends A, B, C, I, E, F, G and H travelin
three different cass X, Y and Z (o different cities
Dethi, Chandigarh and Agra, in such.a way thait at
Jeant friends in a car,

Wt A B C, D, E, F, Gl 19 fy=)- sy wl)
X, ¥ 3 2 4+ o Fom ool a o) vty i oy
mmmr i s d e fsnnem§)

At least one female member in evesy car. D
travel to Delhi with G, but not in car Y, A travel with .
anly H in car Z but they are not traveling to
Chandigarh. C peither travel with D nor with E. F
and [} study in same women college. H, B and G
study in sama hoys college.

o W f e sy s w8, D, G 3 e
Tt wYmIiwiATT H o 23
W T Ry o S, C, DWE % v g W
BF W Lo o o sfeasd ¥ Wi & s Rl B Y

‘GO ¥ v e o e S s £
17. Whick among the following represents the
group of femnles?

A RTEnt F Ty o e A e

L 7

() ¥, C.A 18 F.G A

1€} Dt inadequate f FRISOTS

(Of Noric uf these /77 & wil 3wt
18, Whirh of the following combimation 15 correct?

Fyefafum 2 & ¥v = S a8

(4) Delbl-X-C/fr7=2.X-C

(B) Chandigarh-X.-F/9¥my-X.P

(C) Agra-Z-E/WW-Z-E

(13 None of (hese /78 3w 70
19, In which four friends are traveiling?

wd B an fenan gm0 H)

(A) XorZ/XmzZ (B} Y

(C) Xor Y/XmY

(D) None of these/vH # v =
20. In which of the followang car Cis travelling?

Eeien e Rl LR pE bk 2R

(A) X By

(C) Esther Xor /W@ X WY

0} Date inadequate /S0 3w



21, Which car's pasas¢ngers are traveling to

Chandigarh?
frewn ¥ T W wm w2
(ALY I X

{C) Either XorY/mAXWY

(D) Date inndequate /T2 FTHH

Directions {Q. 22 to 24): Read the following
mformation carefully and give the anawers of the
given guestions.

falw (%2270 24 7% ) = ) N Pt W) Tl
TR TR AN W YA W S -

Lalir, Manoj, Narendra, Om and Peter are flve
friends, By professiony they are Doctor, CA,
Engneer, ddvocate and Professor, not necessarily
in the same order, Each of them plays different
instruments, such as Tabla, Sitar, Sared, Violin
and Harmonium, not neccasarily in the samo
order, Each of them paioted their houscs with
different colours, such as Red, Black, Purple, Bhue
and Green, not necessarily in the same order: One

person related to only one profession, Kach ol them

plays only one ingtrument snd likes only one
colour,

e, whw e Smm g s bW at e S
U, TR, Wz v drn R, we e el fe G ey
AW, ol iy S-S sy o w8 fy,
TR, A, W PHER | T A W e e = T !

., v, S, S T e e W)

zrogfagy ¥ | S v e 57 e B b dr e (o g
L1

Mano) ts neither an englneer nor a doctor,
netther he plays Violin or Tabla and also he does
not Biack colour, The person who is doctor, plays
Sitar and likes green colour: Peter is an advocate,
likes red colour but he does not play Tablaor Sared.
Om plays Violin and likes purpie colour. Narendra
iis 4 CA nnd painted his house with black colour.

b 4 wre bR flfen & A e e e
A AT, 7 W e O T £ W ) e e
s S e v R S T T S R ey
T & o S R e TR T S e
B o S Oy s ooty witn, R s e s T
A T =
22, Which eolor does Manoj like?

o . Ty e wem k7

(Al Black/™m  [B) Green /™0
iC) Blue /% (D) Ree /o

A7
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23, Which instrument daes peter play®
T W W W T v 7
(A) Sared/8f  [B) Harmooium /s
(C) Tabla/@% (D} Sitar/ fwme

24, Who nmong the following is a Prefessor?

teoifmfom & & v wrdEET
(A) Manoj/FT8 (B} Narendea /503
(C) Peter/¥rt  |D} Lulit/edfen

Directions {Q. 28 to 28): Reud the following
imformation carelully and give the angwers of the
given questions,

fadw (v, 25 R 28 W) (TG WEE W
FUTTTWTH WU MR GV F T e -

P, Q. R, 5, Tand Vlive on & separste floor of an
6-floors building,. Ground floor is numbered I, first
floor 15 numbered 2 and =0 on until the topmast
fioar is numbered 6.

PQ, R, S, T 97 VU B: WA TAER F 35
=wfis i SAwi s ew v somtogvrEw 1 Y aEw
FCE 2, 9T SO PR A S e e e
o G b

Q lives on an even numbered floot. Only two
persena lve betwe=n the floors on which Q and V
five. 3 lives on the floor which is just above 10 the
floor of R. S dees niog Tive on odd numbered floor. S
dov:s riat live an the foor which u;juat abave to the
ﬂoor of T P dg()cs not live on the fleor which s juat
above ar héinm-m'the floor of T, I* doea nat five on
the ground fleor, Lo foor no. 1

Q T T A T R Qw v
Boork dra e v opd B fam sfen w R oo kS w0l
s F A v e b S s s et st vl ven
b FEuwtaw Tem 5 5 OnTn S w1 W e
R ¥ fen uivm W T e B 308 v e W uwes A
W W P T, P e wae e wes
1, ST ey
25, Wha among the following Iive 5 on the floor on
which Q and V live?

et Qavatt ot S da v st o

frieimmE s v ww t)
A R.S B PR
(Ci 8, T

(D) Can't he determined /oo aff S w wem

Fuzitos Tog | Vol ules
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26 Whe amang the following iives on floor no, 57

frofhm & Svmshm ey s wom ¥
TR By @
v

(D) Can't he determined (Frdon o fem at e
27, On which floor T lives?

T d A fsu s ot
(A} Third /MW (B Filth /90
{C) First /903

(D) Can't be determined /fasdfon s fom w=wm
28, How many persons live on the floor sbove to the

floor of #77

oty o Pom s W S W e sm o

t 3

(A} Nonc/w wff |8y One/vw

{C) Two/M

(D} Can’t be determined/ fefits 45t fem w awm

Directions (Q. 29 to 33): Read the following
information carefully and give the anssers of the

given
questions,

f3tm (7. 29 |33 oK) : T3 i www W] ST
Moy e fe ol gl ff we ot -

A, B, C, D, E, Fand G scated In a row facing
north on vquadistance (not neceesarily in the
same order). Each one of them have different
professlen Actor, Reporter, Doctor, Engineer,
Advocate, Teacher and Painter. not necessarily in
the same order. O sits Glth to lelt of C. Reporter sits
third to the righr of G, ¥ =its fifth to the right of A
F sita second to the left of B. Enginver sits second
10 the left of D, Only three persong sit between
Engineer and Artist. Doctor gits immediate left of
Engineer. Advoctae sits immediate right of
Teacher,

A, B.C, D, E, F 37 G T ¥ 37 59 %78 5% 3
T 4 93§ Py o spraw Al E e e A ad o ey
wErE g & 2w e e s seve, fder,
T, T, TR, T 3 Frwew § wran e s
FrEmwmIn g, CcE W dw b En G et
Mund i, A od dad b g, B wd ot it D

Paazies Tact | W wllum
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g ) poittenr oy faran o e e iy vl )
=t pitiess @ gpess wd By ol fnes @ ol by
29. What is the profession of A7
AmmrEn vt
(Al Palster/Frswm (Bf Doctor /her
(C) Teacher/es (D) Artist) 5w
30. As per the given arrangement, Which of the
fnllowing statement 13 true,
feu vy spsfemmon & wrga, fre 4 & oy o ww
| &)
(Al Fisa Teacher/F UW fnaa ¥
(B} Fsits third to the -t of E/F, E¥ wid thr i
{C) Advocate sits in the middie of tThe row/
TR R A TF S T3 b
() Nane of these fowie § R w3 =
31, Who among the following is an Actor?
e g8 = wiyvme?
AR B ¥
R (% e D) B
32. What iz the potion of D with respect to the
Artist?
frven # wod 8 Do ey wm ¥ )
(A} Third (¢ the left /ae Wy W
(B] Second to the right /i ¥ gon
(CY PRI the right /79 %1 W
(D) Second to the left/wd % g0
33. On the basis of the sitling srrangement,
thres of the following four are somehow
simoilar, so they form & group. Which one of the
following does not belong In this group?
W3 = ogwon ¥ s 57 Fesderfng wr § 9 At fe
wwr ww ww §, e v ow asp e B fee A
wr ¥ b oy @ ol a2
1Al AED B DEC
1C) GDB D) BFC
Directions (Q. 34 1o 335); Read the following
infarmation carefully snd give the answers of the'
given questions,
389 (W, 34 B35 W% ) 77 T wTEE W P
SR TR =Y R g ¥ v e -



Seven friends A, B. C, D, E, G and [ study in
three different classes Sth, 6th and Tthe Not less
than two friends study in one class. Each friend
likes & different subjeet- Flistory, Civies, English,
Marathi, Hindl, Math and Economics, but not
nocessardy in the same order.

amfm A, B, C, D, E, G | = fafw= wamsit 547,
it R A sE i v v d g A vR e B v
firs 30 sevsy o et fe ¥, T ofes efte e,
WA, wra e, wom e v Afes awvas s e
s

A liles Muth and studies in cluss 5th with
his friend who likes Marathi. | studies with two
friends. The two friends who study with 1, likes
languages (Here, langueges means-Hindl, Engliah
anr Marathi), D studics in class 6th-only with his
feiend but does not like Civics, E studivs with only
one frlend, The person who likes History, does not

study in class Sth or 68, E does not sny AnguRge.

C does not like English, Hing: or Civics.

A WY ey v 8 oy et 5 0 opn b et o

Firn Wl 3 Pardy ool e B0 72 aen Tl o s g
R vun vt s e e b (ol e W@
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— e WYL

e ety sl o S B D, ss Adwmaw e
sy g & vy s e e sl B E e o, iy
o b iw, e v R W s w6 = N
T E RS R W C W S, e e e
v g Wi by

34. Which of the tollowing options represents favonite
subject and class of E?

a5,

=3 oy et § @ %W e B ¥ v e
= WA W wrivn wow ¥
(A| Civice and Class 7th /7 miw wwes qm 75
(8] Economics and Class Sth/ s mm 5
{C) Cavies and Class 6Gth /e vms aw oth
() History and Class 6th /thes me ot
Which among the following |8 the favorite
subgect of [7
= 3 & 1wy wren e wimew
(A Hilszory/ 1w
(B) Civies/3ris wwa

(€) Marathi /vl

(D) Econemicy / Svney

IR I

Fuzitos Tog | Vol ules
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~Mathematical Equations

e
o -
_——

Unuler this chapter, we solve the equation
by converting the symbols containing the real
mathematical letters of the given mathematical
equation according to the instructions given in
the question.

In the examinatlon, a mathematical
equation consisting of " 47" 7, "=t 0 ap TP or
"Q" or any olther such sign is given. Condidates
have te solve the equation by changing the
symbuls according to the instructsons given in the
question.

A very genernl male works in solving theae
tyg)cs of queations, which'is called BOUDMAS This
rule te used in moat of the questione. Thie rule 15
the following:

1 BooaBrada (@) O » 0!
{5) D —s ivision () M —— Muhtiphesion
v) Aer Addstion () S o Subtraction
This rule is called BODRAS, A rule i which

we learn the order of solving mathematical

equations L.e. first the "Bracket” then "Division .
then “Multipbication® then *Addition” aml lastly
“Subtration” will e dane
Calculationa become easy and - simple by the
mrulc ?\thODMAS. so the candidute should remem-
1 this,

T R SR R T T S A e
A e e Pl ) wvs 4 oo el wfiaddy ek
U v W) e wT €y

AR e ) A e s
il & e it wrww e wmw B 1 ertied ol w4 ey,
futymyar faad ®) sfreftey wod 908 g stww %) o won
mt

TV TR R W W g A g w v T
s e B IAE BONMAS % fr e #1o9y Brew o9 et
& sfwwy =y wpw o ) W e e e

) B—sBumker () O—s0f
{41) D Daviaion  (iv) M—— Mulliglieation
) A Addition (W) S —3 Subtraction

1 B w1 BODMAS fem e |, faed g v
WOEE WO R W Sy € SR weE  Bracket T R
OF W BT Division WY M7 Multiplication #1' . 9
‘Addigan W S = Subtucnen W 79 o #

BODMAS ¥ 573 g et o0 w8 s 7w &
WOy W o) e T e e

e B ¥ »

Y 3 1G4
EXERCISE ] e et

Directions (Q. 1 to 28): Following equations are
solved an the bosis of a certaln pattern. Using
the same pattern solve the unsolved equation and
find the answer from the given altermitives,
fdn 9. 1-28); fry 8 e B i v
fat m § v W T wT aEnE ST S
&1 v fra om fewsw 9 2 9t favm 10
L 675=9]
247=169
10=7T=211
1= 10=?
lay 331 993
{c} 678 B45
2. 10-3=12
12-%4 =13,
14 -5=14,
16-6=7
a) 10
lci 16

® 15
d) 1%

Moremotcal Fauctizns | il lved

3 a=14(290) 15,

b=16(330) 17,

¢ =18 (2} 19

la) 300 hy 270

el 170 fd) 370
4. 324 « 289 - 35,

441 x 484 « 43,

625 = 200 = 45,

256 x 729 =7

{a) 33 B as

e 43 )y 34
5. 16+4=74

21-7-43

81+9=99

55+ 5«7

(a) 110 {b) 1001

ey 1 ) 1011



10,

L

12

13,

14.

876 = 12,
864 - 81,
895=122,
B24 -7

fa) 14

ci 48

=0,

3=-3,

4=h,

5=9

7%

o) 18

lc) 48
246"81
G4« 0

327 =6
423=72

@) 10

el B
Tx6=4=674,
8% 5%3«3583%
Px]22=?
la) 242

{cl 192
Gx8=T=24
2xT 3 =14,
2x 1 8Q=7
(a) 10

@ 11

41 274 34 =201,
19 -63 +48 =031,

5] -35463=2
&) 79

(c)] 941
4-5-1 =514,
3-5-6 =563,
O-6-8=7
a) GEO

ol 068
72%19=23,
13%48=35
16 % 41 ~18
39%22=7

(ay 31

{el 21
IE3I*3~3
A8 04 * A= 36,
D1 13> 2= 2
a) 4

{ei 10

gz

EZ

E®

gz

EZ

12
16.

T2¢
462

414
189

860
506

£l

15,

16.

18,

1%

21,
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4* 5% 3 =38000
24 3%.2- 36,
4*3%3=7
(n) 432

fel 36

23405 56,
6@ 7T =26,
S4md =18,
Ts =2 )
=) 26 ity 24
fe] 19 fd) 52
75526 =4,

60853 -7,

B2546 -7

(a) 62 4 56
fe) O dy @t
10825=8,

12825 =10,

14§53 ~7

{a) 13 b 15
) 11 (dy @
149,32 = 16,
52'W 30 - 72,

35"’\: I“ -2

{8 39 by 29
el 18
QT -4,
Bl = 10,
Tana =46,
A=
a) 1 3s
f£]-20". . 12

G A "' 83? ;.'SGD

TPAXBIF=44,

1RSI RS

a) 29 ) 32

fc) 47 () 24

12420 16,

21 {35) 28,

then what is value of A in 48 (80} A?
W48 (H0] A ¥ AW T Em et

{b) 1728
{d) 124

EZ

(8) 50 b 56
fc] 64 ) 72
72844 =60,
SAS*7=32
G*15%2=?

(s} 18 k) 16
fc) 128 {d) 130
34 < 65 = 42,

31-22=07

0-15=-7

{a} 10 (b} 0%
() 38 (d) &3

Mamematicat tquatiens | il ¥l el
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25, 19 x 96 = 285,
23 % 51 = 138,
A2x 14 =2

{a) 210 ) 168

{cl 56

26, 92+ 65 =484,
13+ 81 = 169,
U247
(&} 00
(c] 289

27 31 %60~ 137,
20 %22~ 136,
33x25=7
(&) 83
(b} 8BS
fer11
id) 231

Moramotcol Fauctizas | Wil ilived

{d) 65

(b} 625
(d} 361

28, 55x55=400,
2% 19 =225,
69 x 51 =411,
65 ¥ 23 =7
{a} 3025
{u) 256

a9, A=12(390) B,

B=71134) 5,
C=5(?)12
(=) 299
{c) 279

a0, A=S51(714) 14,
B=61(915) 15,
C=71(1136) 16,
D=81(2)17
fa) 1377
{c] 1356

IR IR0
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(b} 121
id} 841

{b) 289
{d} 280

b} 1378
{d) 1336
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In this chaprer, some numbers i quostions
wre represented with the help of a diagram,,
geametric equation or table based on a particular
logical and mathematical calculation. Numbers
divided into different groups have a missing
number, which you have o find out from the given
alternatives. In other words, there 15 & number
in one or more diagrams that ia given in the
guestion . A blank space is lelt in the form of a
question mark [?) at any one place in the glven
dingrama. You have to find the number that comes
in place ol the question muck (V) o tee given
nlternatives,

The guestions under this can be based on the

following.
.  Addition
2, Subtraction
3. Muitiplication
4,  Division
5, Square
6. Cube
T Mix

Therefore, the candidate shonld remember
these 7 sctivities as the guestion s solved by any
one of these 7 ncrivities,

TR N ¥ A T ¥ WS Seant W) e fom
i ot adtpily e & s e el ot faa, iy
wryfn  miere & viveton feow v A & e s e
3 35 wwesll & 1w qwn o e b Fa@ et e
e R T TR g v S, T o T A
ot ovdl & v w v ) afaw el 8 wu dowd @ vt il
£ fm . w1 aeyE @ fe ow pew 9 TTeRew
fa ( 7)) & w4 ow fren v Ry fow o b))
FEOUEE THE L 1) W TS AT W Ty A T e
S fam wraem ky

TR SRR AR e gy T W e w o £

EXERCISE

Directions (Q. 1 ~ 50): Find the missing number
from the given responses,
Pem (w 1-50): B o wed F ape s q )

1. 4. 9 2

3 8 7

9 X r

[a) & bl &

e} 13 g 14
! 5 4 9

6 3 P

7 2 4

65 20 45

[al 4 by 2

¢} 3 (CIN
3. 9 ¢ 8

50 8 4

1 o
=
: ™
‘ e
$ L 2
[ b )
r | el
e el ot @ 7 fooand] Wt e Toew e it o
vt HE i g m it
4 2
I 2 7
al 4 by 7
lef 3 (d) 6
5 3 2 11 5
& 7 10 a
) 9 1£4] 7
7 5 7 4
) 12 ®) 14
le} 13 () B
5 6 1815
32 s
4 3 7
8 279
R 2 ) 4
lel 3 dy 5




i

11.

12,

13,

(a} 6750
ey 1380
i1 6
17 12

R

Misting Numbor | 1 Wi

{f
i

{bl
1

b
il

i
i)

(bl
)

23

73

54

14,

15

16.

M.

19,

20.

e

2316 |16

(&) 42
€ 2

17|28

145

3| ?

217111

423

(a) 39
fej 146

4

43

104 | ?

103 |78

{4} 38
() 54

21| 2

(a) 377
(&) 336

43 |11

1210

57 111

faj ©
€ 2

I

| <

Ia} 1%
(€) 24

—~f SAFALTA.COM

(bl
el

)
)

oI

i€l

bl
il

{bi
il
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76
333

a7
78

351

306

16
31
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BE
sy PRI
(a] &4 thl 109 fa) 3 «:| 10
() 94 W74 - ) 15 60
DDE BRERES
R BN
#) 7 tbn -xz fa] &0 ¢m 62
€y 12 (e} 64 1t
‘ 31
RRXN 5B
@l i 5 e g 0. 5%
' @ , : C ) Q\ /SD O
@@@@ 23 ) B3 Gj &
i W : dk R
: (n) 42 bl 56
E:)’ ig ::: :?) < (e 72 i 18
R TP
66 bé & = (a] 100 A (b, 7%
’ ()25 50
@ a6 < .mm\’} \/ \/
<9
X GRH o' v
(a2} 36 b 48 &y 103 éﬁl 75
fcy 38 i@ 30 15. 24. 30 30 4343 W2
ZRIRLS TT1
(n} 9% th) 80 fa) 13 (b 21
(¢} 89 Wy 18 e} 19 d) 9

) M'@"“@Q‘% 3. g5 13 17 1@ 15 e
Y'Y

S5 05523 (528 & e A
(a} O ) 10 (a) 210 225
¢y 2.5 @ 20 (e} 196 fdl 421

55 Mitzing Numiet | SV N
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a7

1 10 g

a8,

39,

40,

(o] 32
fey 12

Migting Numbor | 10 Wiew

I3 1M 9opm a2

il
il

ib)
il

b

@ o

)
!

bl

bl
i

285
~

ia
12

336
420

ad.

45,

A7,

4 SAFALTA.COM

fa) 12 b 7

(¢) 16 W 14
‘ -

x-@—s 1é—4 3-&}5
2 3 -

fa) 68 b 65

(e} %6 @l 52

A rrenes b MW TN

What = the number mssing Som the Thind 1ampget?

#at goren f o W e e

15

>

147
[a} 45 (bl 48
fey 51 ) 54

a 23) ‘

oS o oy
(&) 8 7
fo) L0 e 12

A8 N !
WETSHR
"‘{\?\“mo[\
3 5 Kl

40.

S0

faj 21 b 32
[y 2z il 24

6 3 |
VENANAN

T 9 5 3 9 o

(n}] 11 ) 10
¢y 15 20
A X £
) 5 o
(a] 32 b 22
¢y 320 W 18
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At present, as per the changing pature of
competitive examinations, letter series test' is
a fundamental part of competitive exams, In this
type of examination, a series of letters Is given,
whose letters change in a particular order” One
or more terms are mussing m the series. The
examince hus to study that particular order and
fill the missing place tn the category with the
given options.

v 3 STl T F W T e F SR
* W IR TR IaT) wiTErsd W oW e wnd o
TET W] VO S A W U e W e e ae
% P Fw A §) g T W O e w
i &) ftand W fad e W avres wTE W e
e mwm ity

Directions (Q. 1-50): In cuch of the following
letter series, some of the letiers are misaing
which are given in that order ns one of the
aftenatives below it. Chaose the cotreet
allernstve,

feler (9. 1-50): i et wr ow segen fear € Fenl

w s wpe &) e fen o fewe o @ o Beess P -

W gyed W T Wl
1. --aba--ba-ab
) ebbba ) abbab
¢l baabb fd) bbaba
2. ab---b-bbau-
o} abaab ®) abdab
c) baaab iy babba
3. -bar-aab-a-a
&) wabb ) asbi
) abad ) baab
4. --babbba- u--
gy ababb &) baaab
el bbaba [y babbb
5 am-ab--paa-a
) waaab B aabb
fc) abad d) baaa
G a-bbe-aab-geca-bbee
(&) bach W) acbsa
{cl mbba ) cabu
7. ab-uu-bbb-susa-bbba
&) wbba B baab
{c) aarb d) abab

8 be-b-c-b-cech

i) vbeb b} bbeb
ic] ¢bhbe [} behe
9 abb-boa-n-bab-ahbn
la) abba iy abab
fc] tcac ) anbb
10, abea-braab-ca-bbe-a
la) ccaa b) bbaa
{c) abac df abba

I hbeashecon-nc-n-ch
{a). abeba it acbab
(chr\{{.e\s-o&b;,-i [} beadb

12: -bec-nt-anbb-ab-cc

ja) aabea b abaca
vl bacahb {d) becaca
13. a-beecb-ca-ecca-baab-¢
fa) ababo ) abcaa
€] acecab [} bacaa

14 ab-ga-caab-c-abh-c

fa) bhcan 3 behen
vl eabac f) cbbar
15. ¢-baa-ncu-cocad-acac-hHea
{a) scbuy Iy Lbcua
{r] becoab ) chaae
16 c-bbb--abbbb-abbb-
n) anbhch B abced
{¢) sbach [}y bechh
17, b-abbec-bbeca-boabb-ab
@) ncaa b} acba
el cabe (y cace

Letter Sotias | WWT e
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1§, ac-cad-vaca-aba-acac
la) aach ) acbe
el babh [d) bebb
19, ‘acen-cecca-pecec-nan
|a) acca B caan
ol coaa iy canc
20, «be--bb-nabc
|n) renc ) babn
fc] abab d) aace
21, -aaba-bba-bBba-shaa-b
{a) sabuab ) ababa
fcf baaba (d)y bbaba
22, ab-bbe-c-ab-ab-b
fa) ccanc ) cebube
o) cacac 4 bcead
23, -becu-ceca-ca-b-¢
a) apran ) bbhabd
o sabaa ) bbabb
24, h-ar-cc-ch-ah-ac
&) cbaba B bbuac
el abbhe by asbba
25 c-cac-an-na-bhe-doee
fa) cabba ® cohbh
el bbbbb fd) ebueh
26, abe-d-be-d-b-cda
in) bacda B cdabn
e} dacalb ) dpcdb
27, ba-b-aab-a-h
fa) abaa M abba
€] baab ) babb

25, gle-ig-eii-fei-gf if

i) edfgl ) figie

icl Ifgie i)y 1fige
29, MBONUPYOPQYrE-—---

8} mnopyq ® ogrst

fcl pgrst id) qrstu
3, c-bba-cab-ac-ab-ac

la) abebe ) acheb

icl babee (d) bcarch
3l a-he-c-abb brea-

(A) ceebe B ebhuc

(el accehn [d) abbba
32 cc-bd-cbedu-a-db-u

(a) adabed ) cdhbea

- o) daabbe d) bdbeba

33, a-be-a-beda-ccd-bed-

la) ndbead b) adbbad

le) scbdbb @) abddbd
3. -¢b-ca-hach-ca-ba¢-4d

@) bddddb ) bbbddd

lci addddb id) addbbob

Lober Sorioz | WA e

‘35,

a7,

39,

40,

4l.

42

3

45

16,

47.

49
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-e-bd-¢cbeda-a-db-a

{a) adabed B cdbbeu
{c] daubhbe {df bdbecbe
-bec-ac-aabb-ab-cc

{a) aabea B bacab
fol abaca {d} beara

an-nm-ana-na-nan-n
9 annan by sanen
el nanna ) naana

 KLM-, KL-N, K-MN -LMX

n NMLK b} KLMN
{e] LKEM () KLNM
bme-tvyb-sut-bm-u-vbmsut
fa) vustm by nvstm
€] umyset )y myurs
a-cdanab-cc-dan-bhb-ccddd
8 dbbes M bhdac
{c] bdbda [} bddca
Lbug-usb-s-a-ba
fa) sbaba b} sabbs
fcl shabax (d) txabs
aabanbanb--
{a) an ¥ bh
¢/ 4b Ky bs
sir - smirses rsst-sstr-
{a) stra b trar
o] artr [} re=r
. B=GF-E-FGF-E
ia) EQ_FG by GFEF
ol FEGG )} FGEG
ﬁiﬁ'—.g??rﬁc- !
fa) abeceche b} cdabeb
{c] saheabe [y abecha
a-cd-c-a-da-d-h-
{a) bbdebuce by bucbbab

[c) bedbabe Y bbedabe

auvi-oeip-2-uni-oc-un

() ouaci hy acliou
fcl upeire |d) aeniu
ch-eb-¢e-edo-

@) chec W) deeb
el dald )y bbed
Iimn-imn-in-Imn-Im
&) Imime M aoomoon

fc) mmmoe fdy nnmoop
d-cad--¢cean--cca
&) bbbbb M aabasa

(] abeab [} ceccoe
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The wateh dinl is usually circular, whone Wt Wy swgey e g v &, Pl i a0 e

circumnference is divided into 60 egqual parts. Esch il 8 W R e wm g v e ) )
part is called a minute-distance, The watch has ‘
three needles. The small needle represents the e g vkt ) oA g el e g fre o o

hour, the midile nevdle represents the minute, wwn i af wee v et s b ries e o et

and the largest needle represents the second, But gt w vk o wgd e et apd ) fesr o o By
we often call the small needle as the hour needle

and the big needle as the minute needle.

: (vvd W wsn)
(Type of Questions) (1) i o Bebrey v 2 ok Pievr Y et o o
(i) Tofind the angle between the neadies of haur I W
and minute at 1 given tine (3) %% o Sires o et o wm o oy i v fafroy
(il) Finding the exact time at n given angle . m‘.’," W‘F‘“ -
between the hour and minute needles. b3, T .
(i) Finding the correct time when u clock be (3) ﬁm“‘*‘hm“““
comes slow and the ather clock boonmes faat. )
1. What angle is made by minute hand in 29 sec? 4, What time is shown by the mirror if the real
foz ¥t gt g0 29 FETX € wwm T S ) time 18 9 - 277
{a) 17407 m) 29" ufe mynfis WY 9 ; 27 # o v yinfee & w
{e) 29* fd) 260 way o)
2. What angle is made by hour hand in 36 sec? 3:33 3.33
= ¥ i oo 36w ¥ wew WY Wy vm ) ::: 3227 l?) 2508
fa) l:lO"m ®) 3" " S, Time apgears in the smirror is 11 :09. Then
el [%] @ [132] what time will appear in clock?
1 ; it wiw i  wre 11 " v F vy wun
3. Whatangle is sisde by mirute hand ln 54 séc? ot vt 12:00¢ R M.
=i ¥ fien w3 59 Awn § wrn wn s e
(a) & B & m) 1:51 b 12:09

£ Cioca | Wi
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10,

1L

12,

13,

Time appears in the mirror s 6 : 00, Then
what is the correct dme in clock?
afe oiw ufefen o awe 6 00 # # Wt A = e

foemwef pr?
fa) 5:58 ) 6:60
] 6:00 ) 601

If the time In clock ls 12 : 23, What {8 the
time in the mirror?

wfe W) & weedrr wm 1223 # o wiw offes o
way = Tl

(&) 12:33 M 11:37

o) 12:37 i) 1:23

Time in @ ¢lock is'3 | 13, what time will
appear In water?

of o o w3 10 oo obfey s v o)
w) 3317 ) 2:17

le) 3:23 iy 2:13

Time apprars in water is 5.0 47, what will be
correct time in watch?

e uffyey W W 50 47 £ mefen ey vy v/
fa) 12:-4a7 ® 12:43

i 1:47 dy 1:.43

Water image of a clock is showing time 4 - 42
what is the read time?

) %y sl W e a a2 3 iy

o )
f) L:48 M) 2:48
o) 12:4% d) 12:42

Whaut angle is made by mlnure and hour hand
at4 12?7

fiows sbr wit o wpf gmg ;12 W feoro w wgm 2
(=) 66" k) 44*

e} o d) &0.5"

What ia the angle hetween minute and houy
hand at 9 : 537

froqe o w2 ot o % e 0 : 53 Wl v e v vy
fa) 121.5" ) 21.5

fc) E30¢ d) 6835

What is the angle berween minote and hour

 hand at 12 2462
Foeer alhe w0 o) 1t o it 122 66 Wi e e e o)
{n) 97 & 107
¢l 153" oy 7

14,

What is the angle betwren minute and hour
hand at 7, 09?

freen it wh gt W N 72 00 W e O v
o) 120.5° ) 1605

(o 495 fdy 19.5°

Clack - W)

15,

17,

19
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What is the angle between minute and hour
handat 11102
foez oy w2 ot gt o W 11 ;10 9 we W e

fa) 265" fly 175"
o] 95* [y o5°

. What i the angle between minute and haour
hand ar 3 567
frerz sty <2 ¥ g W 30 56 W w9 W e o)
{ay 152" fy 228°
{c) 360" @y 142°
At what time between 6 to 7 Q' clock minute
and hour hand will coincide?

o5 % 6 7 o d el v o o e o ow
o wwe w weef e

2 5
{a) 6:38"'? 17 6:431
IR S

il 6..!2“ fel} - 5n

. At what time between 10 and 11 O clock

minute and hour hand will coincide or
makes 0" angle?

W ® oW 1w o e e st R iyt

Wi ot ww gt o ww gl et w0 W wim
w87

{8} 10: 4sl—v| fty 10:38i

e 10 :)4"% {d 10¢ zow'

At what time hetween 2 and 3 O’ clock:
‘n‘w hand will be at right angle

w0 ‘each &h’cr pr makes 90" angle

wft 1 258 2 sy fem w4z i fuse o il
S0 w1 ¥ T

{a) 2.#323}-
fe] 2: lo—q 1) 2:16;-1-

At what tlmo between 6 and 7 O clock
minute nnd hour hand will be at right angle
ar makeg 90° angle?

af) o 6 it 79 ditw Fan wmy g b s o) apdaf
GUF &1 wM it

3
b 2:27

7 1
Tl Ml 6:43-17.6.49—

{a) 638“. o4 T

itlﬁ"‘) .6!6 [dl616 .6%



21, Av what tume bBetween 3 and £ 07 ¢lock
minuie and hour hand ure opposite o each
other?

a4 3ol 4 e e vl she fe

e ww gut o favim w180 Wt T wwh?
. g cxg- 2
8) 34373 ) 338
1 6
e 3:4957 ) 3:5437

22, 'The minute hand of a clock overtakes the hour
Band ot intervals of 64 minutes of correct time.
How much a day does the clock gain or lose?
uw wfl o)t wikt ol w2 wel) gl W) 64 e
st v wowod §¢of g T ® o fers e
W wa whl)

183 43: mlnuhekoeal% Iﬂzqn

(b 32' minute gain / 32—-— trz
el 33—' minute gain / .vs hro Lt

i 32 minmekm.f '!2— fxx wpen
23 The minurc hend of 8 cloci wcm\kcs the houy

band at imervala of 66 minute pf correct Gime

How much a day does the clock gaon or lose?
o ) Wi ez e gl w2 e e o6 fe

stvm e W wolt &1 ot foe o ot fen o

o e

- SAFALTA.COM
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1909
f8) 11957 minute gain / ll-i-i-'- firxz

w1 igjmmulebssln frga 3o

117
{cl PRt ul mimxtega:n/ T firz

W 1175 minute loss / 115t e

A clock i3 set tight at 8 am, on sunday, It
gains 8 minutes in 24 hours. What is the
correct timse when the ¢lock indicates 9 p.m.
onupcoming sunday?

o wy) w1 dhwe gee 300 vz Pew e #owe
247 9 § foorz 1w vt it #1m see amE e e
W OO W s s el

(8) 9PM by &:20PM

o] 8PM (y 10PM

A watch which gains uniformly is 4 minute
slow at 9 AM ¢n Sunday, and is 4 minute 15
sec fzst at 9 P.M on upcoming Friday. When

“was it corroct?

we wx) W ouue w7 ot ot # e ge
9.00%F 4 fw=r qen 7t el &) v e e e
T0.00 72 4 2 15 W e v ol o
at ® Tt nwe W ovtw Wl

(%) 2AMThursday (b} 6 P.M Wednesday
| M.M Wedneaday () & P.M

IR I

Cioca | Wi
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One such type of guestion that needs an
immense amount of practice is calendar test
related problems

Although the frequency of this question ix lexs
in exams, yet they are of equal imporzance. If you
have learned the bavics of these questions then it
will become very easy for you to solve |t

Yau can be asked whether the vear mentioned
in the question is a leap year or not. You will be
given a date and a day and

youwill be asked to determins the day that wall
fall on the same date on next vear and many other
questinns.

Type of Queations
1) Tolind the number of odd days.
{1)  To find u day of the week.
{iii] To find the doy of n given date
[I¥) To find the retation berween rhe same day
und date of two montiis in a year, '
{(v) To find a day of the week when the
reference day s not given. -

1. I 9th ofthe month falls on the day preceding
Sunday, on what day will st of the month fall?
uft 1 Wt o i dhome B e fer vt agd # o
wmrd fw ol wr WY | i 9 Wi e wmn
{a) Friday () Saturday
el Sunday () Monduy

2. Anil reached a place on Friday, He came to
know that he was three days earlier than the
scheduled day. If he had reached these on the
following Sunday. How many days Inte /early
he would have been?
wfam fosht sam m e 6 e &0l wgwer
wét wm oo & fiw oy fondfon fox 013 e ment 8 e
i it we swd am T W agd o omd e owe
Pndfon fon 8 Ped fex el uim?

Catendar | #dead

oF SRR W e fee aregs 8 s seereew Row
£ over ufteor & oo s

poei oo e ) smqfe o o ww @ fr @ e ey
arve w1 b ole sept woet gt e o f ae e B
T W ST W S

srat g w eon £ fe o o afeefn vl ow sl
® W owf) saw) uw wing sk ow Yew e wned)

sreE Sty wrd & oy wer o F vt fos gy
M W W orm ol o W wd s mey R e

wral W e
Ay P for »% smm am oW

i) won € Sex Sewmrm

i) Pesll mefim w0 moenfes 3 (m) P

i) o owi a0 oweow ww @ iy e foohe e
=1 Hopan fqemen

W) fedm S= (Reference day) 7 fro @ ome e
wT Y e

AR 3N

{8) One day earlier/ow for sen

(bl One day late foF 3 o=

(€] Two days late /9 frz ot 9

i) Two daye eartier/n for wm

3. I day before yesterday was Friday, what will
be the third day after the day-after-tomarrow?
uit A o W W e FeT ek et s, o e e
A o w2 ¥ 7% by e A dee for s e
(8) Thuraday by Fridey
{¢) Saturday ) Sunday

4, I the day before vesterday was Sunday,

what day will it be three days after the day

after tomorrow?

uf B g8 e @ o fex e e wom e o B

ok e o i o e o Rt ey ol w oy )

{4} Sunday 3 Monday
{c] Wednesdag {d) Saturday



7

10,

Suresh was born on 4th October 1999
Shashikanth was born 6 days before Suresh.
The Independence Day of the vear fell on
Sunday. Which day was Shashikanth born?

W W w4 WEe 1999 %1 g W vheera
w1 wen w6 frs wemt gan w0 xn vl s
feom iy w1 @) ot Je St B afesm W o=

fen Py gan?
{a) Tuesday b) Wednesdsy
(s} Mondqy d) Sunday

1f the 23rd of a month s a Senday, what day
it would have been two weeks and four more
duys earlier?

i woe o 23 mring wi et £, eyt fie 9 e
&t o fez ved ¥ W fe3 W)

i) Monday ) Tuesday

le) Wednesday ) Thursday

1f 15th June falls 3 days after tomorrow, that
is Friday, on what day will the iast of the
month fall?

wfe i ot ooy -3 Fe e 53 e ol fes e
£ w wwpi fv T W smp) forown W)

o) Monday ) Tuesday

) Wednesday ) Thursday

I two days before yesterday wins Friday, what
day will be day after tomorrow?

wuf Wt g0 w9 e e e @ W o e
w ¥ vw fo3 we wy foy o

fa) Monday ) Sunday

(c] Sisturday (d) Wednesdey

If two days wfler day after tonwrrow ls Sundsy,
what diy was the day hefore yesterday?

S W wm F vy oy ey i o for e e ot
R T W wE ey e e frr o)

(a) Wednesday (b} Tucsday

fe) Monday id) Sunday

1 theee days after toduy will be Tussday, whiat
day was four days before yesterduy?
wtt e F e B e W e W) 80 g e A
it Tox oot e o foy a2

{a) Tuesday

c) Monday () Wednesduy

If the day that will come two daya after
tomorrow is Thursday, which day of the week
was three duays before yesterday?
we fon WSt s w0 Sn e e e e
B @Rt w03 e e e ey

{8) Monday ) Tuesday

o) Wednesday ) Thursday

12.

13.

14.

16.

18,
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If Feiday is the first day of & non-leap year,
wiat day would b the last day of the year?
fat wrarrny wd e v foe v £ o o
st foz v

(=) Friday () Surdsy

] Monday ) Tuesday

Day after tomorrow is Kiran's birthday. On the
sume day next week falle ‘Shivratei’. Today Is
Mondey. What will be the day after
‘Bhivrotri'?

St e W v frn e Sy w wm fon b sy
srome 3t feq foeanty & sew wen # 0 St
% 3 W v fes om)

{a) Wednosday (B} Thursday

£] Friday (d) Saturday

If the day after tomorrow 18 Friday, what day
will third day wlter the tomorrow be?

ST W o e e o B o st ) W
@ e fes om viw)

{a) Saturday 15 Monday

le] Sunday [y Friday

If the day before yesterday was Thursday,

Swlhien will Sunday be?

e B o w0 oo e e e @ W e
LA Rl

&) Today/sen

(b Two duys after today/ s @ fo3 o=

fe) Tomorrow/ WE e W

] Dny after Tomorraw /904

ifthe day before yesterday wae Fricay, what day

2! ¢r the day after tomocrow be
m o e vk apww s W werrd

fw mwmnwﬂnminfﬂmw

o wrm)

(&) Saturday by Thursday

fc] Freday [} Sunday

If 1st March is ‘hturday. then 1zt April will he

ofe | wnd % wfoer § 0 | sfbm ) w0 fes w0

la) Sunday ft} Monday

{c] Tuesday [} Thursday

If John celebrated his victory day on Tuesday,

5th January 1965, when will be celebrate his

next victory disy on the same day?

wit = ¥ frws fown e, 5w 1965 Wt

e o) aereft ot ved frs o S fe e wrn?

fm) Sth January 1970

(b} Sth January 1971

e} SthJanuary 1973

K Sth January 1974

Tgiondar | D
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Han remembers that his tather's buthday 1s
between 13th and 16th ol June, whereas his
sister remembers that their father's
birthday is between 141h and 1818 of June.
On which day ia their father’s birthday,
which hoth agree?

it e wv v Iow fom o wwiey 139 160
% v # wefe Tt e om woh £ B fooow
waftr 1287 181 % o R 53 o ) ey
® wrpeot v fom o waie ww g e

{a) t4th.June by 15th June

el 16thJuns [d) 17th June

The Independence day in 1988 was celebrated
on 4 Wednesduy, On what day was it
celebrated in the vear 19892

wi 1986 1 veres fown g ¥t e 1w o 8
1989 % = Few fog wyrn wam!

s) Menday ) Tuesduy

(o) Friday [d) Thuraday

If feday s Friday. On the List Monday the date
was 29th Devemixer, 1975 Then today s date i

wrx ypewt & s sitew w fros 29 fpeee 1975,

o W R v et s
{8) 28 December, 18975
b 3rd January, 1976
{c} 2nd January, 1976
d 2nd January, 1975

24,
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If Friday falls on 1 5th of Seprember 2000, what
will be the day of 15th of Septembes 20017
feute 15 free 2000 w1 e £ o foefw 15
fotwr 2001 1w fex wimy

(a) Fnday b} Sarurday

(el Thursday fd} Sunday

Saturday comes after 3 days on 4th of a
manth. Find out the day on 27th of that month.
we % 4 witw ¥ 91y fe3 e wfaew oo o e

w} 27 wiw w) wn fry gm0
{a) Maonday b} Thursday
(t] Friday (d}  Sutueday

Given that 25th February 2008 s Monday,
what day i 2nd Masrch of 20082

25 gl 2008 % wswer w_m 2 wf 2008 W
wp foe vy
{a) Tuesday
el Sunday

bj Sarurday
() Monday

I twe days back it was 9th November 2014

and it was a Sunday, then tomorrow will be
ot 2 fon ot w1 foate @ e 2014 w0 st
e m M T wm W et e

(a) 12th Noyember 2014, Wednesday

(b 12th November 2074, Thursday

[c] I3th November 2014, Wedneaday

i) 12th November 20149, Tuesday

JIHIT IR0
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The process of representing a given set of objeets
by o diagram s called o graphical representation.
The graphical representation is done by g Venn
diagram,

Questions related to Venn diagram ar
asked 19 check the ability of the candidate to
understand a certain set of items, cstablish their
relatlon and rnake thelr pictortal representation.
You decide that if the given obiecta are related 1o
each other, they will form o set or subset, but if
not réfated, they will form different sels of theas
objects. If you have studied the set Lheory, then
you can easily solve the questions relotind 10 Venn

dragram.

o wep® W s W) g g et vt ) vt
W T B | Disgrasuatic Nepresentastion) 58 W ¥
wtwir fwm #7 smm g few am ¥y
= ST woater weE srond o F e faive
TR W) RS, TR WA TR W AN e e
frcys wrd o) dram of e v o Sy g ) e
mWE it eyt ey A A
TSI W SRS E, v T meeE I . w v
s e sove welh o3 wepd W gegEt § we
wpend! F npefvn e R (Lnion) @ wem R/ T
= ¥ 1w T T e W e e R W Mo
W vy w1 S B e Y W £

Directions (Q. 1 - 28): In the following queations,
ldentify rhe dingram that hest representa the
relationship among the given clusars

Pdm (w, 1-25): fedt w0 avsl, ety i o0 i T
m ol ¥ Ay e o owR freem s b

1. Music Instrument, Piano, Guitar

winy 43, T, finm
g

w (@)
2. Physician, Physical Education Instructor and

{el

Physicist
tafwrosy, vt fenn whosee s sifw faet
w &y ® GO
4 56 @)
3 Anunal, Leopasd, Lion
T A W

Rl
W @0

" ©®
]

a. ull, Animal, Carmivorous
el Y

1 ® w@®
o & ,,'d’@D

@ B
© QD fel}
6 Women, Bisters and Wives

@@  m
(€] . dj O
7. Green, Mango, Fruite
T, N, WH
O
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10,

L

Stafl, Managsr, Worker
FHwE 0, gAEw, SRR

M@D (b)

«@ o
Singers, Boys, Dancera
) (D ® 000

el @ ich) @0'

Ormaments , Gold |, Silver.

{u) i)

e GBD id) OOO
Children, Serious, Naughty

we, O e

= QD ) Q

el id)

Pulses. Redgram . Moongdal

o, o, s
w @

™
lct fid) OOO

Blue eved, femnales, doctors,
oo sttt we, sl e

m@O na
M@ m@

Wern Diagrom | #v mis

14

16,

17

15,

19:
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Teacher, Painter, Dramatist

m w @D

el OOO d @

M. K Gandhi, Umesh Chandra V
Bandhopadhyay, Jatin Bas and Surya Sen
wt«.wnmm.wwmgn
wm QU8 ™ 0000

o @A w ©o

Lion, Fox and Carnivorpus

e, e, s

CIN Y i

“ w &

Dow, Anunal, Pets

b b B S

m@O M

Wm oD O
Sriske, Lizard, Reptilés
i, tewet, sy

{a) (b} @
{el OOO d)

Physician, Phyeical Education Instructor and
Physicist
fatwr, ofifon fovsy afvew she sifew Pt

w & w GO
e OOO (et}
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. Food, Curd, Spoons

we, o, wag

@ @D

o ©

o €9
a Qe

. Purenty, Mothers, Fathers

wfqursy, @, fom

m o (00D
(cl (d)

Human being; Girl, Boy

" 8

C 0 w 000

Leguminous Seeds, Peas, Kidney Beany

wfeed &%, W, A

W OO0 g
fel i) ' O

Cement, Bricks. Building Materials
iz faaim s, €4
v @O

.5
el fd’

Cows, Animals, Goats

"6 @

MO w@
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26. Which number is present only in ons
geometrical figure ?
wim 3N dem tum ue N R spth o ey £

@) 3
6] &
27. Which are the numbers that make their
presence felt in only one af the geometric.
figures 7
it W 3@ wen ko ol sogfel F S o @
syt & frem £

| ﬁ_'\
')I'J\ a: ¥ 1]

S
) %6, 7 b 1,2,9
& 37,9 i) 2,38

@, Study the dingram given below and identify

the region representing girls who are
employed but unmarried.

LeRAE LR E R e iR R R R
el il = O s # faee am e # ey
wigaten 4

st

() 1 hy 2
c) 4 5

29, How muny Educated people sre employed ?

o femd St =i & @ ardm &

{a) 24
fe] 18

ty 16

Vonn Diogrom | &4 silm
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31,

32,

An interview of 60 prrsons to know whether
they play Tennis Chess or Carrom was
conducted, The data 3o obtained baz been
summarized in n pictorial dingram as shown.
Smdy the diagram and angwer the question,
How many persons da not play any game?

B0 el 3 A AW S92 4 =a § B i
o e, dm ow ol e oo w o W
rafwR ¥ 4 iim W §) Shoe 30 deee e
o S w T amed S fert o el oen W

o Y aon £

Terlin

a) 28 ) 57
el + _ )
In the following diagram, palice officer
represents eircle ,corrupt repreacnta

trinngle, poet repreaenm Squnre and married

represenia rectangle

e ma s o Wem sfen 59 oo Sele F e

e, T Fawien ) 7w sfs o o0 Swfm f
e st g Pty & e wiw sy w W
Q;tg;muﬁm TsEwmEmtwwW A W
L ou k3

The arca representing unmarried police
officers who are not corrapt but are poets is

wffyn g s o e off § e win & w)
et wim &7

i 8 & ¢

le) 2 d) 4

In the given fGgure, how mony people |ike
cricket and tennis both?

O syl o Fee w few e 2o oW TER
LacR £

Wern Diagrom | #v mis

3

Burtons /23 \}7
| 10 °

35
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Tenning 0

{2 17 )
{c) 156 Wy 27

In the given figure, how many people stady
anly 2 subjects?

oy m segi o faed s e ) fere ot €7

= 1
Ve 12

In the given figure, how many blsck buttons

are dhirts?

0wl vefy ¥ fem A W= e 7

b 23
) 40

Shigts) FET—y »
3.4
R A 19

16 Ve Plack) =

) 37 b 19

el 36 Wy 27

lnt.hcgivcu figure, Bow many are musical
toys?.

Q7 s TR e faee £

Electronic
Mun‘c_al
3317\ 18 T
19 |28 ) 11 :«m])m
25
fn) 53 ty o1
o) 42 dy 45
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“Sylfegism” i5 2 noun that means 'the methed
of reazoning in which one can draw conclusions
from two or more statements” in which two
stutements are given in such a way that they
jointly give the meaning of the third statoment. In
this way we can define 'syllogiem" as follows:

“The type of ressoming sn which the relatian
between two terma is extabiished by o conclusion
and these two terms are equally related to a third
tesm,

In other wards, syllogism in a lopoal conclusion
which is based on two or more statements,

Example

1. All hurnans are intelligent
2, Rama is a human being
3. Ram Is intelligent.

Here the conclusion is drawn by a mediam
torm 'man’ which is related ta both the parts of the
gentence that are the subjeci, Rama and
predicate; intelligent. Thus, it is clear that we
need at least two statements to reach &
coneluaion In 'syllogiam’,

Questions based on svilegism include at least
two atatements, followed hy a conclusion. We
cannos eaaily conaider the truth or falairy of these
statements. Sylloglam may Involve statéments
different from commonly known facts and
sometimes scem impassible, but examinees must
accept both of these statements as true and ignore
the true meaning of the complzte statements or
the terms used in the statements, The terms used
in the statements are symbaols of certatn classes.
Thus the statements mentioned muay not
carrespond to the thinking of the general
exXaminea,

Therefore, while solving the guestions of
'ayllogism;, we should follow certain rules of
deduetive and inferential reasoning. Not all logic
rules can be applied to logle probients.

= T T e v W e feE
WMT @ G T A e e g ee
ol e & feo ok e & s s & ot e ad SRR
2 o e e et & ity e s R

“TEwTE W1 W TR fAen 9@ v w AN 1w e gm
wogs T few A e A e e el A m oy
want vy & wefap A #)

wt ot 4 e e sy segsrn e e e fasd
faor oy 2 g advow ot ol S o s fread Trmot
=%

T
v ok e g 1
2 wmaw g by
Lo zEm R
S T e
T Subjects FRAF T ( Predicute ryzmm T &

wrtag & 7 e e bt e e’ £ v e
o Tere e 2w o woos el spwsr T B B

= W g vE § W R w0 v wiee s §
fwe s Wt fomwt fm o # ) v S S e W
s spwsm o P vl sk B e s e 4 e
o) & seopr st i @ sl B e sl ol & s udte
T AR TOWieE W A T W e S e
TR A AR W0 % W W W TN W W
&l 4w s e Py ol # ol @R 8w e
i vy s ] wd st o sepe o <8 8wl
£

yoiee ‘' W v P wTE wem v ferseraE v
s vt g Peed o gees wen afi | ominfy
w1 et & fe owel @ il Fem e o Rt masa §)

Sytogam | 0w e
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|. Statements | v

I Al windgws are doors
st ferpfrst <o

11, Al buildings ere doers
ik gy e #

I, All doors are boats
ol weard sz By

Conclusions / Prond:

L. All windows arebpats
it gl Wz &)

11, Al buildings are boats.
wlt gurer Wiz #)

{1, Some boats are doars.
wm s woawi )

la) Only 1 and 11 follaw
ey | ol 7 angeee wnh §

) Only T and 11T foflow
wan | o (1 s e #

(o) Only Il and 111 follow
w1t sboy s s §

@l All foliow
s Wk wr fy

2. Statements | W

1. Some radios are telephonss,

wa fem 2w

M, All telephones are mirrons,
el Fnfree o §

11 Al mirmars are desks.
el piw v )

Conclusions | fred;

I Some rasdios are deslcs.
%u fem tow £

il. Some radios &re mirrors,
wu e viw #)

1L Some desks are telephones.
% wox drite #)

i) Only 1 and 11 follow
w1 e (1 smy e
B Only Iand 11T fatlow
w13 (1 s o )
(el Only It and 11 fallow
W g obw pn s ww R
{1 Al follow
welt yrpure W )

Sytogiem | e Teore
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2. Statements | W
L All minutes are seconds.
e ferrr soex £
11, All 5econds are days,
i wevs 2
1. No day fs night,
w1 foe o 4 1
Conclusions ; 9w
L Some seconds are minutes.
wy e fugz )
I, Some days are xeconds.
=w fou fgivx §)
1T No night 1a day-
s
IV, All minutes are daye,
3ot fise devn )
fay Ounly Hollows. .
W | svpe wam &)
(bl Only | and 1l follow,
oo | ol 1 saon v §
(€] Gnly 11 follows.
o [ sgam e #
oAl U and BV follow,
W 1, 0 s [V e wn #
4 Statements / W9:
L. Some teachers ame prolessors.
@ Wy g §)
1. Same Lectures arve teachers:
1 ottt oy )
conclnﬁom FAL P
All teackers are professors.
wdt ey g )
Il. Al teachers are Jecturera
sd sreres dtew )
L. Some lecturers are professors.
W v o &
IV, Some professors are lectures,
wy drat vyen £
() Only i fallows
o | e w8
{bi Only1snd 1l follow.
s | s (| s e
(o] Oualy 1 aced IV tollow.
wom (1 obe [V e wrh )
€] None of these.
vRC 3 e



Btatements | W
I Al cats are dogs,

it Ffewens e 1
1L Al dogs are pene.
neit W e
Conclusions ; ey
I, All cals are pens,
wdt Pt o1 #)
II. Al pens are cists,
wsht %3 fufen &

{n) Only I follows.
v | sepvn w8
b Only )i follows,
o 1l segmoy = )
(el Esther 1 or 1l follows,
LASE N R o
il Keither 1 nor 1l follows.
LR SR N U]
Statements / w51:
I, Some wires are telephones.
we vty #)
1l. Al telephones are mirrors.
ol Softere wie #
1L Al mirroze are desks,
will win oty 4
Conclusions / frad:
L. Some wires are desks,
we m tow )
I, Some wires are mirtors.
e vim &
1L Soms desks xe telephones.
W Tow e
{a) Only | and Il follow,
woe | i [ e w
(b Cunly L and 11 foliow.
s | oty (1] s v £
(c1 Only 11 and [T follow.
w1 sl ir sepee wm )
() All follow/wsh seqare wm §)
Statements | $%41:
I, Al furniture are woods,
b weltae wefow )
11, Nowood is read,
it ) wgw e
UL Some roads sre hills,
wu wew iy
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Conclugions / frsd:
L. Some rosds arv furniture.
we W witw §)
1L Some woods are furnlture.
we o witer #)
UL Sorne hills are wood.
wn vefew wedh #
(a) Only ! follows. .
W | e wom )
(b Only 1 follows.
[ s wom
(€] Only I follows.
wE [ S v )
K Only Tand Tl follow,
w40 | 3 (1 wgE w4

Directions (Q. 8 - 11): In ¢ach of the questions
below nre given two, three and four statements:
fetlawed by conclusions numbered |, |1, Mand [V
You bave to zake the given statements o be true
even (f they seen Lo st variance from commonalty

known facez Read all the conclusions logically

feiigws from the glven statements disregarding

‘eottmonly known facts. Give answer -

Tl (w w9 11): 0 fon o w0, A o
mwn frn # P ot o Faverd fen @ Seren w1, 1, 110
sV #) et frn qu e o e s f o % ke
woF o fe )l Smpn ) wfen e ue e it
fe frg m w3 owhe w St sefars e W apresrn
Lk o Mnamummhuﬁm
8 statomentn
VAN men are
ﬁm‘mh
1. All dogs are cats,
st wet Sufera #)
Conclusions ; fra:
I All men are csts.
el st fdveren #)
1. All cats are men.
o Sefrera amesh b
(a3 [fonly conclusion | lotlows,
wft s faewd | s s b
(L) If enly conclusion I lellows.
sft o favwd [T o wow b
{c] Lf nether conclusion | nor I follows.
wf foowd 1 5 11 e s £
@) If both conclusgion [ and 1 follows.
wfe frwed 1 oy [ o sy = &

Sytogam | 0w e
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9. Statements /| W

L Some books are Magazines.
wu ot fft2 &)

11, Some magazines are Novels,
ww oy vemm

Conclusiona / frand;

L. Sonw books wre Novels,
%o fowt = )

I, Some Novels ore Magazines.
w® s Sl &

) I only conclusion | follows.
wft wwm frewd 1 srqors v §)

(bl If anly conclusion [ follows
e wwm Peewd 11 sppeee e B

{ol If neither conclusion 1 nor i follows,

wfe fowed | 3 W 1] wrsoem o B
K If both conelusson | and 11 follows.
s S 1 oshe 11w sopen w8
10, Statements /| WV
I. Some desks are chairs
% trw whim h
1. Some chairs ate doors.
wm it ok #)
M. Some deors are walls,
%o wmt S
Conclusions / frad;
L Some walls are cholrs.
wu el v &
1. No chair 12 a wall.
wit weft o o) B
{2} [If only conclusion I follows,
wfr e fawed | e v
(bl If anty conclusion I follows
wft i towesd 11 snpseew woy &
(cf If neither conclusion I por I follows,
wfe foued | 3 9 11 s wow £
{1 1f both conclusion §and 11 follows,
wie Peapod 1 ode 7 S argevent welr )
11 Statements | $%:
I. Al stars are fishes,

Sytogiem | e Tewis

12
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il femrt wafeen &
Il Some fishes are moons.
ww e wis
I All moons are birds,
i T t
Conclusions ;/ fead:
L Some birds are fishes.
= ot waferl €1
1. Some stars are moons,
wu fost w &)
lg) Lonly conclusion | follows,
aft wom fowed 1 srpaon e
{bl If onty conclusion Il follows.
it wam feerd 11 sepeen wom B
() If neither conclusion T oo 1 follows.
it fowed | 3 W 11 s woe B
¥) I both conclusion Eand 11 follows.
e Pewsd 1 b 1 St e e B
Statemonts /| W51
1. Al briclss ore stones,
i £2 o
1. Samwe stones are rocks.
we = A b
T All rgcks aye mountains,
e e oty §
céafmaoé” tons | frad;
Some mountains are stones:
wu v o &y
Il Some mountains are bricks
we o 2 ke
1= Some stones are bricks.
we vtz
{2) Only I fallows.
wum | sepere wrm b
(bl Coly 1 follows.
w1l g sy b
(] Only | and 1T fallow.
wym | e [0 egeen won B
) Al foliow,
sl s W



13. Statements | ¥v:

Some desks are chairs,

w fvy g

Some chairs are pens.

o wfidw b

Some pens sre drawers,

%0 o b

Conclusions / fva:

I Some drawers are desks,
o von owe §)

1. Some drawers are chairs,
we won yfiiel

1M1, No drivwer i chair,
wi Ty we ol 1)

(o) None followa.
wi sgme adt woom £

(b Only 1 fallows,
e (1 angEw o b

(¢} Coly 1 follows.
s 1 s e &

{d Only cither 1T or [II follow,
wun w11 W I s v 8

14, Statements | %wi:
I.  No tree is fruit.

L ATALE R T

1. Al fruits are stones.
et wm wer by

1. All atones are rains.
it o i

Conclusions ; e

1.  No stonc is tree.
wit e vx vt

11, No rain is tree.
A LR VR LR

M. Some raing nre fnsits,
e b

IV. Some mains are trees.
we wt 2r &

{a) Only elther Il ar 11, and | follow.
e W W 1) o 11 s s b
(bl Nooe follows.

T3

15,

16.
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Wit angern it wem 3
{c] Only either 1l or IV, and 11 follow,
wowm w1 b [V W I s wen £y
) Al foliow.
mh s w0t b
Statements / 99
L Some toffee are sweels.

W ot feiar &

1. Some cakes are sweets.
we v franda §

Conclusions / fy4;

I Some sweets are cakes.
we fet o #

1. Some sweets are toffee.
% fomtm 79 #)

(@) Only conciuaton 1 folkows,
o femad | segmon wem f
(b Qnly cunchasion 1l follows:
ot fesd 11 srgaee wom #
o] Both conclugions ! and I follow.
o [ of 11 O srgme =8 B
i Neither conglusion | nor 1T follow,
= 1 feus | 5 @ 11 argmen wm

Statements / %W

I No Rosc s a flowey,

At gy W b

1. No flower 15 a lotus,
= o e et

Conclusions / fusi;

I, No Roseis o lotus:
w b per wm i B

1. All lotus are flower.
sl whm e #y

&) Ounly conolusion | lollows,
wm famed | sepmm v
bl Only conclusion I follows.
o faned || arpme wow #
(] Both conclusions I and 11 follow,
v | o 1) o s w0
) Neither conclusion | not 11 follow.
oo Pk 1w ) I1 e wom &y

Sytogam | 0w e
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17. Statements / ®%5:

I, All buys gre ¢ricket fans.
woit e fwwte st #

Il Somwe boys are also tennis fans,
e wew e v §)

1L Stme tennis fans are also vollevbsll fans.
W s i o wisiee e

Conclusions / fausd;

I. Hays are not fans of any game.
ey Pk o geew et 6

1l. Some hoys are cricket fans-
wu ey feer wtew #

111 Some boys are not vollevhall fans,
wT v wivfreon e et #

IV, All boys are vellevball fans,
it s wivfrees gees §)

(a) Only ! follows.
¥y | s s

(bl Only I follows,
wum ] srgw won £
lef Only 1 follows.
w1 s s
Wi Only IV follows,
et TV s won 1)
15, Statements | ¥%1;
1. All men are women.

ool e wfpery
1, Al womerrare crazy.
it sferrs e #)
Conclusfons ;/ frwwd;
1. Al men ure crazy,
ool e e 4
11, All the crpzy are men,
weit oy g )
11T, Some of the crazy are men
we g e f)
IV, Some of the crazy arc women,
we wm ufeey ¥
ta) None of the conclugion follows,
wit freed sopuen o won #
(b} Al the conclusions follow,
ot frd e v &

(e Only |, I and IV foilow,

ot |, (L (Y rsmem weh )
i@l Only Il and (15 follow.

wm |1 s )] spoe w @

Sytogiem | A Teors "
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Statements | WV
I. All the harmomia lzs ere instruments.
it ey !

1. All the instrumants. are flutea,
it Yopie gl ¥
Conclusions / fres;
L Al the flutes are instruments,
ot wrgh g §
il All the hurmoniums are flutes,
el weeefeny el &)
{8) Only IHollows,
Wt [ v wim ¥
{®] Only H follows,
R 1 sepme vy )
(0] Esther 1or il follows.
@ M 1ow I arpers wm )
i) Nelther 1 noe 1 follows.
FW1 3R | sgEon o &
smmm /W
c:”cghmts are camety
el

I All camels are tat.
wh 2= ¢ 0

, Condulons / Topuged

All camels are elephant,
Wit 5tz et &
II.  All rat are camela.
ol qt
Only conciusion | follows,
o faaed | win &
b) Only conchision 1l follows.
wowy fased 1 stpmee won £
{c] Hothy u lusions { and U follow.
T %18 wesmn w t
i Meit é‘émdus:on 1 nor 11 foliow.
am Prewd | 3t 11 orpEn W § W

Ay

. Statements | wv4:

I Some aniy are parraia,
e dHa m €

1. Ml the parrois are appies.
L LR Y

g el
L @re pasrors.
ek e ap o #
II. Same ants are apples.
wo it & )
ta) Quly I follows.
w1 arpre we )
b Only 11 follows,
wum ] wm
{¢] Enkeriorl follows.
= M1 N0 s wm §
i@l Neither | par 11 follows.
WL w b g v ¥



22, Statements | HWi:
1. Some ladies are heautitul.

ws wie e )

1. Some besutifuls are honest,
ww W dwor #)

115 All honest are mtsuivm.
ol e s £

Conclusions ; favsd;

I, Some sensitives are beautifuls.
Y e g

1. -Some honest are ladies.
wy S e §)

1} Some aensitive slowsa,
we wvordin e

{a) Wane of the Canclusion (ollows,
wif o fsyd seqmem i won
(b Only Conchusion § followa
v fd | sppeen wm £
(c) Only Conclusion L and | follow
e vt [ oafe ] wrew e
) Al Conclusions follow,
il B siEen W §
23, Statements | $451:
1. All oranges are bananas.

wd it W )

Il All bansnas are guavas,
w7 smen §)

Conclusions / e

1. Some oranges are guavins.
w2 wm smee )

Il, Some bananas are oranges.
we o Ut 1

f2) Only I Hollows.
¥ | aegmen wam

M) Onlv il follows,
w11 segmey wh
{cl Either 1 or 11 follows.
WM om T sgEe wm
W) Both conclusion T and [ follow.
Favmd |l |1 oo s wn )
24, Statements | ®v:
1. Al fruas are flowers,
weft ooy e #
1. All Bowers are beautiful.
wh wm e #
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M. Some beautiful things are gold,
ww o wep s
IV, Some goida are silyer
ws wivx ferar £
COIIMM / Frod:
Some fruits are gold.
£ ww s §
Il. Some goids are siiver.
W v faewr B
I Sdme flower are fridts,
wo we we @
IV, Some silver are fruits,
wu forae we )
{a) Only conclusion |l and 1 follows.
v faad 11 o (1 wpom wh
(b Only conclugion 11 and IV follows.
woem fowd 11 oy 1V aequre wrk 8y
ic] Al folinwa
il s e 8
& Noane foliows.
Wi argwon A T #) e

. Statements | W¥:

L All monkeys are deers..
il W foes &)

1. Al deern are cows,
e fevn wy &)

111 Al cgwe are Buffalo,
b i e K

Conctasfons / fewd:

1. All monkeys are Buffalos,
wh W i ¥

Il. Some Buffelos are monkeys,
*n e b

Il Some cows are monkeys,
ww s o

IV Al deers are monkeys,
mi fem v

{a) Onlyland Il lsliow.
w pal 1) s weh &

{bl Only 1, [l and 111 follow.
waw 1 I e TIr sepr wnd

{c] Either I or IV follow.
oMW v s s

@ Either 1, 1 or 11l follow,
WML W s s b

Sytogam | 0w e
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Mathematical statementa and Inferesnces
are primarily related to mathematics and are
bezed on statements and conclusions, Anthmetic
signasuchag+, —v, > §, 2w = & < " w W § are
used in these questions, 1t is very important for
the examinee to know the different types of signa
of mathematics and their use.

Statements
An expression gven in the context of 4

mathematical subject s called a stutement. A
combination of mathematical signa; symhola and
letters that are grouped together by mathemutical
rules is called a atatement. Like -P>Q 2R

Conchasions

On the besis of the given stofements aome
mathematical Interprecation Ia obtasped 1t ia
called a conciusion,

Aa mentioned adbove,

P>Q Q>RorQ=R

B0, it is clear that P> R | P is greatsr than R

In these types of examinations, two Or more
statements are given and bayed pn these given
statements there are two or thiee ronotuniom
The symhols given in the statements are based an
a mathemotical structure. which has to be
logically solved by finding the conclusion of the
statsinent.

TR W O S WA e e B e A
et s Pt o s 50 ih € o5m o o oyl E nf
BT R > 2w o =, Y, % S ST
I E Tt v e W fem e ) vy % fnfes v
W foradt o o g wt e fom st s £

A

niuETe P F w8 W W shenie W e v

¥ nfvws o, o = 3o W o & st wteTY
vt S st st 2§ afwEu wwn

wemtim PoO2R

e

80 oy bl & srmurr S okt wfets s e Bl By

v £

W e fey e o TR,

PoQ. Qs REWIQ~R

FuTE_PoR(PRATET)

T3 2w sl 40 wd A sy st vl i faed
qﬁﬁnmh#!ﬂﬂvﬂi T T W

nmpat w;nv«m-am T BT

2o B D T i w e  fred v e s
FRpE s Igm

EXERCISE

Directions [Q. 1-5): In the following questions,
the symbols +, — =, = and ¥ are used with the
meaninge as lllustrated helow;
fldm (. 1-8) ve v A faw s, -, = o 09 = 9 i gl
Fforfoon s yeima Tww o B
& A B means ‘A ls not greater than @°
A+BWEWEN A BATRWR
® ‘A - B'means ‘A is neither greater than nor
smaller than B°
A-Bwimme s AasiBaasrieirsn
B W WAt
& ‘A= B'meuans "A is not smaller than B°
‘A =-Erwraeed B 3R @Al 8y

Matematos Motement ond Conciuros | Tl Wt ud Fesdl

® ‘A« B'meane ‘A {8 neither gmaller than nor
equal to B'
A+BPmMTmiEtwAImBRROt@n IV B
% Wt § ,

© ‘A < B'means ‘A Iz nelther greater than nor
equal to B
AxpwmmritfsArsmpasptinIgs
W Wt &

Now In each of the following queations, assuming

tho given statemeonts to be true, find which of the

twe conclusions | and 1} given below them is/are

definitely true.

fatafes vrw VIR 1 7T T SRR W W ST

Wit e 57 T w AN Fwd | T (A PR e bR



Give Answer / 7ot tfam
(Al Only conclusion | follows
e wus foad fuw B
B} Only concluxsion I follows.
Lot e mlif ks
{C) Either conciuaion [ or conclnaion 11 follows
s o o et 1 S 11 e
{D]  Neither conclusion | nor conclusion 1 follow
g x frsed sl @ Fesed [ #
I. Statements ;| %51
K+P,PxT, T=L
Conclusions ; 1w
L K+L I. T+K
2. Statements / %
P*QQ+R R+W
Conclusions / frwd:
LP+R 1l QW
3. Statements / w9
F=G,G-M, M~V
Conclusions / fowed:
1. V4 M I V=M
4. Statements | w9
FeW, W-T,T+X
Conclusions / frand:
I. F«K 1. W=K
5, Statements /| Wi
R=8,S-P,P:F
Conclusions / frwed:
I, Fe8 1. Fx3
Directions (Q. 6-10): In these gueations,
relationship between diflerent elements is shewn

in the asaternents, These statements are followed
by two conciusions.

FRlwT (0. & 10): 79 w0 O wus 8 Py ol % S wowws

Tyim T | 71 W % w1 s frg oo ¥y

Give Answer / 7T 0fam :

(Al Only conclusion | follows,

 wify e Bl e £

{8} Only conclusion [l follows.
v v P [ T

{€1  Neither conclusson | ot conelusion ([ follow
o o Seacd 7w [T sy wee ¥

(D) Both toncluzlons 1 and 1 follow,
et 1 o [1 28 g weh 1

—~f SAFALTA.COM
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6 Statements /| %9
K>i2T2E O<R<K
Conclusions / e
I. R<E H O<T

7 Btatements | W1
BA>8<i=C>L<Y
Conclusions ; frs;

. B>L 1. A>Y

& Statements /W9
C<Ls0O=U=D=§>Y
Conclusions | fres;

L O>Y il. >0

9 Statements | WY
B>R>E>A>K H>A>S
Conclusions / fyud;

. H=K 1. 8<B

10, Statements | F9:

J A CzK>SxA
Conclusions ; e,
. C>J I, C<J

Directions (Q. 11-15) In the following questions,

the symbols iz, $, #, @ and % are vsed with the
meanings-as Hlustrated below:
fAte (w1108 ) Peoesfareri 84, $, 2, & w3 wirst
1R e A F e vam fea e
& PRO means ‘Ais not smaller than B'
PSQm iR P Quawmn =
® P menns A is neither greater than nor
cqual w B’
PoQwmat'e, QRIMIptIwE b
& P & Q' means ‘Ats neither smaller than nor
equal to B’
PEQwTARE'S, QUAAR TR www §
® P % Q' means ‘A 1s not greater than B'
PRQWME'P, QAR L
® Pug Q'means ‘A {2 neither greater than nor
smaller than 137
PEQWMMTP QRINTPIER
Now in esch of the follewing questions, sssuming
the given statements to be true, find which of the
twe conclusions I and 11 given below them is/are
definitely trus.
a Feistom v T 4 for e W e e g
s fw = S T o ww faeed 1, 0, m Ay W R
v (R Pl s Qs & (F) 9Bt ey T e )

Matamateo Satement and Conciusion | TREN W ol Feed
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11 -Statements /| %«
RUJJISD. D, wK K% T
Conclusions | Fped;

. 78D n Tabp
I RéK V. J&T

(A} Only elther | or 1l follows
smR Wl ek
B} Only I follows
LREBHE- )4
(C] Only Il and IV [ellow
T ilw Ve §
(D) Only either 1or [T and 111 Tollow
FTEwREIwE S T e
12. Statements | Wa:
THRESM MaD, DoNH
Conclusions / fraed:

I, D%R fl, H¥R
. T&aM V. T%D

(A) Only T tollows
Sl b

(B} Only Fand IV follow
Ty amy

1G] Only [ and [ follow
sTorinlwaf

(D) Only Il and IV follow
TEnaIvESt

13, Statements / ¥a:

MiuB BENNSR RUOK

Conclusions | Fwnd:

I, K#B N ReB

N MSR Iv. KoM

(A} Only Tand i1 foliow
LES BRI 6 E

(B Only [and [§ follow
fan st

(€] Only Il and [V follow
FrElivyoat

(B} Only II, 1 and IV follow
s L, e v Em

Matematos Motement ond Conciuros | Tl Wt ud Fesdl
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14. Statements / wWI:
FeEH HAM MRE ESJ

Conclusions / foa;
L JoM I E&M
I Mar IV. F2E

{Al Only 1 and 1 follow
Twinllas§

{8} Only Il and 111 follow
s T E

) Cnly |, 1T and 1 follow
Al e v E

(D) Only I, 11 and IV follow
s 0L M=V

15 Statements /| ®%:

DY%AAGE BOK K%M

manmm/mvl;
B$D I, K&A

lll MaB V. AaM

AL Only 1 1 and IV follow
sy | veast

) Only 11 and 1 follow
RSN ATIE 8 4

G} Gnly L HEand IV folloaw
L (9 wn

(2] AILL L 1 and 1V follow
1,1, 00wy it s

Directions (Q. 16-15): In the lollowing questions,
the symbols & *_ % # and @ are used with the
meEnings a8 llllmramd below:
adm CROA000 s Pmtiydons et 8wl s, «, 90, 8 W
w1 wim Frsmgeer ad # femoma by
® P 9% Q means ‘A is neither greater than nor
equal to B
PRnQwmamb'y QAasmIp I’
® ‘P35 Q' means "A |3 neither smaller than nor
equal to B
PHQWIN P QARSI I YW |
® T Q' means ‘A s not greater than B’
PrQwmat'e QRapaf )’
P ¥ Q mesns ‘A s not smaller than B
P Qwmai¥'p QRum Wik’
® P #.Q means ‘A is neither greater than nor
smaller than 1’
PEQWMEP, QAWM
Nowy in ench of 1the fellowing questions, sssuming
the givers statements 1o be true, find which of the
two conclustons 1 and il gven below thems (s/fare
definitely true.



atn Festafamn arior gy & fo, o wwrd] ot s e g,
e orryy P ol o fieg o Srewedl (g1, 1 o8 v F
wis.my () f=ivam v § v 6 F it o e
FHT W
16, Statements | ®%;

HéJ, JANNa@R RW

Conclusions | Presd:

I, WHSN . WYN

H R&J V. RaJ

{A) Only | follows
Aaad Lokl

1B} Ooly I follows
TSt

(C) Only 1T follows
s || h

0] Only either 1 and [V follow
WAL WY

17, Statements ; %9
B D,DF, P M M=N

Conclusions / Frawl,
I. B%F n Msp
I N F V. DaN

(A} None follows
Tzt

(B} Cnly I follows
Laad ko

(C) Only T fallaws
WSt

D) Only (I follows
L Lo BR ]

15. Statements | W :
R*MTIM MUK KV

Conclusions | frwnd;
I. V&M n Va&T
e M% R v, K&ar

(&) Only I and i feliow
v | e e

1By Only | and {1 follow
wa | e (11w &

- SAFALTA.COM
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{C) Only I and IV follow
T=mydmyout

{D) Gnly [, 11l and IV follow
R ), sy e

|8, Statements ; 9

MUK K*W WEV. VAN

Conclusions /

. N*K I, M&W

. Ksy V. Y% M

{A) Nane followa
w3 v o
{8) Only ] follows
bl bl
€] Only Il follows
R il g
D) Only 11T follows
T T
20. Statements | wH:
FezZizuwH. H®HNNAB
Conelugions / frwwi:
L Fe# 1. N3Z
m BH%H IV, B%Z
Al Only Tand 111 follow
IR AREE LR IE L
(B dnly o dik and IV follow
®WA 1, 1f Ay e
(C) Only | and U foltow
La b E B iE
D) Cnly I, 11 and 111 follow

s LA v E
Directions (Q. 21-28): Read the below given
information /statement carefully and give the
answer of the following questions.

fiadur (. 21-28) 198 ool e 8 ) of v ) e o
= 0 i by v I At
21, Inwhich of the following expressions will the
expression 'H < J' defenitely be true 2
fo= & afen gfems 8 H < ) afoafs fdyoy s
[HE R 7
jA) G<liz1=J
€ Jel2G>H

m H>G21=J
) H>G=1<J

Matemascok Satement ond Conciudon | TN wwt o Faed
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22 Ifthe expression K > L > M > N s defimtely true, 249, I the expression Z> Y = W < X 1s definitely true,

then which of the following is definitely true?
vy K > L>M> N susam
@ e A w1 Wy oW el s o

A} N=K

B K=M

€] K«<N

(D] Noneis trae / % om i £

o 1fthe expreasion M > K < T = Q is definitely true,
then which of the following is defirately true?
i avEi M > K< T = Qfftansnfigs e, @
fre & @ ¥ 3 stV wem A 2

A} Q<X

B M=

I M<Q

D] None is true /%5 w5 o §

Matematos Motement ond Conciuros | Tl Wt ud Fesdl

then which of the following is definitely true?
W s Z > Y - We X Rrm s a wm g,
LALCE R R an BB Bl R R
A W<2

B X22

i) Y=X

D] All aré tue | IS F

25 Inwhich of the lollowing expressions will the

expression 'A > D' defenitely be true ?

fo 1 2 frw sfami G A » [) wiyeie w i
A) A=B<C=D

B D>B>C>A

IC) B=D>C=A

OLA>C>B-D

IR IR0
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‘Conclusion' means the most appropriste
reault as far as the meaning of the word
conclusion in reasoning is concerned, the word
is treated in its original Hieral sensge. That ls,
assuming all the facts of the stalement to betrue
even il they ave contrary to the sccepted
assumpnon, the carrect conchussions have to be
mlien ehout whether they are 1rise or not at the
bhase of the stuternent. It should not resort to any
kind of forecast,

For this 3t I8 nevessary Lhst vou apply the
concept on any given statement in such & way
that you can casily conctude the hasics related
to what is:maid i the atatement. For this, it ia
necessary to explore the basics by bringing the
limits of our thinking within a limited range,

In order to salve the questions related 10
statement.and conclusion, it is necessacy to lnow
some important points, which are the following.

1. D6 not think about anything other than
staternent information,

2. Conjecture and preconception should be
avorded and care should be tsken that
conclusions do not take the form of action.

3. 1 are directly linked to the statement, they
are valid,

4. i there ts & sratement related to a piess
release or an advertisoment and the ennclusion
falfilty its orlginel purpose then the conclusion
ig swid to be valid because an adventisement or
press refease is given thinking that prople will
read, understand and believe it

5 Any statement in the past tense should not
be considered because |f the statement s in
present then nothing can be said about what has
happened (o the past and what was i(s gituation
at that time.

LAl

‘e’ e WS T3y i e ey awowie 4
fomr o % ool ot W R, o v e e nfeny el
W Sopew ft g & syw e By ey was o ned
T W0 WA A wres g § ferie @ i S
frmimd T da et frtwm ¥
sovr e o vl B o s s el o8 o o ey s
i T S

R ot E s e m g e W
ST zoneept F1 i ww we o i owwy | Wl omd
& st ot woll o Fowd sl & Sy sk ek o
aww Eiw s O 8 arws W e e § e

R W A W

Wyt fywd & woafam orlt W)y owrd o e
WU T Rt W) W O Sy
¢t = femtem £

L wuy wr mpw € wife P smoam v ol
wui

2 %ﬁ%immnwmm
win f frepd wriedt w1 ws 1 A

3, wEm, s, A, st AR e 8 Wi aE @
Mmoo f

4, v w fagts 7 et woua W, W e = w
A ey yedt 0wl wn el bk 2 B R g s W)
af Wl W h o P, et wEn W faats wh deawe
o o T = =8 . e oty W, s v e
ware & o Ty e i)

5. Y@V = W W OER: G0 S e Wi
METT R TASTE TS IR TR
wun et frafy wa o d Wt ww i ww o e &
o, oft wus & wperer Wt &28 el ol B R el 4
“ihih

Siasgment ona Cancupon | WY OX Tl
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6. If & law or statute or amendment is being
discussod in a starement, then the factual marter
connected thereto will be valid as a conclusien,
becatse the purpose of making any amendmertt,
Jaw or atatufe 18 that the comman people will
accepl . N ks important 1o remember thal the
conclusion should be directly reiated to the
atatement.

7.1 the conclusion has words like definite,
absalutely, hundred pemcm, only, alma all,
every ete, then do not consider it. If the conclusion
is the direct result of the statement then it is
valid.

B. Sometimes there are only two sides to o
problem, if one of them Is given in the statement,
then the other ia definitely a conclusion.

0, Any sentenice in future tense should ot be
regarded as the conclusion becanss by leoking at
the present we can only predict the future but
cannot find the conclusion.

10.  Somelunes only two sides of o problem
are possible, in that case both cannat be
congidered as the conclasion, but only one of them

is possible, in this case vour answer shoul! be.

oither Tar 11 Make sure that both the conclizsiona
are given together.
Exam oriented tips

® 1t |= acceptable for the general public 1o
fellow o government ordet or rule, %o (f Lhe
conciusions related to it are directly relusted 1o the
statement, then it will be valid,

® All the sspeets of factual advice, opinion or
any issue given in the statement should bhe
consldered; if there are more than two
coneluiony, then ene or two of them should not
be consudered #s conclusions.

® il the statément is a pasitive ane, then the
conclusion will aever be valid,

@ Practical truth is not insignificant in such
statemonta, rather what is bring snid in the
atatement should be accepted as. true,

® Generally, the root cause and diagnosis of
the problem which s given In the statemens |s
lidden in the statement, the examinee should
tey to find its details with the help of the
atatement.

ssctomont ond Conclugion | s i Sed
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6. ufz fext Wi w faf @ vy o 29 waes § o
- TH N, MR Y vewew wm feed F w9 6 s e,
wifw fasd off svhes, v W fufe et w e @ e
iy e & Sy o it o ), e T foend wan 3 i
W= Y B e

7. % fawt 8 ffvam w4, Toes, owes nfinm,
TR, M, WO N, o, sEv v ai oy g8 W W
7 A wH, e Wy fred @ s W oy ofrem &)W
wwre o & s Specinl Matter % Generalise

8. = v fod weon % 0 R e T F vl e G
ww W 4 fm o @ W gwEn feives w2 4 Gead Ay

0, wiwrsm %1 wn 5 Freed & v § e o
AT WY, ST VRS W1 Ty i ¥ W 9 faw
sepers s e b faswd ol fewon w osw i
T T ® fuliee W ST WW W TER 7e e
W W RS

AN, wodowd Bk e % @ A v i E
fogty & ol w7 o0 Trvw 9 I W T T A AN
W e b B gw ofrfady 4 srew v gem owdfen W
| = [ =@ o % o e o B o W)

aowryutd T

® wowlh ot m s W ST ST o e
wwTE T R, yRen T i e vt wes @

W TIen A Wy

o wut i fam nemas wee, fran m oo i gt @
yeesh W W e, SR 9 e e e
#, % o & fed me v A W Pt wd srew wleg

o it wwa Positive & & Negative Fead wed sy
i

® T WEW TH TR T w0 2 weewes ow f
i oo & o w w8, | A s s sy

® TS W HAYE WA i o Wt ¥ owre e
» frm wem 4 fow B & ST ww W T B e
# Trerrn wien)
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EXERCISE

Directions (Q. 1-25): In vach gquesation below is
given a4 etatement foliowed by two conclusions
numbered 1 and 11 You have have 1o assume
evorything in the statement to be true, then
consider the two conclusions together and decide
which of them logically follows beyond a reasonsble
doubl from the information given in the
statement.
ey (9 1-26): fru m gw wve o uw e sii
Poowd 7 afte 17 P e ¥ Steet wen # fee e w
1 s e s K o el w oo d S
wrn & abe ur faefeen wen # ool # ofom P
o i e ® e wfew e R ster
Give answer/3m Ofay,
fa) WWonly conclusion 1 follows.

it wow fad | srqmen wm §y
b} iEonly conclusion 11 follows,

wf e w1 s v &
{¢) AU neither | por U follows.

ot o P 1 s a W srgmon wem &4
1) I both 1 and 1] toltow,

iy Freed | obe 11 T seguom Wt B
|. Statement ; w9

After collision of two vesscts i the sea all

the crewmen and passengers are deciared

as muEsing. — A news report

s O et W) werd faen o ool e

ot sl g s fym e 1 o e feed

Conclusions / fra:

1. Noone from the two vesgols hes Furvived
after the collision,
furgn % we S e o o o o v o
o

1. A lew persons from the two vessels may
have survived and are migsing,
o= et # 0w i oew mym wen # ok
e ¥

2. Statement | ®49:

The Electnicity Board of state X has given

ultimstum 16 the farmers to either

regularise their electric connection by the
end of June 2020 or face the legal pmaecdurc

W X W) Pege ¥ @ facund Wit s Brvie fom #

W W 9 2000 ¥ sn ww Prgy soire w) fafan wd

= ®=E ofEw = e el

Conclustons / freed;

1. The Electricity Board of state X has fuiled
e provide regular connection to the
larmess.
wrs X W Py il T ad feafan ey

gt “w v o o o b

Il. Ag the farmers of smate X have small
farms they don't need ¢lectricity for
agriculture,
witw v X % fynet € wg w2 o # 3
wiy € Tom Pegn ot sowveem vt &

3 Statement ; W
Animals have been dying with alarming

regularity at Nandankanan zoo in Onssa,
w wrewn Pefranen # wpewd ferds o o
T T o
Conclusions / Fusd:
1. An infectious disease has apread among
the animals-of the zoo.
hﬁt'm * won! @ gy W w1 i e
mh
I1. Something is terribly wrong with Lhe zoo
mansgement,
fetrwmpn wivm 2 Wi wrer mewdh b

4. Statement | ¥WT

The Insurance Act, 1938, and its minendment

m 1950 have provided the regulatory

framework for insurance businsss in India

19735 w1 e afofresy sfr 1950 9yl a4

war W s =) fyome wrdey fomr

Conclusions / fran;

I The Insursnce Act can be amendad,
Wi stafae # s ww w e #

1. The Insurance Act can be amended only
afier 12 vears.

ga?ﬁ;ﬁm 12 9 o ot & pam W e
i

5 Statement | ¥W%:

The pollution-related problems made the

people of country X realise that while

econoene 4 was ltportant, environment
conssrvation was alse necessarny,

X tw w0 v W) e Wi el 4 e wens

wrh o feay feow & el Sy nfale fywon o o

wor Wi fem

Conclusions / fad:

I Initinlly, the people of country X’
concentrated ondy on economic growth of
the mum%
won X7 s %t ¥ sl fawn
0w T fa

1. Economic growth has been achioved at
Lhe cost ol environmental balance,
anfvbs oo wrbaon e W e W R
e fem o &

‘Staqgment ond CancuEon | WA N Tl
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Statement ;| F9I

There {3 no person who docs not possess

some virtue, and no person who is entirely

free fromy evil

w1 R dw sy ol # Ped w3 ¥ e il

# abe w o g qnd @ D me soer o o

Conclusions ; Fresd:

L. Man is fraught with either virtue or evil
wEa W W st W qod 9@ v

11, Good and evil pouits are both present in a1l
of us,

s sl ot O @ we e fege
Statement [ ®W:
“If you are attacked it fs perfectly legitimate
under intemationel inw tn exercise the right
of hot purauit. At this moment wo are not
considering it."—inion Home Ministér of
country ‘X'
W A U e g # W sew ¥ S siweindy
T W SO0ty e w2 W (Hot Pursuit)
* wfER ¥ TvEn wrE e
Conclusions / fwed;
I Hot pursuit'is the ultfimnte step
wie wope ot affen e §
11, Country X' has been attacked by some
other country,
sar X’ v il e W % o e fewm o By
Statement [ ®w:
For over three decades company X' hax been

totally involved in energy conseivation, its

efficient use and management
wrft X fe W v o o saw @ = woew,
pord tfen pomsy ol wowwirie < e o oet #)
Coneluslons / Feed:
I, The company haa yet to learn &nd
eequire basic things in this area.
wrd anlt we o e F qfend wupd F et o
¥ W= aw b
Il It is dedication that is more important
than knowledge and expertise,
sy e ol e W T e f)
Statement ;| =91
Thiz book Z' I3 the only book which focuses
its attention on the probiem of poverty in India
between 1950 and 1980,
2 fmw gwrn gm wa £ W W F 1950 1980
L mw % nivd o woyew W owoy o v #
Conclusions / fwd;

I, Thete was no question of poverty before
19340,

1950 % 9d 7w ) wif v e o

sictomont ond Conclugion | w00 S

10,
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Il. Noother hanls deats with poverty in Indin
during 1950 1o 1980,
xoaft wif of Syome e # 1950 % 1980 £ #
o i o Temey oft §

Statement ;| w9

Research has proved that people eating high
fat diets coupied with decreased level of
exercises are prone to heart diseases.

wra B v e § bt et o e wdt st
e ot £ s woym wn owh £ fon % Goow
forw W W &)
Conclusions / fr:
| People shpuld reduce thelr high-fat diet
as & preventive method,
e W e v F ey # SO el ey
o o I witn

II. People must have sufficient level of
exercize to reduce their chaneces of
having heart disease.

v =) tem o i o Wt F forg ey wy g
v wen wafen

ll. ‘Statement ; wWE

12,

Omly those candidates with exceptional talent
and Atrong masSvatipn should zpply. — An
advertisement.

fr S soadl e et Py wn semmaren g

st s T — o e

conduﬂoou / frewd:

I Candidates not fulfilling these criteria:
w Dot be considered.

3 ® um R v e = o

Ty o

II. It is possible 10 decide clearly who 18
talented und motivated.

s wmn Peregm s £ P Wiy wiraerd she
ey Yot wen &y
Statement ; ®¥T;

Book your fiat before 15th June and avail
interest-free loan from the builders. - An
advertisement.

15 31 & = gy i i o v e 6 sarefen
il v — ow yewm
Conclusions / Yyed:
I Na flat will e hooked afterwards.
= mity ¥ = w ¥ fewt o oy
1. After 15th June, no loan will be provided.
15 9 o wx w3 m oof fen e
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14,

15,

Statement | W%

“No part of the educalion of a politician in
democracy 18 more mdtspcnsabtc than the
fizhting of clection.” — A politician‘s

‘Statsment.

Poovit i o weliews foran o wp it e ey
ueerpe ot & Pwrn P oope o g s
Conclusions / frwd:
1. A peolitician should be highly educared to
influsnce people and win elsctions.
ww ety sraisrs fadey o wi o
s Wt g e spos i e
II. To succeed in politics, it 18 necessary to

leayn and practice the art of
electioneering.
ety o v 4 ot forn e sneraw | faoped
FE W Wy W)

Statement | ®W1:

Global scological issues have eclipsed Joco)
environmental problema which are being
faced by the poor societies,

ferryonrd) wefyrered wod ¥ witw e ¥ winl oo

o™ wr At tagsftn wabwem sl s o et
o fr 44

Conclusions / Fresd;

I. Poor societies always have to suffer
because of their poverty.
wive sy o o v e ot b A
e wem £

. Global seolagical |ssucs sre not so
important. Rich societics can bear with it
Syyorugdt sabyrovnd) s e o €
wrrw o8 fw wem £

Statement / ®W

0% of the world’s data is procesaed on XYZ

company’s platforms’ < An advertisement of

XYZ « a computer manufacturing company,

i W 7o, s W ety i XYZ ¥ wm

wrowm B — weepn Sl well XYZ w1 Fomen

Conclusions ; fywd:

I. There is no other in the world
which produces platforms ol dats

pruocessing,

ofem & siw qmit W Wt A9 W s v

‘Dntaﬁm’ ingy ¥ frm oy o g T
]

16,

¥

18,
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i1, Company XYZ has 1o make more efforts
to market its platforms.
XYZ wolt ot abe mww wrt o e # mie
st w1 e e e e

Statement [ ®WT

The government of State ‘A’ has sought a
waiver of outstanding Central loans of Rs
4,000 crores and o moratoricm on repayment
peading the waiver,

0 WIER A ¥ ®F wTER A 4,000 w0 v W
w;.-mw&.«m oS w9 P e ¥ W
wi

Conclusions ; Fwd:

I, Unlike other states, State “A' has no
desire to make repuymcm of its loans.

T TR Y o T AT S T W srod
wen et &

II. State 'A’ financial condition does not
appear to be satigfactory,
WU AW welt ey sl A sl

Statement | wu%

Mr X lost the Olympic gold in 100m by one-
hundredth of a sccond.

W X 100 9w ot g F wpiers oyl wow dwr
o i v ot en o
Conclusions / fawed;
I Mr X won the silver in the (lympics
& X9 vinfirw wd) wor fiow
I X S0 great sprinter.
& X ux mr wnes b
Statement /| WWE
Mlania and animala produce numerous

sceds but only a few survive and not all are
alike,

it Site B wew wwr o @ g e § sty

;ﬁiqammt*mwhw
)

Conclusions / fawed:

1. Nature nllowa only the individuats with
better ablity to survive

ity 19 22 ster S wifen orgd # P
wm W A W are ww R

I, Every species wantz to leave its
impression on earth.

wo el ywlt o sen wm owrew wel

‘Statament ond CzncuEon | W OF T
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19, Statement | ww%

21.

In Indin, most women see their dowry ns the

anly share they will get in thelr parental

proprrty. What they object to are only
extortioniat demands,

wo % sfurem wfpa or % wrdt Ay o

w1 wwwry fewn wead #) o fol ol wd w5 e

widr #

Conclusions [ v,

I Indian women do not have any shore in
their paréntal property.
woirn wfgerat #1 39w Ggw waly F W
fweterdh wh Wi &)

1. Extortionist demand by the bridegroom's
gide iv « common practice in [ndisn
society.
sl eea W e W1 ST N e e W
um v e e ¥

Statement | w¥

In erder to bring about & mujor growth in
commercia! transactions with lndia and
eacourage bilaterad trade relatony. France

has announced a bilateral treaty r=lafed to

mult-parpose projects,
W e R vyory e freale e 9l

srafare ® fm gfa 2 st b @
yotan o o) = o) 2
Conclusions ; Fa;

. India iz atso willing to strengthen s
dealings and trade with France.
i Sl R S sl e g e
& '

11, Bvery conntry should develop commeréial
relations with others.
T tn W gt OF % mw snwnfow wew
vy Frn wim

Statement | ¥

The American presidential election matters

nat just to the Americans But to the entiro

wordd,

sttt g o1 et = fifl wate o fie wfes

wit feen oy e Tom £

Conclusions / frd:

. The world affairs are highly influenced
(h}ys:hgmmy of the power-bearers in the

Sryyenrdy s srafre? sfwenfra # B w
w¥ wwfer v &)
1l [tis the American president who delivers
Justice to the entire workd.
;u‘lfme iy gt S Wt = o W
L

ssctomont ond Conclugion | w5 i Sed

22,

24,
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Statement ;| ¥uT:

In Indis, & large portion of the 3 million
mobile phanes sold Gl date huave been
purchased from the grev market,

Wy # arm oW W T 30 me W e o
e sapdtn At F o9 om &)

Conclusions ; Fre:
I, There are at leas! 3 million mobile
phone subseribers (n India

yrm 2 e 30 v wadw o §)
Il Products sold in grey market are ta-free.
wpdt et & w9 v oide wr ot e ol 8
Statement | ®WE
The chances of a war between india and
Pakistan have declined,
oo shr yfwean % diw g o woww e gl ¥
Conclusions ; fye:
L Both armies bave built up defences in

response.
s Sl i & w o pered o v
werw 1

II. There 12 considerable (nternational
pressure an both the countries 1o
revirain themselves.
VIRESAY o 0 A e s R T
w7 ey g )

Statement | w04

‘No aspest of cricket is more indispensable

than good flelding.” — A captain's statement

o & wen Teerpd o e — o v W

Lol

Conclusions / frn:

T Towina cntm m:):rh, it;? m:ocm w0

Cedrnand iee the art of good ng.

fow fwrwe iy w1 WeE o fore, se e #
sl e e e st g e e
am)

M. Good fielding is eneugh to win a cricket
match.
sod s fed i o e W feg e £

Statement / wWT

Governmenl has reduced span of price

control from 74 drugs w estimated 38

uren 4 74 ok e fingdrs o) o w1 wn .

a8 w7 fem &

Conclusions / Fra: ‘

L Price of some decontroflzd drogs is likely
Lo rise,
% wosrtmen 0 S veed w1 o vy e
£

11, Avallability of some drugs |s likely to

improve,
W= Tws W Teeems | e o
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Assumption means "to casily guess the
implicit meanings contained in a given
statement”. The meaning of implicit is 10 sUggest
or express i an indirect way. Sometimes people
di not say what they hive in mind, that is, what
they think about, but we get the meaning of that
thing from their statements. For exampie, if we
=3y that ‘an honest police superintendent has
arrived in the g¢ity’ thal will stop crimes.
Therefore, it is 4 complete copcept thet if the
police supermtendent iz honest then the crimes
will be stopped. So it ia ¢lear that when we say
soinething, we do not express every emotion of our
mind, We leave many tbhings / deas nside us
without saying This tendency of idess can bhe
defined us predetermined.

Some important facts to solve questions
related to Assumption

(il A statement can have more than one
assumption. ‘

|1} Any preconception sbiguid be common.

(ti1) No predicate smatement shouid be mors
comprohensive than the statement.

[lv) Assumptions and statements should be
meaningful 1o esch other.

lvj  The prediction must contain the exact
aense of the statement,

Ivi) No assumption should contain anything
cutside the statement,

[vi] Such an assumption should be considered
as a valid one, which reflects the effect of the
atatement communicated to rhe public interest
and the duty of the mformer and which is likely to
have & detrimental elfeet |f not continued,

Iviii] An assumption that shows any
improvement, beneficial effect or result, should be
constdered valid.

ey (Assumption) W13 N e g wes
fufmn vl 50 amwmrd @ sipers e Fefen w1 and " ey
v & s o s wen B owedt dt wra . ofn e
W wan, A T = A o b sy e A e et 8
N TR TR W 2w e w ok e A § el
= v § i 'ap F ow farmm e s saw b
Faem STemd =1 TTw ST (T v e € e
W TR P W T v e v v
w5 vt e wnht B R oen ) oy w aie somn o s
W W T TR W sEw wepsh e W e e
g ® § ) fywfl &% o owyfa %) whorm € s i ofafe
e = wem ¥

e @ weaters vl wose w0
W W AT T T
1) TS e e freet =y e §)
(21989 YOI FE= W i)
(3) wnd of pévrees wy & sf\ow sapey 9 A9 e
(4 ) ptwTT # WA TE-TE W Tmiw ¥ T
(5) PRNT B W0 ¥ NGNS T B 0

(&) W78 V1 TR § S W R W T S e
o

{7 ) T RN W A T WA e, W e S
T FE TG ST R N T e 8 O ¥ W W W
TV I W T S W T W e T O W
TEEE E, W o i

(&) T giaEm ) fE AT | SV T, SRR
qfrogs W vy worm kw7 s e

Stotomant aed Assumpdion | W whare
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1iX) An assumption that expresses the same
effect on two obiects ol the same ciass should be
consgidered valid.

{x} No assumption should be a conclusion drawn
from the statement.

Analytical description of validity of
agsumptions

Based on the sbove examples, it can be
conciuded thot the task of evaluating the validity
of un assumption s not difficult, but to complete
this task properly, it s necessary o be careful and
carrect, Sometimes just one word [ sentence
makes a huge difference when evaluating ths
validity of an assumption, Looking at the various
aspects of assumplions . we are clarifying some
important things, which will help you toidentify n
valid assumption,

(1} The presence of certain words in an
assuamption gives a kind of uniquenoss to thia
sentence, making it authentic or unproven.
There are some words which pral more emphasis

on the sentence than other words, which changes.

the general meaning of the sentence, Therefore,
when such words are nacd in 5 sentence, we need
to be careful. Words like only. best, strongest, all,
definitely ete provide some kind of certainty and
vou should be able to understand their mmnlng in
& sentence,

Assumptions based on advertisement,
information, appeais and PILs

Advertizements wre usually issued by firms /
companies/ inatitutes f indugtrica or government
bodies 1o attract prople or to state thelr specified
characteristics or qualitics,

Mast of the information is isaued within an
office, in which the inlormation lor the concermed
persons is mentioned.

Appeals are made by the gavernment, voluntary
organizations or some other agencies. [t is usually
acoepted immedintely for help or sympnthy. It con
alst be an indirect suggestion.

Public interest information is usually isswed by
the gavernment or other competent authorities,
In all these types of guestions, the

assumptions of the following types are considered
1o be valid.

$'comont ooct Atsumation | #NY I8 Wi
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(9) W WA W TR N F W O W T
T RN N W I b, O et W A e i

(10) =% & i wwa 3 amar T fewen w Fred
AW ¥ T

wiarwmsi Wt Awm w1 e fewam

TR T S Wy e fwen wm wwen
sty e 5 e W R W e e g
&, =T W W WA 0 SN e W e i
= afvd o somreem ool e dhee gw e e
RN W A 0 A A e v s Smwr i
s % fafa= el ) 28 1 v W seerpt ant
w1 e v £ 0 SR o A gy W awees §
Laut

() Tl spbemeon 8 s el v o) ioefrarfy v apy
T ST W P T WO A RS e et
w9 A b e v 59 AR E R gt e S e owes w0
Fiww = o ¥ fom A w1 e et o o

g e e s v e w ey e e B, R el

WA TR W T B R WS, v, i,
g, o fafran A e s 4 o ferll v o e
wers v § i s fe w1 e o S et
W W

faaves, son, spive 5 wafen seensi
S v e e sroomd
Frares st 91 R R W A W
wrwrt! Bowral gy oied WY arwirie wry o aen Sride

frerrermd ey g ward W Ty S vam o) fye el
L]

sfvmfvew spen T v F sisn oot ) o
b Sl o eadwrd & Fere qpan w1 st dim £

arfter srwn effans siropl o wo s ¥ fsst gm
W o £y et oW weTR sy sy @ forg
TR T WA & S s e S R e

wfen sped srvoln 1 e W v wew et o
=

7 o g uwll & feorgwm o) yrbarmf o S wen
w8



EXERCISE

Directions (Q. 1-25): In carh question below in
given a staterment followed by two assumptions
numbered | and 11, An assumption is something
gupposed or taken fot granted. You have to
consider the statement and the following
asgumptions and decide which of the nesumptions
ia implicit in the statement.
fadm (v 1-29): 9 feo T e R o 0w fen
& b et ot o pivrond ff of B P 1 o 0w
frm nm #) 93 ol gt = 9 wm phare seend ) s
w3 ot o wd el o5 o e we & sbe for e
me wrn AW wTe-W piwrm wes o aiien
Give answer/ T Sy,
{a) if only Assumption [ is tmplicit,
uft $wm P | st &
by i on}y Assumpti‘oq is implicil.
W AR g (e
{c) if nelther [ nor Il Is impljcu
W q Wy | ol 3 A g | S b
&) i both Tand IF are implicit,
e syl | S O @ st
|. Statement ; ®W%:
The atate government has decided to appoint
four theusand primary schonl teachers duning
the next financial year.
1 HORTE 4 e N¢ ¥ Sy W e adn
freee fowst o fegfer wrd w0 fodg feon @)
mmum / v
There are cnough schoold in the atete Lo
accommaodate thousand additlonal
primary school terchers,
o e wiiee i S sl
% fovn waiwy st o femreey oy £
11, The eligible candidatés muy nol be
interested to apply as the Government
may not fioally appoint such a large
number of priwary school teachers,
o e § dvem gre by dTT wiE o ol
v o g e @ fw mewre s, ol wt e
¥ onfirw frmpere fowst = faofe 3 5 ey
2. Statement | $9=:
The reaieal hoas decided o provide monetary
relief to (e Carmers in the dmm L-hit areas.
TR 9 e el W e W e TeEey
wot w fede Sy &
¢ e
The farmers of the affected areas may
accept the government relief.

spameen grpwt o facrn speandt o eftwr
wsn &

pl

-4 SAFALTA.COM

A rrenes b MW TN

| = SAFALTA CLASS

--—¢§

11, The government machinery may be able 1o
reach the sifected farmers 1o provide relief.
weeol oy oen v wet o e e S
% viud & w9 e §

Statement ;| w4,

“If you have obtained 75 per cont or more

marks in Std X examination, vour admission

1o our canchmg class for XII Std s

guorantesd."— An pdvertisement

ol et Tl W ¥ wite W 7S i @ afue

stw wra fom € W worht W % S e Ffw

W o s ufeew vee #0uE b

Anmptlou / el
Bright students do not generally opt for
attending conchlng classes.
wfzars wrn sl =t Afes sl § Wt W
won i wrd By

1. The coaching class has adequate capacity
Lo seconmmadate all such students,

HMuww vt % we 0l mE gl W naw o4
W s v

Statement / wwq;

“Invesl in our reguiar scheme and earn an

intereat of at leest 10%." — Advertisement by

a Finnocial lastitution

gt Pefere e d fom o ole w0 w0

gyl o Py o g STewn

Assumptions / Yo
L“érm may attract a goad number

fakyry 1000 = % o W tow s
wed #)
II. No other scheme offers interest as high
a8 100%,
wif 553 e o fer sfow s A it By
Statement / WY
“Join our Yoga institute to keep yourself
completely fit,” — An ndvertisement
er W) pbew s e ¥ fen e i e o
v ot —oF P
Assumptions / yiwemd,
L People may prefer exescise 1o medication.
i T W W W = 5 Wi | Wt
+
II. Thereis an pwarcneas to 8 great extent
about Yoga excreises among people,
wir S whapsson o b 5wt e e ey §)

Stotoment aec Astumpsion | W wdars
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Statement / ¥4
If vou wartl to get o good Job you must have at
irant the bosic knowlodge of computers.
i sen gt dett e § o w0 wn s wep
w1 I @ e e wiew
Amptlm / oy
All good joby involve use of computers,
:!! srait Frefrd o wopd v so afade fw
|
1. Nowsdays computer knowledge has been
maode an essentinl criteria by most of the
companies.
wwEm s sl pn STET ¥ = oW ow
W mrecy vty o
Statement | W=,
Ten candidates who were on the waiting lst
coutld finally be admitted 1o the course.
= el 6 st T € e fen o T
¢ oot sfesopdt o W
Mnnptloul e
Waltlisted candidates do not ordinarily
et wdmission,
:m wve- g W anafhind wr wen wt By

11, Alarge number of candidares were sin the,

waiting list,
sl W) sfom o sfewr- e 2 Wy
Statement |/ wu,
These mangoes are too cheap (o be good
% s o weh £ e e ol @ el
Mnn.pﬁou / prvevrond :
When the mango crop is abundant, the
prices ga down,
wy e o) wrgeogm woR & el e el
%
1. The lower the selling przce, the mfenor is
the quality of the commodity.
fvwn et e e e ey wh e e
o sy iy
Statement | W
Many erganizations bave switched over to
anline mode of examinations.
oYY # v v ¥ wigeere i W) i
vurenfen 1w #
Assumptions / Piwrommni:
1. Candidates from afl pasts of the country
may be well-versed using computers.
o W wsh sol 8 s wope W e W
W Tt e

$'comont ooct Atsumation | #NY I8 Wi

10.
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i1, Oniine mode of examinations helps in
recriiting more capable personnel
izt w1 steems wive) sfirs sew wifey
*1 vl & serEm won £

Statement | ®W4:

The college administration bas instructed

all the students to stap using cell phones
within the college premises.

seiuers e % i et w1 arframes ofmr
s e % T ® s w fedyy few
Assumptions | Péurom;

I The students msy siop using cell
phones (o the college premises,

frsnd] wprforamere uftan 5 We st W gain
wT T WER ¥

II. The students may continue to use cell
phones i the college pnnnses

fyandl wyrfrerers ufrm & o e w1 gain
W W oy wwd £

Statement | WNF;

“Pur & notice on the Board that all the

Cemployees should come on time to office.” —

An olficer tells his assistant,

e T o e ey fyondt wehafed W

ung o wryin s wfrer . v sfier st

ynwE @ Wy f)

Assumptions / qdwrond:

L Al ke employees come late.
byl fove @ o ¥

n’! Emploiscs-s read such notice on the
sl vz w il e e

Statement /| B4a:

“The gravity of ihe situation demands stern

action on our part.” - A palice officer telle his
subordinates.

“Senfe W) welime vl wn @ e wrtedt W e Wy
;atr—wqhndwm:ﬁmtm
1
Am’umlw
Unless stern sction (8 taken the sitaation
will hat tmprove.
warw ' oware wrderd) o W) el fesly of
et ot i

I, Srern action s o choice only for grave
situations.

woar s w feeey s wsfir Sl ol
oy £



13.

14,

15

16,

Statement | ¥4
The world gold production has continued to
grow irrespective of the price hike,
wpuyts o firviiy Afews vl e W e wft
Aanmpuons 7 Webvareand
Quantity of gold produced doesn't affect 15
price in the markes.
wrefon w2 80 o e S g e R pafe
it =i &

1, In case of price hike the production of
gold should be reduced.

geqyfs ¥ ety o w4 @ ey ww fww
wifen)

Statement | ®%43;

An advertisemment: If vou want 1o follow the

footprints of an ideal leader, wear X' brand of
shaoes.

o faaess - wfe su oo 4 ¥ wfesl w s

won wed v o cX wm oW Aw el

Assumptions / yiwreen

1. Most people like to become iceal leaders.
=eot o wY soevd T owen see g

{1, Onecan't become wdesl leader unless one
wears X' brand of shoss.

Wit st o ol e e e e e e X

ST OHT YW o A
Statement [ T
An addvertisement: Now yoi) can own a new
carin just Rs 1,999 per month
oW S ate se, uf e e | 9o e W el
wf Wyt &
Mnn’tlom { ol ;

fe do not want to buy used cars:
wim g ¥ of e “ariren wed B
Il Mogt peaple can affard to pay Ra 1,999
per month for a new cor.
v = wd W P oy me ) 900 T e
wed o wad @ owwn £
Statement /| w1
Beware of dogs. Our degs do not bark but they

are trained 1o distinguish between genulne
guests and inrnidera.

mewmmvmme fem %
mrnfiw 2wy st adirgn we W wiw wnd o
¥ dtn o wrt 9 ofven oy o
Assumptions / i
. Barking dogs rarely bite.
st et wh-wit ot vt £
1. OQur dogs could be dangernus for
Intruders,
gt A sefire w9 @ gUn vk mew W fom
ey g 0 o 1

»

17.

15.

19.
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Statement | w9,

The Government has decided Lo overhaul the
structure of schoo! fee by linking the scheol
fee with the incomes of parents.

yraR * T W o W) s-fom 1 e ¥ e
wepwt v e o o W warre s n ede fen
3]
Mmyﬂou / yebweroand:
Parents will furnish correct information
about their incomes te schools,

wm -y s wede ant ® med e v e

1. Parents will agree 1o pay the fee mfter the
overhauling of the fee structure.

- Den o ¥ W ¥ W w0 e W
w Pl Wiy

Statement / v

The Government should engage the Acmy for

the eapid rehabilitntion of peaple affected by

the cyclone

T W) wwm @yt g e W sdfoy g

wrE R e ww # e wfem

Assumptions / yevyonn;

I Qnly the Army can rehabilitate the
people affected by the cyclone quickly,
Wl s o w8 e s w P
e win @ v el h

11 The Army can take up works other than
war alga,

,lgsqlzﬁﬁumtﬂdmﬁdnm

Statement / wM1;

The government hus decided o launch feod-
for-warl programme in all the dronght-affected
arcas,

wren 4 uel e i 0w ¥ e s SR
v wet i fedy few B

Assumptions / i

L. The government has the machinery o
implement the food for woek prograrmime
in all the drought-affected preas.

TYE W W A Ao ol W W ¥ 9T
wriEw wwiy 78 % oM 8

There is enough food In steck to
implement the programmes succesafully.
™ STEEN W) weerrTie wisifam v o o
s W g v b

1L

Stotoment aec Astumpsion | W wdars
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Z0. Statement | ww1:

21,

“Learn computer at no cost and make your
iife more meaningful,"—An advertisement.
% fesr-'" ey e ¥ woger siforg s wen
e arhew wnbw e
Assumptions / ‘i
1. People prefer 1o join courses without any fees,
o St e o fen el 8 wff o afuw
s Wk #
1. Knowledge In computer makes life more
meaningful.
¥RgE W1 WS A W sfes ande v )
Statement ;| WHE:
“If you are lirst chass graduate, our organisation s
the best place for you W work ™ — Ao adver Geegnent
ufe s v ol wore § o wion wore e T
wm W e W va e fomey,

Assumptions / i .

I. No other organisation may require firat
class graduates as they may not get
adequate niimber of applications.

Foit = TeTEn o o it =TS 8 T

9 vl wifs 32 o s 2 amee Wy Al

Ll

Il First class graduates may £or attracted
and apply to thls orgatisation.

v et sww sy men ol o ey
B Rt

Statement /[ wWv

The X-Airlines has decided 10 ingrense the

passenger fare by 15% with immediote #ffect.

N USTIES § NRENY SWRE ®N § At fenw o |4

W afs wot w et e

Assumptions / o,

1. The demand for seats of the X-Airlines
may remain unchanged even after the
hike of fare.

o o s ¥ wr o X geomr ) i W)
win svfeafin e

II, Other airline companies may also hike
the passenger fares,

W wyrenres wafea ok anit feoe o gtz W
wolt 11

$'comont ooct Atsumation | #NY I8 Wi
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23 Statement / &V

24.

“Our bank provides ail your Banking
reguirements at one location” — An
advertisernent of a bank

Yo s arre) wh @ wend o ow f v W
wowe: wom £ vw $w o Py

Assumptions [yl

I.  Cuatomers prefer ta carry out all banking
Lransactions at one place.
wrw i % o S aw 0 e s e
w £

I People may get attracted dy the
advertisement and carry out their
tramsactions with this tank.
vy fearey @ sowfle wwe v W W e
woorry wv e B

Statement | WU

Recontly there was an incident of robbery in

a banld leeated in a crowded area

o 91 1 yowr W ws § foay mE o 0 pe

W

Asesumptions [y

I, It was » holiday on the day of robbery,
vt w gt v fra

l[’!% W 1ot have any ereangement
of CCTV camera.
W% w T CCTV S W v e o

. Statement ;| WY,

Many people are facing the problem of obesity
due W their sedentary job.

oy @ A g 23w ded 8 s e e
e 1 wnen e o f
Assumptions ; {iwond;

1. A ldittde bit of experience is nesded to
reduce obesity.,

W) W % f Wi A e 6 soTvEe
#

II. Ohesity has hecome a commen disease.
wtere o s el o m #
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An argument made in favor or opposition of a
statement that s genuinely related to the
statemen?, ns well as substantiate the truth, is
called & strong argument, whereas an argument
made i fgvor or opposition of a statement that is
not directly related to the statement, as well as
dosx not prove the truth of the staterment, s called
4 wesk argument,

It is very important to consider the following
points to kentify and solve the questions related
to Lhe statement and argument.

1. The arguments which are directly clear,

2. Those arguments are based on truth,

3. The argumenta which are trie from sefentific
point of view,

4. The argumenta which arc in conformity with
the rules, Jows and idess stated in the sacicty.

5. The argument which has & clear meaning”

6. Arguments that pre not at all comparahle.

7. The argument which dors not represent the
questioner.

In the questions related to statement and
argument, there iz a statement and two
arguments.are given below it You hsve o consigder
both the arguments and logically decide which of
the two arguments is atrong and which is weal
Strong arguments are directly reluted to the
statement and they dre wlso useful for the
statement, while weak argumertts ate net disectly
related to the statement and are not important 1o
the stutement.

fostr W = e e | fom v T S W T e
=9 8w & seafan @ @ - s o g o
0,20 W 3w ow o we B i e wea W s
™ fre T e T T W W TR TN S TR 1 T
AR, -0 N ® e w) waie el s e, R
W e ey e wed )

TPV T TR T AN WAL T TR W T W e
fustinfogn Pegll ot faraet worm sdfy soovam By
1, ol vy e & S w2

= WE TN T Sy §

W Aataw pres R sEw A

2.
3‘
§, T e 4 g v e, W v e e o
5

W W W W R

B W o Tewgs e 4 @)y

7. A wrepre 9 v ordn B

T T TR @ AR Sl O WS I 6 A
2 ol Bk ) el wore w1 foe ol el
o vk gy ST st i s A wid a v
e ST RS T R ] WS | e woee
o ¥ e 7w ¥ fopr Twnn @ e f, et wwar el
ey 8 i sow oft @ 8 e & o o P ey
wh#

EXERCISE

Directions (Q. 1-25): [n making decisions abbut
important questions, it s desirabie to be able to
distinguish between ‘strong’ arguments sgnd
Wweak' arguments. ‘Strong’ arguments are those
which are both important and directly celated to
the question, Wealc” arguments are those which
are of minor importance and also may not be
directly related to the question ar may be related
1o & trivial aspect of the guestion.

Each question below i followed by two
arguments numbered 1 and 11. You have to decide
which of the argument is a ‘atrong’ argument and
which is o ‘weak' srgument. Give answer;

Give answer/Tme ¥y,

(a) ifonly argument [ s strong,
Wi v e ) o R

(b}, i anly argument [l is strong.
uft sy o |} wm

Stotecrent ond Argumerns | we el el
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3

if neither 1 nor 1l .1s strong,

oMl ome

if hath | and Il are strong.

it ol ok g1 e e ¥

Statement ; W%

Should hand baggage on all international

flights be permanently banned?

v mi srtee TR J we ¥ & o nnd = W

% w9 W wifen?

mmtl FALL S
No, it causes a lot of inconvenience gince
items= of minimum requirement nead tn
Le careied ducing long- hau! Qights.
o, wt ey g Wt & vl s gh W T
o =pren e o) oFF o wd g ¥

1 Yes, it is necessury to ensure security of

ra on hoard,

o, urm wr ok wfen o won sffefre wed o fo
w sewraw b

Statement ;| 9

Should there be a campicte ban on bursting

crackers Including flreworks Barring a few
accasions in our country’
v et € 0 Ks v 90 wowr arfyenest wine
W e W PE e e
Ammnu [ s
Na, prople should be allowed to enjoy an
all oceagions accordzng to. their intezesta
and priorities.
), ik T ol sl W e e oo
¥ ST AT =E W) e o e
II. Yes, bursting crackers causes a ot of
sound and sir pollution which is
hazardous to health,
. waed wemd @ wgn s el ol e e
o & W ey ¥ e wrres B
Statement | ¥w4:
Should the women be advised not to travel
alone at night ln view of the increasing
ncidences of rape and sexunl abuse?
wn werert st iy ety W el g qoeet o
s ufpes w1 o A s Sre Wi w T w weme
et wfyu?
Arguments / 0%,
I No, instead the Government should take
measures to control such incidences.
o, peew et e Wt el el wh Feafe
7 % T w1 wiem

ssctomont oocd Acgument | e ol
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Il. Yes, it is difficult even for the police
department to cantrol such cases.
o, gt fren o ot oxft wonul v femen
vy gfren
Statement / %W
Shauld the current practice of presenting
budger be changed?
WO WAL e weh ws ke efiwa e fra e wilen?
Argnnentn /ol
Yes, we are carrying It since pre-
[ndependence era.
e mmm ¥ g A w b
II. No; the present practice of presenting
budget is citizen-friendly,
oY, Wz vepe wd w by iy shwesen §)
Statement / ¥Ws:
Should the number of holidays given 1o Govt
employees be reduced toonly five in o year?.
W mrwil wawien w1 fon wE e et o s
W) WEET P | e i W b ey

f{Argmnentl |

Yes, such holidays subsequently reduce
working hours, thus adversely affpoting
the economy of the nation.

w0 W e R 9 W e
w1 § obr pewem A o) anisewen T sl
v wen &

1. No, employees require intermittent rest
fram hectic work schedule.

. w1 e ferest ® T W

from w arrrrew B #)

Statement | WWW,

Should cricke: replace hockey ga the

national sport of India?

w7 fowz % v ¥ oy e E e F et ) Pty

w1 o i/

Argunuta IR
Yes, the performance of the hockey team
lias been dismal for the fast fow years.
v, o 5w v ot Bn W gv Beeeey
mh

I, No, ¢ricket is the national sport of
Australia and no two countrics must
have the sxme national vport.
a Feer afsine = i g # i o 2
w1 ow B oy e Pl v w8 e
#
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Statement [ w4,

Should there be only two palitical parties in

India?

= owy # W 0 ety o e wie

At‘uuau [ o
Yes, inmany developed countries there
arc-only two political parties.
ﬂ.vim-'mﬂr;dmmh

Il No, Indian electorate is not mature to
select between only two political parties.
91, Wl meey o T o ¥ @ o
wid ¥ o wfreen aet

Statement | %9a;

Can educetion be ensured as a fundamental

right without tackling the problem of child

labour in India?

e § ey w1 T wy wes fey fer S

w1 ow e s € =y o gl e e wwm

%

Argluunh [ o
Yog, the ront couse of child Iabour les in
the problem of depriving the chiid of
eduvation,
w1 W e s e v B ol W
o ffer b

1. Mo, the yoot causes which make a ehiid
deprived of educatipn are the compulsion
of ity family and the circumstances
which force a child to resort to child

WY, gy e o wed w) Fe o offen o
£, ovw wftmed o fewwm it A wetesdest £, W
0% WOR ¥T WA % qEn o R fe ferr
L 3]
Statement / $95;
Should ordnance factanes be open to private
seLtor?
T s werepd w3 Pt oy o e iy e e vefe?
Amh L
Yes, oll the supsrpowers in the warld
have done this.
xl, Swvn v e woyferd € T Sem
I, Ko, privatisation will lead us to the kge of
thraldom and elavery,
i e ot waew o sl o 90 | o e

Statement | ®99;

Should there be a ban on ultrasound checkup
to detect the gender of the child in the womb?
v ol e W vl W o St ot

WA s ur sl e wfien?

1

14,
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s el
Arguments / ¥
1. Yes, it will hamper the sex mtio.

o, uy fere WY war g
1. Na, this will suppress the freedom of the

human beings.

f}, ur Wee W ¥ vt w1 oNy w5
Statement / A '
Should there be a ban for the second term of
presidency?
= iy ¥ na wekEm w sfrew e vy
Ar;mt' / !#

Yes, new persona must be given chances.

ol ww v ) o arvn see fey s
II. No, we should never make any changes

in the Constitution made by foréfathers.

26 it wh o = T v 8 ok oy

wre e
Statement | ¥
Should women be given egual opportunity in
matier of employment in every feld?

PO PR W e & et o st W e
apeey fre oy i ?

Arguments [ o

L Yes, they are equally capable,

of. % o opeowy & e 8
I, No, they have to shoulder household

tesponstb:‘mcs Lo,

o sttt @ Forlt vk )

Statement | "Wy,
Should sensocity be the only critecion for the
promotion?
el e e ft oy e o wfen?
lii Lo il'ivﬂ'
L No. All the sentor employees sce not

interested in promotion,

o, st wives ety = o v o s By
IL. ¥es, Otherwise senjor employees feel

humiiiated,

vl arma afray wbely serafye wegs wion
Statoment / HUA;

Should there be 2 ban on using mobitle
phaones while driving vehicles?

W e WY S ENTe e gt won wiy
e wigs?

Amtl e

Nao. This will affeet the basic purpose of

keeping a mobile phone

AT, we e S od o g e s wafan

wm)

1. Yes. Deing two works simultancously
should not be permissible.

¥, wwwe o w5 TR o) siguy o ol wfen

Stotecrent ond Argumern | e el ol
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17.

1B8.

Statement [/ BN

Should India atquire/munufociure the
latest nuclear weapons?

= s W s grar et W St won

wifem
w/“:

Yes, the epemies of India are improving
their weapons continuously.

of vy % 0y vy W efennd 3 S g e
L]
11, No, it will be against our policy of
maintaining world peace.
M uwrmd Mmoo et s e
$ratm o
Statement [ WS
Should anlmuls be killed In the name of
Inboratory experimont?
= gy Jhem  wert v W own e wieg)
Amu [ e
!‘e:, they are avarlablie in abundance.
R R R TR
Il. Ko, we hayve heen sugporting non-
violence on every step of pur lives,
7. ¥n i3 & uns mg T s v iy
w7 s=m
Statement [ ¥93:
Should the prestigious people be met with
special treatment by law if they have
commitred crime unkmwinyly?
we, o vk wfnfen wfe o sopee® @ oy
wom & g wa s W P s v i)
Arznmu [ oy
Yea, because the prestigicus pecple do
ot cammit erime (ntentionally,
o, vty sfafem wfwm on fewm mo awow
s fem v = wim &
1. No. it is our policy that everybody s equal
before the law.
9, o G § fx wrpy o e ol w8y
Statement /| T
Should India become a permanent member of
UN% Security Council?
v e % e g v ffeey et v
WA e wiry

Arguments / 9%
I, Yes, India has emerged as a couniey
which loves peace and amity,

ssctomont oocd Acgument | WWe ol
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ol vore ow o 0 wew o e an R e
sfre firwm e wow

fl. N, iet us first solve problems of cur own
people like poverty, malnutrition,
Wk wod v sl wnema - ni on W
w1 W e i

Stutement / w1

Should the parents of thoese children who do

not send their wards to school be lined?

w0, 0 wonl W - fom E W 3 feser of 2

veor ¥, fen wrw wifv)

Arguments / %% :

1 Yes, this is the only way to emdicate illitecacy.
ol un Pargrm e o o uey el B

1. No, why shauld the parents be fined?
= won-fam W = ey wrn wfm?

Statement / MY

Should there be n total ban on all tobarco

preducis in India?:

o oy e ot sred w9 e rpy 8 i wfi?

'A.rguunts | R

Na, this will render a large number of
peaple jobiess,
74, T v wft wm @ Snwme @ o
Il. No, the gavernment will lese huge
amount of money as it will not carn by
wauy of taxes on these products.
9 ke v Wl o o vda v o e 13 Tt
TS AW 4wl wvd &
Statement /| W9
Should there be anly ane rate of interest for
term deposits of varying durations in banks?
v Pefey spefendt o) mefy S amnd o fors
o =R Tt e iy
Arguuau /e
No, poople will refrain from keeping
money for longer duration resulting into
recuction of liguidity leved of banks.
Wit wite reirfr o form s et o vl vt abe
ey, 97 97 o9 (Ligulding o2 ¥ T
1. Yes, this will he much simple for the
comman peaple and they may he
encouraged to keep more money in banks
of we s v fhm o e e ol e
o e us oot ® e o4 W ey
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Statement [ ®WH:

Should there be a cap on maximum number

of contestants for parlixmentary elections in

any constituency?

win Pl fovtn o o wadie vpem € B efrowd

=1 sfues tom € w9 3 W v i 09 wfen?

Arguments / 7,

L. Yeu, thiv will make the parfiumentary
clections more meaningful as the voters
can make a consldered judgement for
casting their voie
ol ga wvty o fveE svigd v s W
st wie o ¥ wa o gfvarftr fely oy

II. No, in a demostacy any person [ifilling
the eligibility criteria cam contest
parlinmentary glections apd there shoukd
be no such restnictions.

W, Twers & wrem weey qF W Wt o
wifopr st s vy wreen # abe e v gimew
T e o)

Statement /| wWI:

Should Indian government ban printed books
and start using e-boaks in schoals and 2alleges?

e e v o gt feed o fie am o

wiftr o Frgerst wg wie @ { e W e g

= = wity?

Ammu/w
Yex, This will help ptuwot trees which
nre recklessly lelled to make papera
ol we gl aran wrd O e ey o fe
wrR W % fore syt s ww omy £

1I. No, It will require a huge investment as
every student will need electronic devlcea
to sead e-books and this i3 not possible
for n prar country ke Indin.
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et id

Tt g e ww g e E) sprswe et
s {-femt &1 A ¥ fog ode fend W
vy wat W e v sbe we vory d wibe
o ¥ g sey i )

24, Statement ;| ®uH:

25

Should government directly buy crop from the

farmers fram acroas India?

W gy W e s A fenre W s v i

wirn?

Argmuts /=
Yeu, Farmers' exploitation by middliemen
traders could be stopped,
o, vt w2 fydifens sofes) # gm fews W
wiem e W wwn b

1. No, People would lose their opportunities
of getting help from such peopie in time
of need,
Wil i wemy o e v W e Wl
1 sovsr ut ¥

Statement | Wy

CShould education ministey start board

exeminstion (rom Class VI onwards?

w0 ot =res ) W VI 6 seh e el sory

Wi wdyn?

Arguments / ™¥;

I Yes, Thon only well-gualified atudents
will take admission in colleges.

o, pw Wt Wown s ve Sy o} wferar o
10 kbt (] _

1. No, Stdents wiil get time to participate
in other curricular activities and they
will not feal stress,
oA, Syt ) g nieiafod o s e mr
fasem st o wam wemw e wO

Stoierent ood Argument | W el



